
 

  

F–4553   

B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 
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Corporate Secretaryship 

CORPORATE ACCOUNTING – II 
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Time : Three Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all the questions. 

1. Give the reasons for winding up of the company. 

 {Ö©® •ØÖ¨ ö£Öu¼ß Põμn® TÖP. 

2. Who is contributory? 

 {Ö©® •ØÖ¨ ö£Öu¼ß ÷£õx Phß wº¨¦¨ £[SU 
Ph¨£õmhõÍº ¯õº? 

3. Explain the classification of subsidiary company. 

 xøn {Ö©zvß ¤›ÄPøÍ ÂÁ›. 

4. What are the advantages of holding company? 

¤i¨¦ {Ö©zvß |ßø©PÒ ¯õx? 

5. What is social insurance? 

 \•uõ¯U Põ¨¥k GßÓõÀ GßÚ? 

6. What are the objectives of preparing accounts of the 
insurance companies? 

Põ¨¥k {Ö©zvß PnUSPøÍz u¯õ›¨£uß ÷|õUP® ¯õx? 
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7. Explain the term non-banking assets. 

 Á[Qa \õμõa ö\õzvøÚ ÂÁ›. 

8. What is contingent liability? 

 Gvº£õμõ {PÌÄ¨ ö£õÖ¨¦ GßÓõÀ GßÚ? 

9. How can the party account in Tally be created through? 

 hõ¼°À Guß ‰»® |£ºPÎß PnUS E¸ÁõUP¨£kQÓx? 

10. What does the P12 key do? 

 P12 \õÂ°ß ö\¯À£õkPÒ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) List the names of persons who may file a petition in 
the court for the winding up of a company. Explain. 

   J¸  {Ö©zøu {μ¢uμ©õPU Pø»UP, }v©ßÓzvÀ 
ÁÇUS¨ £vÄa ö\´²® |£ºPÒ ¯õöμßÖ Â›ÁõP 
ÂÁ›. 

Or 

 (b) From the following details, prepare liquidator’s final 
statement of account. 

 Rs.  

Cash at bank 1,00,000

Surplus from securities 10,10,000

Expenses of liquidation 30,000

Liquidator's remuneration 7,000

Preferential creditors 2,00,000

Unsecured creditors 7,00,000

Preference shareholders 1,00,000

Equity shareholders        1,00,000
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   RÌPõq® ÂÁμ[PøÍU öPõsk, Phß wº¨£õÍ›ß 
CÖv {ø»U PnUPÔUøPø¯z u¯õº ö\´P. 

 ¹.  

Á[Q öμõUP® 1,00,000
•u½k ‰»® E£› 10,10,000
 {Ö©U Pø»¨¦a ö\»Ä 30,000
Phß wº¨£õÍ›ß Fv¯® 7,000
•ßÝ›ø©U PhÜ¢÷uõº 2,00,000
¤øÚ²›ø©°À»õU PhÜ¢÷uõº 7,00,000
•ßÝ›ø©¨ £[SuõμºPÒ 1,00,000
\õuõμn¨ £[SuõμºPÒ 1,00,000

12. (a) Explain the legal requirements relating to 
presentation of accounts. 

   {Ö©zvß PnUSSøÍa \©º¨¤UPa \mh¨£i¯õÚ 
÷uøÁPøÍ ÂÁ›. 

Or 

 (b) From the following balance sheets of Holding 
company and Subsidiary company, prepare a 
consolidated balance sheet of holding company and 
its subsidiary company.  

Balance sheet as on 31 March 2004 
Holding 

(Rs) 
 Subsidiary 

(Rs) 
Holding 

(Rs) 
Subsidiary 

(Rs) Liabilities 
   

Assets 
  

Share 
capital in 
shares of 
Rs.10 
each 

20,00,000 10,00,000 Sundry 
assets 

25,00,000 12,00,000

Sundry 
liabilities 

15,00,000 2,00,000 Investments:
1,00,000 
shares of 
Rs.10 each 
of 
Subsidiary 
Co. 

10,00,000 -- 

 35,00,000 12,00,000  35,00,000 12,00,000
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   RÌUPõq® ¤i¨¦ {Ö©® ©ØÖ® xøn {Ö©zvß 
C¸¨¦ {ø»U SÔ¨¤øÚU öPõsk, 
JßÔønUP¨£mh C¸¨¦ {ø»U SÔ¨¤øÚz u¯õº 
ö\´P. 

31 ©õºa 2004® |õÍßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ 
¤i¨¦ 
{Ö©® 

 xøn 
{Ö©® 

¤i¨¦ 
{Ö©® 

xøn 
{Ö©® ö£õÖ¨¦PÒ 

(¹.)  (¹.) 
ö\õzxPÒ

(¹.) (¹.) 

¹.10 Ãu® 
£[S •uÀ 

20,00,000 10,00,000 Cuμa 
ö\õzxUP
Ò 

25,00,000 12,00,000

Cuμ 
ö£õÖ¨¦PÒ 

15,00,000 2,00,000 •u½kPÒ:
xøn 
{Ö©zvß 
1,00,000 
£[SPÒ 
¹.10 Ãu®

10,00,000 -- 

 35,00,000 12,00,000  35,00,000 12,00,000

13. (a) What is claim? In which categories, are claims 
classified? Explain. 

   E›ø©U÷PõμÀ GßÓõÀ GßÚ? Guß Ai¨£øh°À 
¤›UP¨£kQßÓÚ Gß£øu ÂÍUS. 

Or 
 (b) The Life Assurance Fund of Sun Life Assurance 

Company Ltd., shows a balance of Rs.38,43,750 on 
31 March 2015. It was later observed that the 
following had not been taken into account: 

  (i) Dividend from investment Rs.1,75,000. 
         (ii)  Income tax on the above Rs.16,000. 
          (iii)  Bonus utilized in reduction of premium  

Rs.2,42,500. 
          (iv)  Claims covered under reinsurance  

Rs.1,62,500. 
          (v)  Claims intimated but not yet admitted by the 

company Rs.4,03,500. 
     Ascertain the balance of Life Assurance Fund as 

from the above information. 
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   \ß ÁõÌ|õÒ Põ¨¥mk {Ö©zvß 31 ©õºa 2015 ® 
|õøÍ ÁõÌ|õÒ Põ¨¦Öv {v C¸¨¦ ¹.38,43,750ø¯U 
Põmi¯x. PnUSPøÍa \› ö\´²® ÷£õx, RÌUPsh 
ÂÁμ[PÒ PnUQÀ öPõsk Áμ¨£hÂÀø» GÚU 
PshÔ¯¨£kQÓx. 

   (A) •u½miß «uõÚ¨ £[Põuõ¯® ¹.1,75,000 

  (B) ÷©ØTÔ¯ÁØÔß «uõÚ Á¸©õÚ Á› ¹.16,000 

  (C) •øÚ©® SøÓ¨¦US £¯ß£kzu¨£mh 
ªøP³v¯® ¹.2,42,500 

  (D) ©ÖU Põ¨¥miß RÌ £õxPõUP¨£mh E›ø©U 
÷PõμÀ ¹.1,62,500 

  (E) AÔÂUP¨£mh BÚõÀ  Põ¨¥mk {Ö©zuõÀ 
AÝ©vUPõu E›ø©U ÷PõμÀ ¹.4,03,500 

  ÷©ØTÔ¯ ÂÁμ[PøÍU PnUQÀ öPõsk ÁõÌ|õÒ 
Põ¨¦Öv {v C¸¨¤øÚU PshÔP. 

14. (a) What are the contents of Schedule 8 of investments 
in the banking company accounts? 

   Á[Qz öuõÈÀ PnUQÀ •u½miøÚU SÔUS® 
AmhÁøn 8À EÒÍ ÂÁμ[PøÍ Á›ø\¨£kzxP. 

Or 

 (b) From the following details of interest on advances of 
a  Commercial Bank as on 31 March 2009, find out 
the income to be recognized for the year ended 31 
March 2009. 

Details Interest earned 
(Rs. in lakhs) 

Interest received 
(Rs. in Lakhs) 

Performing assets:   

  Term loan 240 160 

  Cash credit and overdraft 1500 1240 

  Bills purchased and discounted 300 300 

Non-Performing assets:   

  Term loan 150 10 

  Cash credit and overdraft 300 24 

  Bills purchased and discounted 200 40 
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   J¸ ÁoP Á[Q°ß 31 ©õºa 2009® |õÍßøÓ¯U 
RÌUPõq® •ßÜk «uõÚ Ámiø¯U öPõsk, 
AÆÁ[Q°ß Á¸©õÚzøu CÚ® PõsP. 

ÂÁμ® Dmi¯ Ámi 
 (¹. »m\zvÀ)

ö£ØÓ Ámi 
(¹. »m\zvÀ)

ö\¯Ø£k® ö\õzxUPÒ:   

SÔzuU Põ»UPhß 240 160 

öμõUPU Phß ©ØÖ® 
÷©ÀÁøÓ¨£ØÖ 

1500 1240 

©õØÖa ^mkU öPõÒ•uÀ ©ØÖ® 
Ámh® ö\´ux 

300 300 

ö\¯Ø£hõa ö\õzxUPÒ:   

SÔzuU Põ»U Phß 150 10 

öμõUPU Phß ©ØÖ® 
÷©ÀÁøÓ¨£ØÖ 

300 24 

©õØÖa ^mkU öPõÒ•uÀ ©ØÖ® 
Ámh® ö\´ux 

200 40 

15. (a) Explain in detail the split company data. 

   {ÖÁÚzvß Em¤›Ä ÂÁμ[PøÍ Â›ÁõP ÂÍUS. 

   ]ÖSÔ¨¦ ÁøμP 

Or 

 (b) Write a note on; 
        (i)  F4 Contra 
        (ii)  F5 Payment 
        (iii)  F6 Receipt 
       (iv)  F7 Journal 

  ]ÖSÔ¨¦ ÁøμP. 
  (i)  F4 Gvº¨£u® 
        (ii)  F5 ö\¾zxuÀPÒ 
        (iii)  F6 ö£ÖuÀPÒ 
       (iv)  F7 SÔ¨÷£k 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Give the format of Revenue Account of the Life Insurance 
Business. 

  ÁõÌ|õÒ Põ¨¥mk {ÖÁÚzvß Á¸Áõ´ PnUQß ©õv› 
ÁiÁ® u¸P. 

17. The Ultra Company went into liquidation. Its assets 
realized Rs. 3,50,000 excluding amount realized by sale of 
securities held by the secured creditors. Prepare 
liquidator's final statement of account. 

Details Rs. 
Share capital:1,000 shares of Rs.100 each 1,00,000
Secured creditors (Securites realized Rs.40,000) 35,000
Preferential creditors 6,000
Unsecured creditors 1,40,000
Debentures having floating charge 2,50,000
Liquidation expenses 5,000
Liquidator’s remuneration 7,5000

AÀmμõ Áøμ¯Ö {Ö©® ö|õi¨¦ {ø»¯øh¢ux. Auß 
ö\õzxPøÍ ÂØÖ ö£ØÓz öuõøP ¹.3,50,000 
¤øn²›ø©U PhÜ¢÷uõ›h•ÒÍ •u½møh ÂØÖ¨ 
ö£ØÓz öuõøP }[P»õP. Phß wº¨£õÍ›ß CÖvU PnUS¨ 
£mi¯ø»z u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

£[S •uÀ: 1,000 £[SPÒ ¹.100 Ãu® 1,00,000
¤øn²›ø©U PhÜ¢÷uõº (•u½kPÒ 
ÂØÓx ¹.40,000) 

35,000

•ßÝ›ø©U PhÜ¢÷uõº 6,000
¤øn²›ø©°À»õU PhÜ¢÷uõº 1,40,000
©õÖ® C¯À¦ Âø»²ÒÍU PhÜ¢÷uõº 2,50,000
ö|õj¨¦a ö\»ÄPÒ 5,000
Phß wº¨£õÍ›ß \®£Í® 7,5000
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18. From the following balance sheets of A Ltd and B Ltd, 
prepare a consolidated balance sheet. 

Balance sheet as on 31 March 2004. 
A Ltd.  B Ltd. A Ltd. B Ltd.

Liabilities 
(Rs.)   (Rs.) 

Assets 
(Rs.) (Rs.) 

Share 
capital: 

   Sundry 
assets 

22,000 14,000

Re 1 each 
fully paid 

15,000  6,000  

Reserves 3,000  2,000 Investments: 
6,000 shares 
in B Ltd. 

10,000 --- 

Profit and 
Loss A/c 

2,000  1,000   

Sundry 
creditors 

12,000  5,000   

 32,000  14,000  32,000 14,000

 RÌUPõq®   ¼ªöhm ©ØÖ® ¼ªömiß C¸¨¦ {ø»U 

SÔ¨¤øÚU öPõsk JßÔønUP¨£mh C¸¨¦ {ø»U 

SÔ¨¤øÚz u¯õº ö\´P. 

31 ©õºa 2004® |õÍßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ 

A ¼m  B ¼m. A ¼m. B ¼m.
ö£õÖ¨¦PÒ 

(¹.)  (¹.) 
ö\õzxUPÒ

(¹.) (¹.) 
£[S •uÀ 
¹.1 Ãu® 

15,000 6,000 Cuμa 
ö\õzxUPÒ

22,000 14,000

    
Põ¨¦ {v 3,000 2,000 •u½kPÒ: 

B 
¼ªöhmiÀ
À 6,000 
£[SPÒ 

10,000 --- 

»õ£–|mhU 
PnUS 

2,000 1,000   

£Ø£»U 
PhÜ¢÷uõº 

12,000 5,000   

 32,000 14,000  32,000 14,000
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19. From the following particulars of New Bank Ltd., prepare 
a Profit and Loss Account for the year ended 31st March 
2010.           

Details In (‘000) 

Interest on loan 250

Interest on savings account 150

Interest on cash credit 160

Interest on fixed deposit 190

Interest on overdraft 70

Payment on employees 150

Discount on bills discounted 40

Rent, taxes, insurance 5

Commission, exchange and brokerage 15

Audit fees 10

Director’s fees 20

 RÌUPõq® ÂÁμ[PÎ¼¸¢x {² Á[Q ¼ªöhmiß 31 

©õºa 2010 ® |õÍßøÓ¯ »õ£–|mhU PnUSz u¯õº ö\´P. 

ÂÁμ[PÒ  ¹. (‘000) 

Phß «x Ámi 250

]Ö÷\ª¨¦ «x Ámi 150

öμõUPUPhß «x Ámi 160

{ø» øÁ¨¤ß «x Ámi 190

÷©ÀÁøμ¨£ØÖ «x Ámi 70

£o¯õÍºPÐUPõÚa ö\¾zxuÀ 150

©õØÖa ^mk Ámh® ö\´ux 40

ÁõhøP, Á›, Põ¨¥k 5

PÈÄ, £›©õØÓ®, ©ØÖ® uμSU T¼ 15

uoUøPa ö\»ÄPÒ 10

C¯US|›ß Fv¯® 20
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20. Find the groups of following ledgers in Tally. 

No. Name of the ledgers Groups 

1 Ram’s capital 

2 Petty cash 

3 Wages 

4 Salaries 

5 Rent collected 

6 Advocates fees 

7 Drawings account 

8 Carriage inwards 

9 Office equipment 

10 Wealth tax 

 RÌUPsh¨ ÷£÷μmkU PnUSPÐUS hõ¼°ß CønU 
SÊÂøÚU TÖP. 

Gs ÷£÷μmkU PnUSPÒ CønUSÊ 

1 Cμõªß •uÀ 

2 ]À»øμ öμõUP® 

3 T¼ 

4 \®£Í® 

5 Á`¼zu ÁõhøP 

6 ÁÇUSøμ|º Fv¯® 

7 Gk¨¦U PnUS 

8 EÒyUSU T¼ 

9 A¾Á»P C¯¢vμ® 

10 ö\õzx Á› 

  

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Management Accounting. 

 Áøμ¯Ö ÷©»õsø© PnUQ¯À. 

2. Write a short note on trend analysis. 

 ÷£õUS £S¨£õ´Ä ]Ö SÔ¨¦ ÁøμP. 

3. What is Ratio? 

 ÂQu® GßÓõÀ GßÚ? 

4. Explain the term Ratio analysis. 

 ÂQu® £S¨£õ´Ä GßÓ ö\õÀø» ÂÍUSP. 

5. What do you understand by the term Fund? 

 Põ»•øÓ {v Gß£uøÚ }Âº ¦›¢x öPõshx GßÚ? 

Sub. Code 
7BCS6C2 
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6. Is the preparation of cash flow statement mandatory? 

 öμõUP Kmh AÔUøP u¯õ›¨£x \mh£i¯õÚuõ? 

7. What is Marginal cost? 

 CÖv {ø» ö\»Ä GßÓõÀ GßÚ? 

8. Write briefly about Cost Volume Profit analysis. 

 ö\»Ä ©v¨¦ C»õ£® £S¨£õ´Ä Gß£uøÚ _¸UP©õP 

TÖP. 

9. Define the term Capital budgeting. 

 ‰»uÚ ÁμÄ ö\»Ä vmh® GßÓ ö\õÀø» Áøμ¯Ö. 

10. What are the objectives of the capital budgeting? 

 ‰»uÚ ÁμÄ ö\»Ä vmhzvß ÷|õUP[PÒ ¯õøÁ? 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) What are the advantages and Limitations of 

Management accounting? 

  ÷©»õsø© PnUQ¯À |ßø©PÒ ©ØÖ® 

SøÓ¨£õkPÒ ¯õøÁ? 

Or 

 (b) What are the Limitations of financial statements? 

  {v AÔUøP°À EÒÍ SøÓ¨£õkPÒ ¯õøÁ? 
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12. (a) From the Trading account Calculate  

  (i) Gross Profit Ration 

  (ii) Stock Turnover Ratio. 
 Rs.  Rs. 

To Opening stock  10,000 By Sales  56,000 

To Purchase  35,000 By Closing stock  10,000 

To Wages  900   

To Gross profit  20,100   

 66,000  66,000 

  Â¯õ£õμU PnUQ°¼¸¢x RÌPsh ÂQuzøu 
PnUQkP. 

  (i) ö©õzu C»õ£ ÂQu® 

  (ii) \μUS Á¸Áõ´ ÂQu®. 
 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ 10,000 ÂØ£øÚ 56,000 
öPõÒ•uÀ 35,000 CÖv \μUQ¸¨¦ 10,000 
T¼ 900   
ö©õzu C»õ£® 20,100   
 66,000  66,000 

Or 

 (b) From the Following Profit and Loss account 
calculates : 

  (i) Net Profit Ratio 

  (ii) Administrative Expenses. 
 Rs.  Rs. 

To Administrative expenses  16,000 By Gross profit  25,000 
To Selling expenses  3,000   
To Finance Expenses  1,000   
To Net profit  5,000   
 25,000  25,000 
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  C»õ£ |mhU PnUQ°¼¸¢x RÌPsh ÂQuzøu 

PnUQkP : 

  (i) {Pμ C»õ£ ÂQu®  

  (ii) {ºÁõP ö\»Ä ÂQu® 

 ¹.  ¹. 

{ºÁõP ö\»ÄPÒ 16,000 ö©õzu C»õ£® 25,000 

ÂØ£øÚ ö\»ÄPÒ 3,000   

{v ö\»ÄPÒ 1,000   

{Pμ C»õ£® 5,000   

 25,000  25,000 

13. (a) From the Following P and L Account calculate 

Funds From Operations 

 Rs.  Rs. 

To Rent 35,000 By Gross profit  9,86,000 

To Depreciation  3,000   

To Share discount  10,000   

To Goodwill  5,000   

To Preliminary expenses  6,000   

To Net profit  9,27,000   

 9,86,000  9,86,000 
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  ¤ßÁ¸® C»õ£ |mhU PnUQ¼¸¢x {v Kmh 
AÔUøPø¯ u¯õ›UP.  

 ¹.  ¹. 

ÁõhøP 35,000 ö©õzu C»õ£® 9,86,000 

÷u´©õÚ® 3,000   

£[S uÒÐ£i 10,000   

|Øö£¯º 5,000   

•u¼Ú ö\»ÄPÒ 6,000   

{Pμ C»õ£® 9,27,000   

 9,86,000  9,86,000 

Or 

 (b) Calculate cash flow form operating activities : 
 Rs. 

Total sales for the year  10,00,000 
Total purchases for the year  6,50,000 
Commission received during the year  10,000 
Office expenses for the year 15,000 
Administrative expenses for the year  20,000 
Income tax paid during the year  12,000 

  öμõUP KmhzøuU PnUQkP : 

 ¹. 

C¢u Bsiß ö©õzu ÂØ£øÚ 10,00,000 

C¢u Bsiß ö©õzu öPõÒ•uÀ 6,50,000 

C¢u BsiÀ ö£ØÓ PÈÄ 10,000 

A¾Á»P ö\»ÄPÒ 15,000 

{ºÁõP ö\»ÄPÒ 20,000 

Á¸©õÚ Á› ö\¾zv¯x 12,000 
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14. (a) Calculate BEP (units) and BEP (in Rupees) from 
the following data Fixed Cost Rs. 3,00,000: Variable 
Cost Per unit Rs. 20: Selling Price per unit - Rs. 30 

  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x ¤C¤ (A»S) ©ØÖ® 
¤C¤ (¹£õ°À) PnUQkP. {ø» ö\»Ä ¹. 
3,00,000, ©õÖ£k® ö\»Ä J¸ A»S ¹. 20 
ÂØ£øÚ Âø» J¸ A»S ¹. 30. 

Or 

 (b) From the following information calculate ; 

  (i) BEP 

  (ii) Sales required to earn a profit of Rs. 10,000 
Sales Rs. 30,000: Variable Expenses  
Rs. 14,000: Fixed expenses Rs. 13,000. 

  ¤ßÁ¸® uPÁÀPøÍU öPõsk PnUQkP : 

  (i) ¤C¤ 

  (ii) ¹. 10,000 C»õ£® \®£õvUP ÷uøÁ¯õÚ 

ÂØ£øÚ ¹. 30,000: ©õÖ£k® ö\»ÄPÒ  
¹. 14,000. {ø» ö\»ÄPÒ ¹. 13,000. 

15. (a) Determine the pay-back period for a project which 
requires a cash outlay of Rs. 20,000 and generates 
cash inflows of Rs. 6,000, Rs. 8,000, Rs. 6,000 and 
Rs. 10,000 in the first, Second, third, and Fourth 
year respectively. 

  ¹. 20,000 £n JxURk ÷uøÁ¨£k® ©ØÖ® •uÀ, 
Cμshõ®, ‰ßÓõÁx ©ØÖ® |õßPõ® BsiÀ 
•øÓ÷¯ ¹. 6,000, ¹. 8,000, ¹. 6,000 ©ØÖ® ¹. 
10,000 £n ÁμÄPøÍ E¸ÁõUS® J¸ vmhzvØPõÚ 
v¸¨¤a ö\¾zx® Põ»zøu wº©õÛUPÄ®.  

Or 
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 (b) Determine the ARR form the following data : 
Cost of machine Rs. 1,00,000 

Net profit for 1st year  13,000 

2nd year  15,000 

3rd year  11,000 

4th year  19,000 

5th year  17,000 

  ¤ßÁ¸® uPÁÀPøÍU öPõsk HBºBº 
wº©õÛUPÄ®. 
C¯¢vμzvß AhUP Âø» ¹. 1,00,000 

{Pμ C»õ£® 1B® Bsk 13,000 
2 B® Bsk 15,000 
3 B® Bsk 11,000 
4 B® Bsk 19,000 
5 B® Bsk 17,000 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Distinguish between Financial accounting and 
management accounting.  

 {v PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À 
BQ¯ÁØÔ¼¸¢x ÷ÁÖ£k[PÒ 

17. From the following details available prepare a 
summarized Balance sheet of J Ltd, as at 31.12.2016. 

 Rs. 
Current ratio   5 : 2 
Acid test ratio  3 : 2 
Fixed assets to net worth  075 : 1 
Reserve to share capital  1 : 4 
Current liabilities  Rs. 2,00,000 
Cash and bank balance  Rs. 10,000 
Fixed Assets  Rs. 6,00,000 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.12.2016 ÷uv°ß£i  
÷á ¼ªöhmiß _¸UP©õÚ C¸¨¦{ø»U SÔ¨¦ 
u¯õ›UPÄ®. 

      ¹. 

|h¨¦ ÂQu® 5 : 2 

Aª» ÂQu® 3 : 2 

{Pμ ©v¨¦US {ø»¯õÚ ö\õzxUPÒ 075 : 1 

£[S ‰»uÚzvØS Põ¨¦ {v  1 : 4 

|h¨¦ ö£õÖ¨¦PÒ ¹. 2,00,000 

öμõUP® ©ØÖ® Á[Q°¸¨¦ ¹. 10,000 

{ø»a ö\õzxUPÒ ¹. 6,00,000 

18. From the following information relating to A Ltd. Prepare 
funds flow statement. 

Liabilities  2013  2014 Assets  2013  2014 

 Rs.  Rs.  Rs.  Rs. 

Share capital  3,00,000  4,00,000 Cash  30,000  90,000 

Reserve  1,00,000  50,000 Accounts     

Retain earnings       receivable 1,05,000  1,50,000 

  (P and L A/c) 30,000  60,000 Inventories  1,50,000  1,95,000 

Accounts payable  45,000  1,35,000  Fixed assets  1,90,000  2,10,000 

 4,75,000  6,45,000  4,75,000  6,45,000 

 Additional Information : 

 (a) The Company issued bonus shares for  
Rs. 50,000 and for cash Rs. 50,000 

 (b) Depreciation written off during the year  
Rs. 15,000. 
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 A ¼ªöhm öuõhº£õÚ ¤ßÁ¸® uPÁÀPÎ¼¸¢x {v 
Kmh AÔUøPø¯z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ  2013  2014 ö\õzxUPÒ  2013  2014 

 ¹.  ¹.  ¹.  ¹. 

£[S •uÀ 3,00,000  4,00,000 öμõUP® 30,000  90,000 

Põ¨¦ {v 1,00,000  50,000 ö£ÖÁuØS›¯     

C»õ£ |mhU PnUS 30,000  60,000 ©õØÖa^mk 1,05,000  1,50,000 

ö\¾zxÁuØS›¯     \μUQ¸¨¦  1,50,000  1,95,000 

©õØÖa^mk 45,000  1,35,000  {ø» ö\õzxUPÒ 1,90,000  2,10,000 

 4,75,000  6,45,000  4,75,000  6,45,000 

 TkuÀ uPÁÀ : 

 (A) A¢{ÖÁÚ® ÷£õÚì £[SPÍõP ¹. 50,000 ©ØÖ® 
öμõUP©õP ¹. 50,000 US öÁÎ°mhx 

 (B) ¹. 15,000 GÊu¨£mh ÷u´©õÚ®. 

19. A company has P/V ratio of 40%. By what percentage 
must sales be increased to offset  

 (a) 10% reduction in selling price  

 (b) 20% reduction in selling price. 

 J¸ {ÖÁÚ® ¤/Â ÂQu® 40% BS®. Dk ö\´¯ 
ÂØ£øÚø¯  G¢u \uÃuzuõÀ AvP›UP ÷Ásk®.  

 (A) ÂØ£øÚ Âø»°À 10% SøÓ¨¦  

 (B) ÂØ£øÚ Âø»°À 20% SøÓ¨¦. 
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20. ABC Ltd is to buy one of the following machines : 
 Machine X Machine Y 

Life  5 years  4 years  

Investment outlay  2,00,000 2,00,000 

Income after tax    

Year 1 20,000 40,000 

Year 2 30,000 40,000 

Year 3 80,000 60,000 

Year 4 60,000 80,000 

 Calculate the average rate of return on investment and 
advice on the section of the machine. 

 H¤] ¼ªöhm ¤ßÁ¸® C¯¢vμ[PÎÀ JßøÓ Áõ[P 
EÒÍx. 

 C¯¢vμ® X C¯¢vμ®Y 

B²Ò 5 BskPÒ 4 BskPÒ 

•u¼mk ö\»Ä 2,00,000 2,00,000 
Á›US¨ ¤ß Á¸©õÚ®   

Bsk 1 20,000 40,000 

Bsk 2 30,000 40,000 

Bsk 3 80,000 60,000 

Bsk 4 60,000 80,000 

 \μõ\› PnURmiß £i •u½mi¼¸¢x v¸®£ ö£ÖuÀ 
©ØÖ® C¯¢vμzvß ¤›ÂØS B÷»õ\øÚ u¸P. 

—————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 & 
Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Corporate Secretaryship 

INDUSTRIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Point out the philosophy behind the enactment of labour 
legislations. 

 öuõÈ»õÍº \mh[PÒ E¸ÁõUQ¯uß ¤ßÚõÀ C¸US® 
uzxÁzøuU SÔ¨¤k. 

2. Define “trade union” 

 “öuõÈØ \[P®” Áøμ¯Ö. 

3. Who are certifying surgeons? What are their duties? 

 \õßÓÎUS® ©¸zxÁºPÒ ¯õº? AÁºPÎß Phø©PÒ 
¯õøÁ? 

4. What do you mean by ‘Lock-out’? 

 “PuÁøh¨¦” Gß£uß ö£õ¸Ò GßÚ? 

5. What are the objectives of payment of wages Act 1936? 

 Fv¯ £mkÁõhõ \mh® 1936--&ß ÷|õUP[PÒ ¯õøÁ? 

Sub. Code 
7BCS6C3 
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6. What is the minimum and maximum bonus available to 
an employee? 

 J¸ öuõÈ»õÎUS QøhUS® SøÓ¢u£m\ ©ØÖ® 
AvP£m\ ÷£õÚì SÔ¨¤kP. 

7. Define ‘principal employer’ and immediate employer 
under ESI act 1948. 

 öuõÈ»õÍº Põ¨¦Öva \mh® 1948ß RÌ “•ußø© 
•u»õÎ” ©ØÖ® “EhÚi •u»õÎ” SÔzx Áøμ¯Ö. 

8. State the amount of compensation available to an 
employee in case of death and permanent total 
disablement. 

 CÓ¨¦ ©ØÖ® {μ¢uμ ö©õzu •hUP® CøÁPÎÀ J¸ 
öuõÈ»õÎUS QøhUS® CÇ¨¥k £ØÔ SÔ¨¤kP. 

9. Define ‘Continuous Service’ under the payment of 
Gratuity act 1972. 

 £oUöPõøh \mh® 1972ß RÌ “öuõhºa]¯õÚ ÷\øÁ” 
SÔzx Áøμ¯Ö. 

10. What do you mean by “controlled industry”? 
 “Pmk¨£kzu¨£mh öuõÈØ\õø»” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the provisions regarding ‘welfare’ under the 
factories act 1948. 

  öuõÈØ\õø»PÒ \mh® 1948ß RÌ “|»ß” £ØÔ¯ 
TÖPÒ ÂÁ›UPÄ®. 

Or 

 (b) Discuss the provision’s relating to ‘health’ under the 
factories act 1948. 

  öuõÈØ\õø»PÒ \mh® 1948ß RÌ “B÷μõUQ¯®” 
£ØÔ¯ TÖPøÍ¨ £ØÔ ÂÁõvUPÄ®. 
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12. (a) Write notes on the constitution, power and 
functions of ESI Corporation. 

  öuõÈ»õÍº ©õ{» Põ¨¥mk PÇPzvß Aø©¨¦, 
AvPõμ® ©ØÖ® ö\¯À£õk SÔzx SÔ¨¦ ÁøμP. 

Or 

 (b) What are the objectives of workmen’s compensation 
Act ,1923 and ESI Act 1948? 

  öuõÈ»õÍºPÒ DmkÖva \mh® 1948 ©ØÖ® 
öuõÈ»õÍº Põ¨¦Öva \mh® 1948ß ÷|õUP[PÒ 
¯õøÁ? 

13. (a) State the salient features of minimum wages act 
1948. 

  SøÓ¢u£m\ Fv¯a \mh® 1948ß •UQ¯ 
A®\[PøÍ SÔ¨¤k. 

Or 

 (b) Discuss the provisions relating to new 
establishments under the payment of bonus act 
1965. 

  ÷£õÚì £mkÁõhõa \mh® 1965ß RÌ ¦v¯ 
ìuõ£ÚzvØPõP öPõkUP¨£mkÒÍ TÖPøÍ 
ÂÁõvUPÄ®. 

14. (a) What are the provision relating to nomination 
under the payment of gratuity act 1972. 

  £oUöPõøha \mh® 1972ß RÌ £›¢xøμzuÀ 
SÔzu TÖPÒ ¯õøÁ? 

Or 

 (b) Point out the rules regarding payment and 
forfeiture of gratuity. 

  £oUöPõøh £mkÁõhõ ©ØÖ® £Ô•uÀ SÔzu 
ÂvPøÍU SÔ¨¤kP. 
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15. (a) Define lay-off retrenchment and closure. 
  £o Cøh{Özu®, BmSøÓ¨¦, ‰hÀ CÁØøÓ 

Áøμ¯Ö. 

Or 

 (b) Discuss the procedure for registration of trade 
union. 

  öuõÈØ \[P £vÂØPõÚ ÁÈ•øÓPøÍU SÔzx 
ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the provisions relating to ‘safety’ under the 
factories act 1948. 

 öuõÈØ \õø»PÒ \mh® 1948ß RÌ “£õxPõ¨¦” SÔzx 
ÂÁõvUPÄ®   

17. Analyze the benefits available under the ESI act 1948. 
 öuõÈ»õÍº Põ¨¦Öa \mh® 1948ß RÌ C¸US® £¯ßPÒ 

SÔzx Bμõ´P. 

18. Explain the salient features of payment of gratuity act 
1972. 

 £oUöPõøh \mh® 1972ß •UQ¯ A®\[PøÍ 
ÂÁ›UPÄ®. 

19. Discuss the constitution, powers and functions of 
authorities under the ID act 1947. 

 öuõÈØ uPμõÖPÒ \mh® 1947ß RÌ E¸ÁõUP¨£mh 
AvPõ›PÎß E¸Áø©¨¦, AvPõμ® ©ØÖ® ö\¯À£õkPÒ 
SÔzx ÂÁõvUPÄ®. 

20. Explain the rules relating to determination of bonus. 
 ÷£õÚì {ºn¯® SÔzu ÂvPøÍ ÂÁ›UPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

Sixth Semester 

Corporate Secretaryship 

MODERN BANKING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is banking? 
 Á[Q GßÓõÀ GßÚ? 

2. What is mixed banking? 
 P»¨¦ Á[Q GßÓõÀ GßÚ? 

3. Mention the type of Private Sector Banks in India. 
 C¢v¯õÂÀ uÛ¯õº xøÓ Á[QPÎß ÁøPø¯U 

SÔ¨¤kP. 

4. What is a Cooperative Bank? 
 TmkÓÄ Á[Q GßÓõÀ GßÚ? 

5. What is standard asset? 
 {ø»¯õÚ ö\õzx GßÓõÀ GßÚ? 

6. List down the external factors contributing to NPA. 

 NPA &US £[PÎUS® öÁÎ¨¦Ó PõμoPøÍ £mi¯¼kP. 

Sub. Code 
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7. What is Biometric ATMS? 

 £÷¯õö©m›U HiG® GßÓõÀ GßÚ? 

8. What is Mobile Banking? 

 ö©õø£À Á[Q GßÓõÀ GßÚ? 

9. What is IBPS? 

 IBPS GßÓõÀ GßÚ? 

10. What are the aims of BCSBI?  

 BCSBI &ß ÷|õUP[PÒ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the advantages and disadvantages of unit 
banking.  

   ³Ûm Á[Q°ß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 
ÂÍUSP. 

Or 

 (b) Explain the disadvantages of branch banking. 

   QøÍ Á[Q°ß wø©PøÍ ÂÍUSP. 

12. (a) Explain the selective Credit Control measures taken 
by the Central Bank. 

   ©zv¯ Á[Q GkUS® ÷uº¢öukUP¨£mh Phß 
Pmk¨£õmk |hÁiUøPPøÍ ÂÍUSP. 

Or 

 (b) Explain the principles that guide a banker in 
granting loans and advances.   

   PhßPøÍ ÁÇ[SÁvÀ J¸ Á[Q¯õÍ¸US 
ÁÈPõmk® öPõÒøPPøÍ ÂÍUSP. 



F–4556 

  

  3

13. (a) Discuss the features of Capital adequacy. 

   ‰»uÚ ÷£õx©õÚ Âv•øÓPÎß A®\[PøÍ £ØÔ 
ÂÁõvUP. 

Or 

 (b) Classify early warning signals of NPA and explain 
them. 

   NPA &Bμ®£ Ga\›UøP \ªUøbPøÍ ÁøP¨£kzv 
AÁØøÓ ÂÍUSP. 

14. (a) Explain the advantages of E-cheque. 

   C&Põ÷\õø»°ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) "E-banking involves many constraints" – Discuss.  
   ªß Á[Q £» uøhPøÍ EÒÍhUQ¯x – ÂÁõv. 

15. (a) Explain the KYC process undertaken by banks and 
financial institutions. 

   Á[QPÒ ©ØÖ® {v {ÖÁÚ[PÒ ÷©ØöPõsh KYC 
ö\¯À•øÓø¯ ÂÍUSP. 

Or 

 (b) Explain the recommendation of Golporia Committee 
on service at the Counter. 

   ÷PõÀ£õ›¯õ Pªmi°ß £›¢xøμPøÍ ÂÍUSP.   

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the role of commercial banks in the economic 
development of a country. 

 J¸ |õmiß ö£õ¸Íõuõμ ÁÍºa]ø¯ ÁoP Á[QPÎß 
£[øP ÂÍUSP. 
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17. Explain the functions of Central Bank. 

 ©zv¯ Á[Q°ß ö\¯À£õkPøÍ ÂÍUSP. 

18. Discuss in detail the various areas of customer's 
complaints and narrate the methods of their settlement. 

 ÁõiUøP¯õÍ›ß ¦PõºPÎß £À÷ÁÖ £SvPøÍ Â›ÁõP 
ÂÁõvzx, AÁØÔß wºÄUPõÚ •øÓPøÍ ÂÁ›UPÄ®. 

19. Describe the distinguishing features of debit card and 
credit card. 

 öh¤m Põºk ©ØÖ® Qöμim Põºiß uÛzxÁ©õÚ 
A®\[PøÍ ÂÁ›UPÄ®. 

20. Explain the distinguishing features of NEFT and RTGS.  

 NEFT ©ØÖ® RTGS &ß uÛzxÁ©õÚ A®\[PøÍ 
ÂÍUSP.  

 
———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 &  

  Supplementary/Improvement/Arrear Examinations 
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Elective – FINANCIAL SERVICES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by Financial Services? 

 {va ÷\øÁ GßÓõÀ GßÚ? 

2. List down any Four Fund based activities of a Financial 
Service Company. 

 {va÷\øÁ {ÖÁÚzvß H÷uÝ® |õßS {v 

Ai¨£øh°»õÚ ö\¯À£õkPøÍ £mi¯¼kP. 

3. Define Merchant Banker. 

 ÁoP Á[Q°ß C»UPn® u¸P. 

4. Write note on “Project Councelling”. 

 vmh B÷»õ\øÚ SÔzx J¸ SÔ¨ø£ GÊxP. 

5. What is a mutual fund? 

 £μì£μ {v GßÓõÀ GßÚ? 

Sub. Code 
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6. What is specialised fund? 

 ]Ó¨¦ {v GßÓõÀ GßÚ? 

7. What is factoring? 

 Põμo GßÓõÀ GßÚ? 

8. What is a credit cards? 

 Phß Amøh GßÓõÀ GßÚ? 

9. What is Portpolio Management? 

 ÷£õºmL ÷£õ¼÷¯õ ÷©»õsø© GßÓõÀ GßÚ? 

10. What is Credit rating? 

 Phß ©v¨¥k GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the significant factors in Financial Sector. 

   {v¯À SÔ¨¤huUP PõμoPøÍ ÂÍUSP. 

Or 

 (b) Explain any three new products available in the 
forex market. 

   A¢{¯ ö\»õÁo \¢øu°À QøhUS® H÷uÝ® 
‰ßÖ ¦v¯ ö£õ¸mPÎß u¯õ›¨¦PøÍ ÂÍUSP. 

12. (a) Distinction between a financial lease and operating 
lease. 

   {vUSzuøPUS® ö\¯À£õmk SzuøPUS® EÒÍ 
÷ÁÖ£õmøh TÖP. 

Or 

 (b) Explain the features of hire purchase.  

   ÁõhøP Áõ[PÎß A®\[PøÍ ÂÍUSP. 
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13. (a) Distinguish between a share and mutual fund. 

   £[S ©ØÖ® £μì£μ{vUS® EÒÍ ÷ÁÖ£õmøh TÖP. 
Or 

 (b) What is net asset value? How is it computed? 

   {va ö\õzx GßÓõÀ GßÚ? Cx GÆÁõÖ 
PnUQh¨£kQÓx? 

14. (a) Explain the modus operandi of the factoring 
scheme. 

   Põμo vmhzvß £¯ß•øÓø¯ ÂÍUSP. 

Or 

 (b) Explain various facilities offered to credit card 
holder. 

   Qöμim Põºk øÁzv¸¨£ÁºPÐUS ÁÇ[P¨£k® 
£À÷ÁÖ Á\vPøÍ ÂÍUSP. 

15. (a) Distinguish between a commercial bank and a 
merchant bank. 

   ÁoP Á[Q ©ØÖ® ÁoP Á[QUS® Cøh°»õÚ 
÷ÁÖ£õmøh TÖP. 

Or 

 (b) What are the benefits of credit rating? Explain. 

   Phß ©v¨¥miß |ßø©PÒ ¯õøÁ? ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Define financial service industry and discuss the various 
services rendered by it. 

J¸ {vz xøÓø¯ Áøμ¯Özx Auß ‰»® ÁÇ[P¨£k® 
£À÷ÁÖ ÷\øÁPøÍ £ØÔ ÂÁõvUPÄ®. 

17. Explain the different types of leasing. 

 SzuøP°ß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 
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18. What rights and facilities are available to an investor of a 
mutual fund? What factors should be considered before 
selecting a mutual fund? 

£μì£μ {v°ß •u½mhõÍ¸US GßÚ E›ø©PÒ ©ØÖ® 
Á\vPÒ EÒÍÚ Gß£øu TÖP. AvÀ J¸ {vø¯ 
÷uº¢öuk¨£uØS •ß GßÚ PõμoPøÍ P¸zvÀ öPõÒÍ 
÷Ásk®? 

19. Bring out clearly the various benefits of securitisation. 

 £zvμ©¯©õUPÎß £À÷ÁÖ |ßø©PøÍ öuÎÁõP 
öÁÎ¨£kzxP. 

20. Explain the features of credit cards issued by various 
banks in India.  

C¢v¯õÂß £À÷ÁÖ Á[QPÍõÀ ÁÇ[P¨£mh Phß 
AmøhPÎß A®\[PøÍ ÂÍUSP. 

 

 
———————— 
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B.Com./ B.Com. (CA)/ B.Com. (CS) DEGREE 
EXAMINATION, APRIL 2021 & 

Supplementary/Improvement/Arrear Examinations 

First Semester 

Part I – ÁoPU Piu[PÒ 

(Common for Commerce/Commerce with  
Computer Application/Corporate Secretaryship)  

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 £Sv A  (10  2 = 20) 

AøÚzx ÂÚõUPÐUS® K›¸ Á›PÎÀ Âøh¯ÎUP. 

1. ÁoP Piu® ÁøμÂ»UPn® u¸P. 

2. Piu® GÊu¼ß •UQ¯ ÷|õUP[PÒ ¯õx? 

3. P¸zxøμ Põmk® Piu® GßÓõÀ GßÚ? 

4. ÂÍ®£μ£i ÁøμÂ»UPn® u¸P. 

5. Â\õμøn Gß£x ¯õx? 

6. {¾øÁ öuõøP Gß£x ¯õx? 

7. •PõÁõsø© GßÓõÀ GßÚ? 

8. Â¯õ£õμ _ØÓÔUøP GßÓõÀ GßÚ? 

9. Bsk ö£õxUSÊ Tmh® Gß£x ¯õx? 

10. SÊ AÔUøP Gß£x ¯õx? 

Sub. Code 

7BCO111/ 
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 £Sv B  (5  5 = 25) 

AøÚzx ÂÚõUPÐUS® J¸ £UP AÍÂÀ Âøh u¸P. 

11. (A) ÁoP Piuzvß ÷|õUP[PÒ ¯õøÁ? 

(AÀ»x) 

 (B) Piu® GÊx£Á›ß Phø©PÒ ¯õøÁ? 

12. (A) PhÝUPõÚ PiuzvÀ Ch® ö£¸® ]Ó¨¤¯À¦PÒ 
¯õøÁ? 

(AÀ»x) 

 (B) ÂÍ®£μ£i°ß ]Ó¨¤¯À¦PøÍ _¸UP©õP ÂÁ›. 

13. (A) PnUøP ÷|º ö\´uÀ SÔzx }Âº AÔÁÚ ¯õx? 

(AÀ»x) 

 (B) Â\õμøn°ß ÁøPPÒ ¯õøÁ? 

14. (A) HØÖ©v Piuzvß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

(AÀ»x) 

 (B) Á[Q Piuzvß •UQ¯ ö|Ô•øÓPÒ ¯õøÁ? 

15. (A) wº©õÚ[PÎß £ÀÁøPPøÍ GÊxP.  

(AÀ»x) 

 (B) ¦ÒÎ ÂÁμ SÔ¨¤ß |ßø©PÒ ¯õøÁ? 

 £Sv C  (3  10 = 30) 

H÷uÝ® ‰ßÖ ÂÚõUPÐUSU Pmkøμ ÁiÂÀ Âøh¯ÎUP. 

16. ÁoP Piuzvß ÁøPPøÍ Auß |ßø©PÐhß ÂÍUSP. 

17. {Ö© ö\¯»õÍº £o ÷Ási Âsn¨£ Piu® JßøÓ 
GÊxP. 

18. Âø» ¦ÒÎ JßøÓ u¯õ›UP. 
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19. Aμ_ xøÓ\õº¢u Piuzvß £À÷ÁÖ ÷|õUP[PÒ ¯õx? 

20. C¯US|º AøÁ Tmh {PÌa] SÔ¨¦ JßøÓ u¯õ›UP. 

———————— 
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Part – I : A¾Á»P ÷©»õsø© 

(Common for Commerce/Commerce with Computer 
Application/Corporate Secretaryship) 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 £Sv A (10  2 = 20) 

AøÚzx ÂÚõUPÐUS® Âøh¯ÎUP. 

1. |ÃÚ A¾Á»P® Gß£x ¯õx? 

2. A¾Á»P ©øÚxøn ö£õ¸mPÎÀ H÷uÝ® Cμsiß 
ö£¯›øÚ GÊxP. 

3. Ag\ÀxøÓ Gß£x ¯õx? 

4. Áõ´ö©õÈ uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

5. £v÷ÁkPÒ Gß£x ¯õøÁ? 

6. öuõhº GÊx¨ö£õ¸Ò Gß£x ¯õx? 

7. A¾Á»P C¯¢vμ® Gß£Ú ¯õøÁ? 

8. umha_ GßÓõÀ GßÚ? 

9. AÔUøP GßÓõÀ GßÚ? 

10. _mh APμõv ÁøμÂ»UPn® u¸P. 

Sub. Code 
7BCO211/7BCC211/
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 £Sv B  (5  5 = 25) 

AøÚzx ÂÚõUPÐUS® J¸ £UP AÍÂÀ Âøh¯ÎUP. 

11. (A) A¾Á»P ÷©»õsø©°ß •UQ¯zxÁ[PÒ ¯õøÁ? 

(AÀ»x) 

 (B) £o Áøμ¨£hzvß ÷|õUP[PÒ ¯õøÁ? 

12.  (A) Ag\À xøÓ°ß £oPøÍ _¸UP©õP ÂÁ›. 

(AÀ»x) 

  (B) Áõ´ö©õÈ uPÁÀ öuõhº¤ß SøÓ£õkPÒ ¯õøÁ? 

13.  (A) |ÃÚ A¾Á»Pzvß GÊx¨ £oPÎß ußø©PøÍ 

GÊxP. 

(AÀ»x) 

 (B) £iÁ Pmk£õk SÔzv }Âº AÔÁx ¯õx? 

14.  (A) A¾Á»P C¯¢vμ[PÎß H÷uÝ® I¢x ÷uøÁPøÍ 

GÊxP. 

(AÀ»x) 

 (B) Po¨ö£õÔ°ß £¯ß£õkPÒ ¯õx? 

15.  (A) AÔUøP°ß Aø©¨¦•øÓø¯ _¸UP©õP ÂÁ›. 

(AÀ»x) 

 (B) _mh APμõv°ß ÷|õUP[PÒ ¯õøÁ? 
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 £Sv C  (3  10 = 30) 

GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUSU Pmkøμ  

ÁiÂÀ Âøh¯ÎUP.  

16. |ÃÚ A¾Á»Pzvß AßÓõh |hÁiUøPPøÍ ÂÁ›. 

17. u£õÀPøÍ øP¯õÐu¼ß EÒÍ ¤μa\øÚPøÍ ÂÁõv. 

18. £À÷ÁÖ ÷Põ¨¤mk ÁøPPøÍ ÁøP¨£õkzxP. 

19. A¾Á»P C¯¢vμ[PøÍ ÷uº¢öuk¨£uØPõÚ Ai¨£øh 
÷Põm£õkPÒ ¯õøÁ? 

20. _mh APμõv°ß |ßø©PÒ ¯õøÁ? 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Statistics? 

 ¦ÒÎ°¯À GßÓõÀ GßÚ? 

2. Write a note on tabulation. 

 AmhÁøn¨£kzxuÀ SÔ¨¦ ÁøμP. 

3. What is mode? 

 •Pk GßÓõÀ GßÚ? 

4. Write a note on median. 

 Cøh{ø» SÔ¨¦ ÁøμP. 

5. Define correlation. 

 JmkÓÄU öPÊøÁ Áøμ¯Ö. 

Sub. Code 
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6. What is Questionnaire? 

 ÂÚõzuõÒ GßÓõÀ GßÚ? 

7. Write a note on dispersion? 

 vmhÂ»UP® GßÓõÀ GßÚ? 

8. Write a Fischer index number. 

 L¤å›ß SÔ±mk Gs SÔ¨¦ ÁøμP. 

9. What is probability? 

 {PÌuPÄ GßÓõÀ GßÚ? 

10. What is event? 

 {PÌÄ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the scope of statistics. 

  ¦ÒÎ°¯¼ß ÷|õUP® ÂÁ› 

Or 

 (b) Explain the various methods of collecting primary 
data.  

  •uÀ {ø»¨ ¦ÒÎ Â£μ® ÷\P›US® •øÓPøÍ 
ÂÁ›. 

12. (a) What are the differences between graphs and 
charts? 

  Áøμ£hzvØS® ÂÍUP¨ £hzvØS® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 
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 (b) Calculate harmonic mean. 

X  30-40 40-50 50-60 60-70 70-80 80-90 

F 15 13 8 6 15 7 

  Cø\Äa \μõ\› Psk¤i. 

X  30-40 40-50 50-60 60-70 70-80 80-90 

F 15 13 8 6 15 7 

13. (a) Explain various methods of correlation. 

  JmkÓÄ öPÊøÁ°ß £À÷ÁÖ •øÓPÒ £ØÔ ÂÁ›. 

Or 

 (b) Find standard deviation. 

  14, 22, 9, 15, 20, 12, 17, 11. 

  vmhÂ»UP® PõsP 

  14, 22, 9, 15, 20, 12, 17, 11. 

14. (a) What are the different components of time series? 

  ÷|μ® öuõh›ß öÁÆ÷ÁÖ TÖPÒ ¯õøÁ? 

Or 

 (b) Explain : 

  (i) Secular trend 

  (ii) Interpolation. 

  ÂÁ› : 

  (i) {ø»zu ÷£õUS 

  (ii) Cøha ö\¸PÀ. 
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15. (a) In a class 30% of the students know English, 25% 
know hindi and 10% know both, if a student is 
selected at random what is the probability that he 
has known English or Hindi? 

  J¸ ÁS¨¤À 30% ©õnÁºPÒ B[Q»® 

öu›¢v¸UQÓõºPÒ 25% C¢v ©ØÖ® 10% Cμsøh²® 

AÔ¢v¸UQÓõºPÒ. J¸ ©õnÁº ^μØÓ •øÓ°À 

÷uº¢öukUP¨£mhõÀ B[Q»® AÀ»x C¢vUS AÁº 

AÔ¢v¸¨£uØPõÚ  Áõ´¨¦ GßÚ? 

Or 

 (b) The probability that a card drawn from a pack of  
52 cards will be a diamond or a king is? 

  J¸ Amøh¨ ö£mi°À 52 PõºkPÎÀ C¸¢x J¸ 

Amøh øÁμ® AÀ»x μõáõ C¸US® Gß£uØPõÚ 

{PÌuPÄ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What is sampling? Explain the various methods of 
sampling. 

 TöÓk¨¦ GßÓõÀ GßÚ? £À÷ÁÖ TöÓk¨¦ •øÓPøÍ 

ÂÁ›. 

17. From the following data calculate mean, median and 
mode. 

Marks : 10-20 20-30 30-40 40-50 50-60 60-70

No. of students : 10 12 18 12 14 4 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® •Pk 

PnUQkP. 

©v¨ö£sPÒ 10-20 20-30 30-40 40-50 50-60 60-70

©õnÁºPÎß GsoUøP 10 12 18 12 14 4 

18. Calculate Karl pearson’s coefficient of skewness. 

Wages  5 6 7 8 9 10 11 12 

Workers  25 45 65 100 30 75 40 50 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PõºÀ ¤¯º\Ûß ÷PõmhU 

öPÊÂøÚU PnUQkP. 

T¼PÒ  5 6 7 8 9 10 11 12 

÷Áø»¯õmPÒ  25 45 65 100 30 75 40 50 

19. Fit a straight line trend by the method of least square to 
the following data and calculate trend value. 

Year  2003 2004 2005 2006 2007 

Sales  4 6 7 8 10 

 Estimate the sales for the year 2012. 

 ¤ßÁ¸® ÂÁμ[PÐUS «a]Ö ÁºUP •øÓ¨£i 

÷£õUPÍøÁPøÍU PnUQkP. 

Bsk 2003 2004 2005 2006 2007 

ÂØ£øÚ 4 6 7 8 10 

 2012® BsiØPõÚ ÂØ£øÚ°øÚ Psk¤i. 

20. (a) A bag contain 6 white and 4 red balls. Three balls 
are drawn at random what is the probability that 
two balls are red and the other one is white? 

 (b) Two dice are rolled, find the probability that the 
sum is equal to 4? 
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 (A) J¸ ø£°À 6 öÁÒøÍ ©ØÖ® 4 ]Á¨¦ £¢xPÒ 

EÒÍÚ. ‰ßÖ £¢xPÒ ^μØÓ {ø»°À 

GkUP¨£kQßÓÚ. Cμsk £¢øu ]Á¨¦ ©ØÖ® 

©ØöÓõßÖ öÁÒøÍ GßÓ {PÌuPÄ GßÚ? 

 (B) Cμsk øhì E¸mh¨£kQßÓÚ, öuõøP 4 \©©õP 

C¸US® {PÌuPÂøÚU Psk¤i. 

  

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by an illegal agreement? 

 \mhÂ÷μõu Ehß£õk Gß£uß ö£õ¸Ò GßÚ? 

2. Define ‘‘avoidable contract’’. 

 ""uÂºUP Ti¯ J¨£¢u®'' Áøμ¯Ö. 

3. Differentiate  ‘‘consent’’ and ‘free consent’’. 

 "J¨¦uÀ' , "•Ê J¨¦uÀ' CÁØøÓ ÷ÁÖ£kzx. 

4. What do you meant by ‘‘consensus ad idem’’? 

 "P¸zöuõ¸ø©' SÔzx }[PÒ GßÚ {øÚUQÕºPÒ?  

5. Define ‘‘novation’’. 

 ""¦zwk'' Áøμ¯Ö. 

Sub. Code 
7BCS5C1 



F–4829 

  

  2

6. Whether assignment of contracts valid? 

 J¨£¢u J¨£øh¨¦ ö\À¾£i¯õS©õ? 

7. What do you mean by law of agency? 

 •PÁº \mh® SÔzx }[PÒ {øÚ¨£x GßÚ? 

8. Point out the number of parties and number of contracts 
in a contract of guarantee. 

 EzvμÁõu J¨£¢uzvÀ GzuøÚ J¨£¢u[PÒ ©ØÖ® 
J¨£¢uuõμºPÒ EÒÍÚ Gß£øu SÔ¨¤k. 

9. What is the position of finder of lost goods? 

 öuõø»¢u ö£õ¸Ò PsöhkzuÁ›ß {ø» GßÚ? 

10. What is meant by common carriers? 

 ö£õxÁõPÚ ÷\øÁ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain express and implied contracts with 
examples. 

  öÁÎ¨£øh¯õÚ ©ØÖ® EmQøh¯õÚ J¨£¢uzøu 
Euõμnzxhß  ÂÁ›UPÄ®. 

Or 

 (b) Point out the legal position of minor's contract. 

  APøÁUSm£mhÁ¸hÚõÚ J¨£¢uzvß \mh {ø» 
£ØÔ SÔ¨¤kP. 

12. (a) Distinguish ‘fraud’ and ‘misrepresentation’. 

  "÷©õ\i' ©ØÖ® "uÁÓõÚ ]zu›¨¦' ÷ÁÖ£kzvU 
PõmkP. 

Or 
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 (b) Explain unlawful agreements with examples. 

  •øÓ÷PhõÚ J¨£¢uøu Euõμnzxhß  ÂÁ›UPÄ®. 

13. (a) Discuss the types of breach of contract with 
examples. 

  J¨£¢u •ÔÂß ÁøPPøÍ Euõμnzxhß 

ÂÁõvUPÄ®. 

Or 

 (b) Write notes on Clayton's case. 

  Q÷Ímhß ÁÇUQøÚU SÔzx SÔ¨¦ GÊxP. 

14. (a) Point out the rights of surety in a contract of 
guarantee. 

  EzvμÁõu J¨£¢uzvÀ ¤ønBÎß E›ø©PøÍ 

SÔ¨¤kP. 

Or 

 (b) Distinguish contract of indemnity and guarantee. 

  DmkÖv ©ØÖ® ö£õÖ¨¦Öv J¨£¢u[PøÍ 

÷ÁÖ£kzx. 

15. (a) Write notes on contract of pledge. 

  AhS Ehß£iUøP SÔzx SÔ¨¦ ÁøμP. 

Or 

 (b) Explain the duties of common carriers. 

  ö£õxÁõÚ ÷\øÁ°ß Phø©PøÍU SÔzx 

ÂÁ›UPÄ®. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the essential elements of a valid contract. 

 J¨¦UöõÒÍzuõUP J¨£¢uvß  CßÔ¯ø©¯õu TÖPÒ £ØÔ 
ÂÁ›UPÄ®. 

17. Distinguish ‘contract ’ and ‘quasi contract’. Explain quasi 
contract with examples. 

 "J¨£¢u®' ©ØÖ® "Aøμ J¨£¢u®' – ÷ÁÖ£kzvUPõmk 
Aøμ J¨£¢uzøu Euõμnzxhß ÂÁ›UPÄ®. 

18. Discuss the grounds available for breach of contract. 

 J¨£¢u •ÔÂß Põμn[PÒ SÔzx ÂÁõvUPÄ®. 

19. Examine the salient features of law of agency.  

 •PÁõsø© \mhzvß ]Ó¨¦U TÖPøÍ B´Ä ö\´. 

20. Discuss the rights and liabilities of parties in a contract 
of bailment. 

 J¨£øhÄ J¨£¢uzv¾ÒÍ J¨£¢uuõμºPÎß  E›ø©PÒ 
©ØÖ® Phø©PÒ SÔzx ÂÁõvUPÄ®. 

—————— 
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 Part A  (10  2 = 20) 

Answer all the questions. 

1. What is the meaning of registered company? 

 £vÄa ö\´¯¨£mh {Ö©® GßÓõÀ GßÚ? 

2. Explain the articles of association. 

 ö£õx ÂvPÒ Tmhø©¨¦ £zvμ®  ÂÁ›. 

3. Distinguish between shares and debentures. 

 £[SPÐUS®, PhÜmk¨£zvμzvØS® EÒÍ ÷ÁÖ£õk 
¯õx? 

4. Explain the term registered debentures. 

 £vÄa ö\´¯¨£mh PhÜmk¨£zvμ®  ÂÁ›. 

5. Write a note on self generated goodwill. 

 _¯ E¸ÁõUP |Øö£¯º–]Ö SÔ¨¦ ÁøμP. 

Sub. Code 
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6. Explain the yield method of valuation of shares. 

 Dmi¯ Á¸©õÚ® Ai¨£øh°À £[SPøÍ ©v¨¤hÀ  
ÂÁ›. 

7. Explain the share warrants. 

 £[S \õßÖa^mk –  ÂÁ›. 

8. What is the authorized share capital? 

 AÝ©vUP¨£mh £[S •uÀ GßÓõÀ GßÚ? 

9. What do you mean by external reconstruction? 

 öÁÎ ©ÖPmhø©¨¦ SÔzx }Âº AÔÁÚ ¯õx? 

10. What is absorption? 

 {Ö©[PÒ P»¨¦ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the features of underwriting? 

  £[S EzvμÁõuz ußø©°ß ]Ó¨¤¯À¦PÒ ¯õx? 

Or 

 (b) Wins Ltd issued 3,00,000 equity shares. The issue 
was underwritten as follows: 

  Anand- 50%    Balan- 25%  Chandran - 25%    
Applications were received for 2,40,000 shares. 
Applications for 60,000 shares had the stamp of 
Anand. Applications for 30,000 shares had the 
stamp of Balan and applications for 60,000 shares 
had the stamp of Chandran. The remaining 
applications did not bear any stamp. Determine the 
net liability of the underwriters. 
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  Âßì ¼ªöhm  3,00,000 \õuõμn £[SPøÍ 
öÁÎ°mhx. CøÁ ¤ßÁ¸©õÖ EzvμÁõuz  
ußø©U öPõskÒÍx. 

  BÚ¢z–50% £õ»ß–25% \¢vμß –25%. 

  2,40,000 Âsn¨£[PÒ ö£Ó¨£mhÚ. AvÀ 60,000 
£[SPøÍ BÚ¢uõ¾® 30,000 £[SPøÍ  £õ»Ý® 
60,000 £[SPøÍ \¢vμÝ® EzvμÁõu©ÎzxÒÍÚº. 
«u•ÒÍ £[SPÐUS EzvμÁõuªÀø». 
EzvμÁõu©ÎzxÒÍ |£ºPÎß {Pμ ö£õÖ¨¦PøÍU 
PshÔP. 

12. (a) Explain the open market buying of debentures. 

  vÓ¢u {ø» \¢øuU PhÜmk¨£zvμU öPõÒ•uø»  
ÂÁ›. 

Or 

 (b) Madav Ltd has Rs 25,00,000 10% debentures 
outstanding on 1st April 2016. The company has 
been redeeming on 1st April every year Rs 5,00,000 
debentures, by drawings by lot at par. 

  Pass journal entries;  

  (i) if redemption is out of profits 

  (ii) if redemption is out of capital. 

  ©õuÆ ¼ªöhmih® 1 H¨μÀ 2016 AßÖ ¹.25,00,000 
10% PhÜmk¨£zvμ® EÒÍx. AøÁ JÆ÷Áõº 
Á¸h® 1 H¨μÀ AßÖ ¹.5,00,000 ©v¨¦ÒÍU 
PhÜmk¨£zvμ® S¾UPÀ •øÓ°À •P©v¨¤À 
«mP¨£kQÓx. RÌUPshÁõÖ SÔ¨÷£mk £vÄPÒ 
u¸P. 

  (i) »õ£zøu¨ £¯ß£kzv «möhkzuÀ 

  (ii) •uø»¨ £¯ß£kzv «möhkzuÀ. 
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13. (a) Explain the factors which influence the value of 
shares. 

  £[SPÎß ©v¨ø£¨ £õvUS® PõμoPøÍ  ÂÁ›. 

Or 

 (b) Following is the balance sheet of Team Ltd as on  
31 March 2017. 

Liabilities Rs. Assets Rs. 

1,00,000 equity shares of  Fixed assets 18,00,000

Rs. 10 each 10,00,000 Current assets 5,00,000

9% Preference share capital 5,00,000  

10% Debentures 4,00,000  

Bank loan 3,00,000  

Current liabilities 1,00,000  

 23,00,000  23,00,000

  The assets are expected to realize Rs 28,00,000. 
Compute the value of equity share under the net 
assets method. 

  j® Áøμ¯Ö {Ö©zvß 31 ©õºa 2017 ® |õøÍ¯ 

C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

1,00,000 \õuõμn¨   {ø»a ö\õzxUPÒ 18,00,000
£[SPÒ ¹.10 Ãu® 10,00,000 |h¨¦a ö\õzxUPÒ 5,00,000
9% •ßÝ›ø©¨ £[SPÒ 5,00,000  
10% PhÜmk¨£zvμ® 4,00,000  
Á[QU Phß 3,00,000  
|h¨¦ ö£õÖ¨¦PÒ 1,00,000  

 23,00,000  23,00,000

  ö\õzxUPÒ ÂØ£øÚ ‰»® ¹.28,00,000 

Gvº£õºUP¨£kQÓx. {Pμ ö\õzvß ‰»® \õuõμn¨ 

£[SPÎß  ©v¨ø£U PshÔP. 
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14. (a) What is a contingent liability? Give two examples. 

  Gvº£õμõu¨ ö£õÖ¨¦ GßÓõÀ GßÚ? Cμsk 

Euõμn[PÒ öPõk. 

Or 

 (b) Give the format of form of balance sheet of a limited 
company. 

  J¸ Áøμ¯Ö {Ö©zvß C¸¨¦{ø»U SÔ¨¤ß ©õv› 

ÁiÁ® u¸P. 

15. (a) Explain the amalgamation in the nature of merger. 

  Cøn¨¦ Ai¨£øh°À {Ö©U TmkøPø¯  ÂÁ›. 

Or 

 (b) Akil Ltd agrees to takeover Bilal Ltd on the 
following terms : 

  (i) The shareholders of Bilal Ltd., are to be paid 
Rs. 25 in cash and issued 4 shares of Rs 10 
each in Akil Ltd for every share of Bilal Ltd. 
Bilal Ltd has 50,000 equity shares. 

  (ii) 5,000 debentures of Rs 100 each of Bilal Ltd 
are to be redeemed at a premium of 10%. 

  (iii) Expenses of liquidation of Rs 25,000 are to be 
borne by Akil Ltd. 

        Calculate purchase consideration. 

  AQÀ Áøμ¯Ö. {Ö©® ¤»õÀ Áøμ¯Ö {Ö©zvøÚ 

RÌUPsh GkzxU öPõÒÍ JzxU öPõÒQÓx. 

  (i) ¤»õÀ {Ö©zvß £[SuõμºPÐUS ¹.25 

öμõUP©õPÄ® ©ØÖ® ¹.10 Ãu® AQÀ 

{Ö©zvß 4 £[SPÒ, ¤»õÀ {Ö©zvß 

JÆöÁõ¸ £[QØS® 50,000 uμ¨£h ÷Ásk® 



F–4830 

  

  6

  (ii) ¤»õÀ {Ö©zvß ¹.100 Ãu® 5,000 PhÜmk¨ 
£zvμ[PÒ 10% •øÚ©zvÀ «möhkzuÀ 

  (iii) {Ö©U Pø»¨¦a ö\»Ä ¹.25,000ø¯ AQÀ 
{Ö©® HØÖUöPõÒÐuÀ öPõÒ•uÀ Âø»ø¯U 
PshÔP.  

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain in detail the different classes of preference 
shares. 

 •ßÝ›ø©¨ £[SPÎß £À÷ÁÖ ÁøPPøÍ Â›ÁõP  

ÂÁ›. 

17. Journalise the following transactions at the time of issue 
and redemption of debtentures. 

 (a) Debenture issue at Rs 95, repayable at Rs 100 

 (b) Debenture issue at Rs 95, repayable at Rs 105 

 (c) Debenture issue at Rs 100, repayable at Rs 105 

 (d) Debenture issue at Rs 105, repayable at Rs 100 

  The face value of each debenture is Rs 100. 

 R÷Ç öPõkUP¨£mkÒÍU PhÜmk¨£zvμzvß öÁÎ±k 

©ØÖ® «möhk¨¤øÚU öPõsk SÔ¨÷£mk £vÄPÒ u¸P. 

 (A) PhÜmk¨£zvμ öÁÎ±k ¹.95 «möhk¨¦ ¹.100 

 (B) PhÜmk£zvμ öÁÎ±k ¹.95 «möhk¨¦ ¹.105 

 (C) PhÜmk£zvμ öÁÎ±k ¹.100 «möhk¨¦ ¹.105 

 (D) PhÜmk£zvμ öÁÎ±k ¹.105 «möhk¨¦ ¹.100 

  PhÜmk¨£zvμzvß •P©v¨¦ ¹.100. 
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18. From the following balance sheet of Anand Ltd., find out 

the value of equity share. 

Liabilities Rs. Assets Rs. 

30,000 equity shares of  Assets at book values 6,00,000

Rs 10 each 3,00,000  

2,000 10% Preference   

shares of Rs 100 each 2,00,000  

Current liabilities 1,00,000  

 6,00,000  6,00,000

 (a) Market value of 50% of the assets is considered as 
10% more than the book value. 

 (b) Market value of 50% of the assets is estimated to be 
5% less than the book value. 

 (c) There is an unrecorded liability of Rs 5,000. 

 (d) Assume that preference shares have no priority as 
to repayment of capital or dividend. 

 BÚ¢z Áøμ¯Ö {Ö©zvß C¸¨¦ {ø»U SÔ¨¤ß  ‰»®, 

\õuõμn £[SPÎß ©v¨¤øÚU PõsP. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

30,000 \õuõμn   ö\õzxUPÒ 

£[SPÒ ¹.10 Ãu® 3,00,000 (Hmk ©v¨¤À) 6,00,000

2,000 10% •ßÝ›ø©   

£[SPÒ ¹.100 Ãu® 2,00,000  

|h¨¦ ö£õÖ¨¦PÒ 1,00,000  

 6,00,000  6,00,000
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 (A) 50% ö\õzxUPÎß \¢øu ©v¨¦ Auß Hmk ©v¨ø£U 
Põmi¾® 10% AvP®. 

 (B) 50% ö\õzxUPÎß \¢øu ©v¨¦ Auß Hmk ©v¨ø£U 
Põmi¾® 5% SøÓÄ 

 (C) PnUQÀ öPõsk Áμ¨£hõu¨ ö£õÖ¨¦PÒ ¹.5,000 

 (D) •ßÝ›ø©¨ £[SPÐUS •uÀ öuõøP ©ØÖ® 
£[Põuõ¯® ö£ÖÁuØS •ßÝ›ø© uμ¨£hÂÀø» 
GÚ AÝ©õÛUP. 

19. Balu Ltd is a company with an authorized capital of 
Rs.5,00,000 divided into 5,000 equity shares of Rs.100 
each. On 31 March 2016, 2,500 shares were fully called 
up. 

 The following are the balances extracted from the ledger 
of the company as on 31st March 2016. 

Details Rs. Details Rs. 
Stock 50,000 Advertising 14,300

Sales 4,25,000 Debtors 38,700
Purchases 3,00,000 Creditors 35,200
Wages 70,000 Plant and machinery 80,500

Discount allowed 4,200 Furniture 17,100
Insurance upto   Reserve 25,000

30 June 2016 6,720 Loan from M.D. 15,700
Salaries 18,500 Bad debts 3,200
Rent 6,000 Calls in arrears 5,000

General expenses 8,950 Bonus to employees 4,700
Profit and loss account 6,220 Bank 1,30,000
Printing and stationery 2,400  

Discount  received 3,150  

 Further information 

 (a) Closing stock Rs 1,91,500. 

 (b) Outstanding liabilities: Wages Rs 5,200; Salary  
Rs 1,200; Rent Rs 600. 
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 (c) Depreciation to be charged on Plant and Machinery 
and Furniture at 15% and 10% respectively. 

 (d) A tax provision of Rs 10,000 is to be made. 

 (e) Dividend at 5% on paid up share capital is to be 
provided. 

 (f) Prepare Trading and Profit and Loss Account and 
an Appropriation Account for the year ended  
31 March 2016 and the Balance Sheet as at that 
date. 

 £õ¾ Áøμ¯Ö {Ö©zvß AÝ©vUP¨£mh •uÀ ¹. 
5,00,000, 5,000 \õuõμn¨ £[SPÒ ¹.100 Ãu® 31 ©õºa 
2016 À 2,500 £[SPÒ öÁÎ°h¨£mhx. 31 ©õºa 2016 ® 
|õÍßøÓ¯ {Ö©zvß C¸¨¦PÒ ¤ßÁ¸©õÖ. 

ÂÁμ® ¹. ÂÁμ® ¹. 

\μUQ¸¨¦ 50,000 ÂÍ®£μ® 14,300
ÂØ£øÚ 4,25,000 PhÚõÎPÒ 38,700
öPõÒ•uÀ 3,00,000 PhÜ¢÷uõºPÒ 35,200
T¼ 70,000 C¯¢vμ® 80,500
AÝ©vzu Ámh® 4,200 AøÓP»ß 17,100
Põ¨¥k 30 áúß  Põ¨¦ 25,000
2016 Áøμ 6,720 ö£ØÓUPhß 15,700
\®£Í® 18,500 ÁõμõPhß 3,200
ÁõhøP 6,000 AøÇ¨¦ {¾øÁ 5,000
ö£õx ö\»ÄPÒ 8,950 öuõÈ»õÍºPÒ ÷£õÚì 4,700
»õ£–|mh® 6,220 Á[Q 1,30,000
Aa_, GÊx¨ ö£õ¸Ò 2,400  
ö£ØÓ Ámh® 3,150  

 \›UPmkuÀPÒ 

 (A) CÖva \μUQ¸¨¦ ¹.1,91,500 

 (B) öPõk£hõ¨ ö£õÖ¨¦PÒ T¼ ¹.5,200 \®£Í® 

¹.1,200 ÁõhøP ¹.600 

 (C) C¯¢vμzvØS 15% ©ØÖ® AøÓP»ÝUS 10% 

÷u´©õÚ® JxUSP 
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 (D) ¹.10,000 US Á› «x JxUS E¸ÁõUSP. 

 (E) öÁÎ±mk •uÀ «x 5% £[Põuõ¯® ÁÇ[SP 

 (F) 31 ©õºa 2016 |õ÷Íõk •iÁøh²® BsiØS›¯  
Â¯õ£õμ, »õ£ –|mhU PnUS ©ØÖ® £PºÄ PnUS 
©ØÖ® A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 

20. Wind Ltd suffered a series of losses. It resolved to reduce 
equity shares by Rs. 5 each and eliminate the securities 
premium account. The following is the balance sheet of 
Wind Ltd as on 31 March 2018. 

Liabilities Rs. Assets Rs. 

50,000 equity shares of  Goodwill 50,000

Rs. 10 each 5,00,000 Land and buildings 1,62,000

Securities premium 50,000 Plant and 

Sundry creditors 62,000 machinery 2,07,000

Bank overdraft 73,000 Stock 92,000

  Debtors 74,000

  Profit and loss a/c 1,00,000

 6,85,000  6,85,000

 Adjustments: 

 (a) To write off the goodwill account. 

 (b) To write off the debit balance of profit and loss 
account. 

 (c) To reduce the book values of the assets by the 
following amounts: Land and building Rs 42,000;  
Plant and machinery Rs 67,000; Stock Rs 33,600. 

 (d) To make a provision of 10% for bad debts. 

  Pass journal entries for reconstruction. Prepare the 
balance sheet after implementation of the                       
scheme of reconstruction. 
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 Âßmk Áøμ¯Ö {Ö©® |mhzvÀ C¯[QU 
öPõsi¸UQÓx. Cuß ‰»® ¹.5 I \õuõμn¨ £[QÀ 
SøÓUPÄ® ©ØÖ® £[S •øÚ©zøu²® }UPÄ® •iÄ 
ö\´¯¨£kQÓx.  31 ©õºa 2018 ® |õÍßøÓ¯ C¸¨¦ 
{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

50,000 \õuõμn   |Øö£¯º 50,000

£[SPÒ ¹.10 Ãu® 5,00,000 {»®, Pmih® 1,62,000

£zvμ •øÚ©® 50,000 C¯¢vμ® 2,07,000

PhÜ¢÷uõºPÒ 62,000 \μUQ¸¨¦ 92,000

Á[Q ÷©ÀÁøμ¨£ØÖ 73,000 PhÚõÎPÒ 74,000

  »õ£–|mhU PnUS 1,00,000

 6,85,000  6,85,000

 \›UPmkPÒ 

 (A) |Øö£¯øμ }USP. 

 (B) »õ£–|mhU PnUS £ØÖ £Svø¯ }USP 

 (C) RÌUPõq® ö\õzxUPÎß Hmk ©v¨ø£U SøÓUP–
{»®, Pmih® ¹.42,000 C¯¢vμ® ¹.67,000 \μUQ¸¨¦ 
¹.33,600. 

 (D) ÁõμõUPhß JxUS 10% E¸ÁõUSP. 

  ©ÖPmhø©¨¤ØPõÚ SÔ¨÷£mk¨ £vÄPÍ u¸P.  
©ÖPmhø©¨¤ØS® ¤ßÝÒÍ C¸¨¦{ø»U SÔ¨¦ 
u¯õº ö\´P. 

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the IRDA aims? 

 IRDA ß SÔU÷PõÒ ¯õøÁ? 

2. What is IRDA act – 1951? 

 IRDA act – 1951 Gß£x GßÚ? 

3. What is competition under competition Act 2002? 

 ÷£õmi \mh® 2002–ß RÌ ÷£õmi GßÚ? 

4. What is turnover under competition Act – 2002? 

 ÷£õmi \mh® – 2002–ß RÌ ¦μÒÁx GßÚ? 

5. What is difference between FEMA and FERA? 

 FEMA ©ØÖm FERA Cøh÷¯ ÷ÁÖ£õk GßÚ ? 

6. Why FEMA declaration is required? 

 FEMA ¤μPhÚ® Hß ÷uøÁ¨£kQÓx? 

Sub. Code 
7BCS5C3 
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7. What is foreign contribution to Consumer Protection Act 
1986? 

öÁÎ|õmk ~Pº÷Áõº £õxPõ¨¦ \mh®–1986 £[PÎ¨¦ 

GßÚ? 

8. What are consumer rights in details? 

 ÁõiUøP¯õÍºPÎß E›ø©PÒ £ØÔ •Ê ÂÁμ[PÒ GßÚ? 

9. What does Environment Protection Act 1986? 

 _ØÖa`ÇÀ £õxPõ¨¦ \mh®–1986 GßÚ ö\´QÓx? 

10. What are objectives of Environmental Protection? 

 _ØÖ`ÇÀ £õxPõ¨¤ß ÷|õUP[PÒ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the benefits of industrial undertaking? 

   öuõÈÀ {ÖÁÚ[PÎß |ßø©PÒ GßÚ? 

Or 

 (b) What are the main objectives of industrial policy 
1991? 

   öuõÈÀ öPõÒøP 1991–ß •UQ¯ ÷|õUP[PÒ 

¯õøÁ? 

12. (a) What are the provision of Competition Act 2002? 

   ÷£õmi \mh® – 2002–ß ÂvPÒ GßÚ? 

Or 

 (b) What can not be acquired as per the competition Act 
2002?  

   ÷£õmi \mh® –2002–£i GßÚ ö£Ó •i¯õx? 
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13. (a) What is FEMA and its provisions? 

   FEMA ©ØÖ® Auß ÂvPÒ GßÓõÀ GßÚ? 

Or 

 (b) How does RBI control foreign Exchange? 

   A¢{¯a ö\»õÁoø¯ ›\ºÆ Á[Q GÆÁõÖ 
Pmk¨£kzxQÓx? 

14. (a) What are the scope of Consumer Protection Act 
1986? 

   ~Pº÷Áõº £õxPõ¨¦ \mh® – 1986–ß ÷|õUP® GßÚ? 

Or 

 (b) What is the purpose of enacting the consumer 
protection Act 1986?  

   ~Pº÷Áõº £õxPõ¨¦ \mh® 1986–I C¯ØÖÁuß 
÷|õUP® GßÚ? 

15. (a) What are the salient features of environment 
protection Act 1986? 

   _ØÖa`ÇÀ £õxPõ¨¦ \mh® 1986–ß ]Ó¨£®\[PÒ 
GßÚ? 

Or 

 (b) What are the new laws to protect environment? 

   _ØÖa`ÇÀ £õxPõUP ¦v¯ \mh[PÒ GøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. What are the different production scheduling techniques? 

 £À÷ÁÖ EØ£zv vmhªhÀ ~m£® GÆÁõÖ wº©õÛ¨£õ´? 
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17. Which of the following transactions are permitted 
without any approval under the FEMA 1999? 

FEMA 1999  Cß RÌ G¢u J¨¦uÀ CÀ»õ©À ¤ßÁ¸® 
£›ÁºzuøÚPÒ AÝ©vUP¨£kQßÓÚ? 

18. What are the objectives of Competition Act 2002? 

 ÷£õmia \mh® 2002ß  ÷|õUP[PÒ GßÚ? 

19. What are the challenges faced in the consumer redressal 
process? 

~Pº÷Áõº SøÓwºUS® ö\¯À •øÓ°À GvºöPõÒÍ¨£k® 
\ÁõÀPÒ GßÚ? 

20. How has the Environmental Protection Act of 1970 
protected the environment?  

1970 B® Bsk _ØÖa`ÇÀ £õxPõ¨¦ \mh® GÆÁõÖ 
_ØÖa`Çø»¨ £õxPõzux? 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a resident? 

 

2. Distinguish between previous year and assessment year. 

 

3. What are the various allowances generally paid to 
employees? 

 

4. List down tax free perquisites. 

 

5. What is casual income? 

 

Sub. Code 
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6. Explain the rules for claiming depreciation. 

 

7. What is aggregation of income? 

 

8. What is carry forward and set off of losses? 

 

9. What are no limit donations? 

 

10. What is revised return? 

 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) On 1-6-2017 Mr.A Malaysian citizen left India after 
a continuous stay of 10 years. During the financial 
year 2018-19, he came back to India and stayed for 
a period of 46 days and left. In the PY 2019-20 he 
came back to India on 10-10-2019 and stayed here 
thereafter for one year. Determine his residential 
status for the AY 2020-21. 

 A

 
AY

A

Or 
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 (b) Mr. B an Indian Citizen employed in UK came to 
India for a visit in 2017 on 4th August and left again 
on 4th January 2018. He was in India again from 
31st December 2019 till 4th April 2020. Determine 
his residential status for the PY 2019-20. 

 B UK

12. (a) Mr. C resides in Trichy receives  1,00,000 p.a. as 
basic salary, and  30,000 p.a. as D.A. (2/3rd of 
which forms part of salary), commission Rs.1,000 
p.m; Bonus -  15,000 p.a; HRA    24,000 p.a. Rent 
paid -  30,000 p.a. Compute taxable HRA. 

 C
p.a. ; p.a. 

 p.m.. 
;

p.a. p.a. 
HRA

Or 

 (b)  Compute net annual value from the following: 
Actual rent received   72,000 p.a; Municipal Rental 
value (MRV)  60,000 p.a; Fair Rental Value (FRV) 

 66,000; Municipal tax-10% of MRV. 

 
p.a (MRV) p.a; (FRV) ;

of MRV



F–4832 

  

  4 

13.  (a) Outline the provisions of Income tax act under 
section 35 regarding deduction for expenditure on 
Scientific research. 

 

Or 

 (b)  What are professional receipts and professional 
expenses? 

 

14.  (a) Compute amount of capital gain for the AY 2020-21 
Cost of acquisition-(2007-2008)  Rs. 1,00,000 

 Sold on 31.12.2019               Rs. 6,00,000 

   Cost of improvement (2014-15)  Rs.    10,000 

  CII: 2007-08 - 129 

  2014-15 - 240 

  2019-20 - 289 

  AY 2020–21

  (2007–2008) – 1,00,000

 31.12.2019 – 6,00,000

 (2014–15)  –  10,000

CII: 2007-08 - 129 

  2014-15 - 240 

  2019-20 - 289 

Or 
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  (b)  Compute income from business or profession for the 
PY 2019-20. 

  

Profit from ‘A’ Business -  5, 00,000 

Loss from ‘B’ Business  1,00,000 

Loss from Profession C  1,50,000 

Profit from speculation business 
‘D’   2,00,000 

Loss from speculation business 
‘E’   3,00,000 

  
PY 2019-20  

  

 ‘A’   5,00,000 

 ‘B’   1,00,000 

 ‘C’  1,50,000 

 ‘D’    2,00,000 

 ‘E’   3,00,000 

15.  (a) Explain the powers of joint commissioner of income 
tax. 

 

Or 

 (b)  What is self assessment? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Compute the total of Mr. X for the PY 2019–20 if he is  

(i) Resident and ordinarily resident in India  

 (ii) Resident but not ordinarily Resident 

 (iii) Non-Resident in India. 

 (a) Salary received in India for services 

  rendered in Australia   4,00,000 

 (b) House property income received in  

  India for a property situated in  

  Singapore    2,00,000 

 (c) Income from a business in UK  

  controlled from India   10,00,000 

  (d) Income from a business in  

   Chennai controlled from Japan 12,00,000 

 (e) Salary received in USA for  

  services rendered in India  5,00,000 

  (f) Profit from a business received in  

   south Africa controlled from there 1,00,000 

 (g) Dividends from UTI received in India  3,00,000 

  (h) Profits for the year 2014-15 of a  

   business in Indonesia remitted to 

   India during PY 2019-20 10,000 

 (i) Profits made from a business in  

  Hongkong (half of the profits being  

  received in India)   20,000 

 (j) Income from Agriculture in USA  1,00,000 
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 X PY 2019-20 

 (a) 

 4,00,000 

 (b)  

  

    2,00,000 

 (c) UK 

    

  10,00,000 

  (d)  

       

   12,00,000 

 (e)  

   U.S.A.  5,00,000 

  (f)   

     

   1,00,000 

 (g) UTI 

  3,00,000 

  (h) 2014-15  

   

   PY 2019-20  

   10,000 
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 (i)   

  

  )   20,000 

 (j) USA  1,00,000  

17.  Mr. Y is employed s an Engine Driver in Railways. He is 
getting 7,500p.m. as basic salary, 2,500 p.m. as 
dearness pay and  2,500 dearness allowable. He 
received the following allowances also: 

(a) 16,500 as running allowance 

(b) 200 per child as education allowance for the 
education of his two sons 

(c) One of these son is living in hostel on whom Mr. Y is 
spending 800 p.m.. He is getting 500 p.m. as 
allowance to meet his son’s hostel expenses    

  (d)  250 p.m. as CCA 

 (e)  400 p.m. as uniform allowance, whole of it is 
spent for official purpose 

  (f)  1,250 p.m. as HRA 

  1,500 p.m. paid as rent 

 (g) He contributes 10% of his basic pay and Dearness 
pay to his SPF and the southern Railway also 
contributes is similar amount. 

 Compute the salary income of Mr. Y for the AY 2020–21.
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 Mr. Y 
7,500p.m.  

DP–  2,500 p.m. DA–  2,500 p.m. 
: 

(a) 16,500  

(b) 200 
 

(c) 500 p.m. 
800 p.m.  

  (d)  250 p.m. – CCA 

 (e)  400 p.m.

  (f)  1,250 p.m. –HRA 

  1,500 p.m.  

  (g) DP 10% SPF–

 Y– AY 2020–21 

18.  Mr. S is the owner of a house which is let out in Dindigal 
particulars in respect of which for the year ended 
31.3.2020 are as follows: 

(a) Actual rent received   4,500 

  (b) Municipal valuation  4,200 

 (c) Total Municipal tax  700 

  (d) Municipal tax paid by Mr. S  350 

 (e) Municipal tax paid by the tenant  350 
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  (f) Interest on loan taken for repairs of the house  600 

 (g) Unrealised rent allowed in the PY  
  2016-17 recovered during the PY 2019-20 1,500 

  Compute income from house property for the AY 2020-21. 

 S

(a)  4,500 

  (b) MRV (   4,200 

 (c)   700 

  (d) Mr. S  350 

 (e)  350 

  (f)   600 

 (g) PY  

  2016-17   

  PY 2019-20 1,500 

 AY 

19.  Mr. Z, submits the following particulars of his income for 
the year ended 31.3.2020: 

  (a) Royalty income from a coal mine  20,000 

 (b) Agriculture income in Pakistan  15,000 

  (c) Salalry for a part time job in a firm  21,000 

 (d) Salary as a member of Parliament  36,000 

  (e) Daily Allowance as MP   15,000 
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 (f) His residential house has been taken on a rent of 
1,000 p.m. half of which he has sublet at 1,200 

p.m. Municipal tax paid by him  200 and Repairs 
500. 

  (g) Dividend, from a cooperative society received  5,000 

 (h) He has incurred the following expenses: 

   paid collection charges 100 for dividend 

  3,000 for collecting royalty income. 

  (i) Mr. Z purchases gold for  10 lakhs (FMV  10.5 
lakhs . He purchases a work of art for 15 lakhs 
(FMV- 18 lakhs). 

   Compute income from other sources for the AY 
2020-21.

  Z, 31.3.2020-
: 

  (a)   20,000 

 (b)  15,000 

  (c)  

  21,000 

 (d)   36,000 

  (e)  15,000 

 (f) 1,000 p.m. 

 1,200 p.m.  

 200 500. 

  (g)   5,000 
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 (h) : 

  100  

  3,000  

  (i) . Z,  10  (FMV  10.5 

. 15   

(FMV- 18 ). 

   AY 2020-21 

20.  Explain any 10 deductions allowable from Gross total 
income U/s 80. 

 U/s 80

————————  
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is perpetual Inventory system? 

 {μ¢uμ \μUP •øÓ GßÓõÀ GßÚ? 

2. What is Labour Turnover? 

 öuõÈ»õÍº GsoUøP GßÓõÀ GßÚ? 

3. What is overhead absorption? 

 ÷©Øö\»Ä «mS® GßÓõÀ GßÚ? 

4. What is Process Costing? 

 £i•øÓ ö\»Ä GßÓõÀ GßÚ? 

5. What is output costing? 

 öÁÎ±mk ö\»Ä GßÓõÀ GßÚ? 

Sub. Code 
7BCSE2A 
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6. Give formula for Halsay plan. 

 íõÀ] vmhzvØPõÚ `zvμzøu u¸P. 

7. Given formula for calculation of abnormal loss. 

 A\õuõμn CÇ¨ø£U PnUQkÁuØPõÚ `zvμ® u¸P. 

8. How will you reconcile the following? 

 Under valuation of opening stock in Cost accounts. 

 ¤ßÁ¸ÁÚÁØøÓ GÆÁõÖ \› ö\´ÃºPÒ? 

 AhUPÂø» PnUQ°¯¼À SøÓzx ©v¨¤h¨£mkÒÍ 
öuõhUP \μUQ¸¨¦. 

9. What are Chargeable expenses? 

 ÷|μia ö\»ÄPÒ GßÚ? 

10. What is integration? 

 J¸[Qøn¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the various methods of Cost accounting? 

  AhUPÂø» PnUQ¯¼ß £À÷ÁÖ •øÓPÒ ¯õøÁ? 

Or 

 (b)  What are the main features of process costing? 

  £i•øÓ ö\»ÂÚzvß •UQ¯ A®\[PÒ ¯õøÁ? 

12. (a) Following date relates to Material ‘X’ find Minimum 
level and Maximum level. 

  Normal usage 450 units per week: Maximum usage 
750 units per week : 

          Minimum usage 300 units per week : Reorder 
quantity 3200 units: Reorder period 3 to 5 weeks. 



F–4833 

  

  3

X GßÓ ö£õ¸Îß Â£μUVøÍU öPõsk SøÓ¢u 
AÍÄ {ø» ©ØÖ® Ea\ AÍÄ {ø»°øÚU PõsP. 

C¯À¦ £¯ß£õk 450 A»SPÒ ÁõμzvØS 

Ea\ AÍÄ £¯ß£õk 750 A»SPÒ ÁõμzvØS 

SøÓ¢u AÍÄ £¯ß£õk 300 A»SPÒ 

©Ö•øÓ AÍÄ 3200 A»SPÒ 

©Ö•øÓU Põ»® 3 •uÀ 5 Áõμ[PÒ.  

Or 

 (b)  Calculate the re-ordering level from the following 
information : 

   Maximum consumption : 300 Units per day : 
Minimum consumption : 200 units per day :  
Re order period : 8 to 10 day. 

  RÌPõq® ÂÁμ[PøÍ öPõsk ©Ö•øÓ AÍÄ 
{ø»ø¯ PnUQkP. 

  Ea\ {ø» ~PºÄ 300 A»SPÒ vÚ® ÷uõÖ® 
SøÓ¢u AÍÄ 200 A»SPÒ vÚ® ÷uõÖ® ©Ö•øÓ 
Põ»® 8 •uÀ 10 |õmPÒ. 

13. (a) Mr. X who runs a business, need 3600 kgs of 
material for a year. The costs meant for the 
purchase of the same Rs.1,000. The cost of 
maintenance Rs.20. Calculate EOQ.    

v¸. X GßQÓ ÁoP›ß ÁõoP ÷uøÁ 3600 Q÷»õ 
‰»¨ö£õ¸Ò BS®. (BsöhõßÖUS) öPõÒ•uÀ 
ö\»Ä ¹. 1,000 £õxPõUS® ö\»Ä ¹. 20 BS®. 
]UPÚ öPõÒ•uÀ AÍøÁ PõsP. 

Or 
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 (b) Find EOQ; Annual Consumption 3000 units : Cost 
of material per unit – Rs. 10 : Cost of placing on 
order – Rs.30 : Annual carrying cost of one  
Unit – Rs. 1. 

  ]UPÚ öPõÒ•uÀ AÍøÁ PnUQkP. 

  Bsk÷uõÖ® ~PºÄ 3000 A»SPÒ : ‰»¨ö£õ¸Îß 
ö\»Ä ¹.10 J¸ A»S : øÁ¨£uØPõÚ ö\»Ä ¹.30 
Bsk÷uõÖ® ¤ßöuõhº ö\»Ä J¸ A»SUS ¹. 1. 

14. (a) From the following calculate wages under Halsey 
Weir Plan : Time allowed – 15 hrs, : Hours worked – 
10 hrs.: Hourly rate – Rs.2. 

RÌPõq® íõÀ] vmh¨£i T¼ø¯U PõsP. 

AÝ©vUP¨£mh Põ»® – 15 ©o ÷Áø» ö\´u 
÷|μ® 10 ©o ÷|μU T¼ ¹.2. 

Or 

 (b)  From the following calculate material variances : 

  Qty(std) – 700 kgs.: 

          Price (std) – Rs.2 (per kg): 

          Qty used for actual production @ Rs. 1.75 per kg,  
240 kgs. 

  RÌPõq® ÂÁμ[PÎÀ Pa\õ¨ö£õ¸Ò ÷ÁÖ£õmiøÚ 
PnUQkP. 

  ö£õ¸Îß AÍÄ – 700 Q÷»õ  

  ö£õ¸Îß Âø» – ¹. 2 (Q÷»õÂØS)  

£¯ß£kzu¨£mh ö£õ¸Îß Âø» ¹. 1.75 AÍÄ 
240 Q÷»õ. 
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15. (a) From the following calculate the value of raw 
material consumed : 

  Raw material purchased Rs. 88,000 
  Opening Stock of Raw materials Rs. 1,00,000 
  Closing stock of Raw materials Rs. 1,23,500. 

RÌPõq® ÂÁμ[PøÍ öPõsk ‰»¨ö£õ¸Îß 
~PºÄ ©v¨ø£ PnUQkP. 

  ‰»¨ö£õ¸ÒPÎß öPõÒ•uÀ ¹. 88,000 
  ‰»¨ö£õ¸Îß öuõhUP \μUQ¸¨¦ ¹. 1,00,000 

‰»¨ö£õ¸Îß CÖv \μUQ¸¨¦ ¹. 1,23,500. 

Or 

 (b)  Prepare a Stores Ledger showing the pricing issues 
of materials on the basis of Weighted Average 
Method from the following particulars : 

     Date               Receipts               Rate                    Issues 

  02.03.2018         200 units              Rs. 2                      – 

  10.03.2018         300 units              Rs. 2.40                 – 

  15.03.2018            –                        –                 250 units 

  18.03.2018         250 units              Rs. 2.60 

  20.03.2018            –                       –                200 units 

   RÌPõq® ÂÁμ[PÎ¼¸¢x Qh[S ÷£÷μmk PnUS 
JßøÓ ©v¨¦ HØÓ¨£mh \μõ\› •øÓ°ß ‰»® 
u¯õ›UP. 

  ÷uv        ö£Ó¨£mh AÍÄ       Âø»         ÁÇ[Q¯ AÍÄ 

  02.03.2018         200 A»SPÒ     ¹. 2                      – 

  10.03.2018         300 A»SPÒ  ¹. 2.40                 – 

  15.03.2018             –           –                  250 A»SPÒ 

  18.03.2018         250 A»SPÒ  ¹. 2.60 

  20.03.2018            –                       –           200 A»SPÒ 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Cost Accounting is a system of foresight and not post 
mortem examination – Explain. 

AhUPÂø» PnUQ¯À Gß£x Gvº÷|õUS •øÓ÷¯ uÂμ 
Ph¢u Põ» B´Ä AÀ» – ÂÁ›. 

17. The following date relate to the manufacture of a 
standard product during the month of April 2018. 

 Raw material consumed Rs.20,000: Direct Wages  
Rs.12,000: Machine hour worked 950: Machine           
Hour rate Rs.2: Office overhead 15% on work cost: Unit 
produced 20000: Selling overhead 37 paise per unit: Unit 
sold - 18000 @ Rs.2.50 each. Your are required to prepare 
as cost sheet showing      

 (a)  Cost per unit and  

 (b)  The profit for the period. 

 2018 H¨μÀ ©õuzvÀ J¸ uμ¨£kzu¨£mh ö£õ¸Îß 
EØ£zvUPõÚ ÂÁμ[PÒ R÷Ç uμ¨£mkÒÍÚ. 

 £¯ß£kzu¨£mh ‰»¨ö£õ¸Ò ¹.20,000: ÷|μiU T¼  
¹. 12,000: C¯¢vμ® £¯ß£kuu¨£mh ÷|μ»® 950 
©oPÒ:  C¯¢vμzvß J¸ ©oUPõÚ AhUP® ¹.2: 
öuõÈØ\õø» AhUPÂø»°À A¾Á»Pa ö\»Ä 15 
\uÃu®: ÂØ£øÚ ÷©Øö\»ÄPÒ – J¸ ö£õ¸ÐUS 37 
ø£\õ: EØ£zv ö\´¯¨£mh A»SPÒ 18000 ÂØ£øÚ 
Âø» JßÖ ¹.2.50 Ãu®. 

 AhUPÂø» £mi¯¼À PõmkQßÓøu }[PÒ u¯õ›UP 
÷Ási¯øÁ. 

 (A) A»S JßÔØS AhUP Âø» 

 (B) Põ»zvØPõÚ C»õ£® 
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18. Prepare stores ledger account showing various receipts 
and issues under LIFO, FIFO basis from the following 
information 

           March 01     Balance 500 units @ Re. 1 per unit 

           March 15     Received 250 units @ Re. 1 per unit 

           March 18     Issued 125 Units 

           March 21     Received 150 units @ Rs.1.10 

           March 25    Received 250 units @ Rs. 1.20 

           April 01     Issued 175 Units 

           April 10     Received 200 Units @ Rs.l.20 

           April 20    Issued 100 units 

           May 01      Received 100 units @ Rs.l.10 

           May 15     Issued 100 Units 

           May 20     Returned to stock room for 25 units which 

 were issued on 15th May 

  May 30      Issued 125 Units 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x £sh[PÒ ÷£÷μmkU PnUøP 
•u¼À ö£ØÓøÁ •u¼À AÎzuÀ CÖv°À ö£ØÓøÁ 
•u¼À AÎzuÀ Ai¨£øh°À u¯õ›UP. 

  ©õºa 1  öuõhUP \μUQ¸¨¦ – 500 A»SPÒ ¹.1 A»S   
 JßÖUS 

  ©õºa 15  ö£Ó¨£mhx 250 A»SPÒ ¹.1 A»S JßÖUS 

  ©õºa 18 ÁÇ[Rk 125 A»SPÒ 

  ©õºa 21  ö£Ó¨£mhx 150 A»SPÒ ¹.1.10 

  ©õºa 25  ö£Ó¨£mhx 250 A»SPÒ ¹.1.20 

  H¨μÀ 01 ÁÇ[Rk 175 A»SPÒ 

  H¨μÀ 10  ö£Ó¨£mhx 200 A»SPÒ ¹.1.20 Ãu® 

  H¨μÀ 20  ÁÇ[Rmk 100 A»SPÒ 

  ÷© 01  ö£Ó¨£mhx 100 A»SPÒ ¹.1.10 Ãu® 

  ÷© 15 ÁÇ[Rk 100 A»SPÒ 

  ÷© 20  ÷© 15 À ÁÇ[Q¯ 25 A»SPÒ \μUøP 
v¸¨£¨£mhx 

  ÷© 30 ÁÇ[Rk 125 A»SPÒ.  
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19. Prepare Process accounts from the following details : 

                                                 Process A        Process B 

 Direct Material (Rs.)                  30,000             3,000 

 Direct Labour (Rs.)                     10,000           12,000 

 Overhead (Rs)                               7,000             8,600 

 Normal Loss                                   10%                4% 

 Scrap Value                                    Rs. 1           Rs. 2 

 Out per unit                                  17500            17000 

 2000 units @ Rs.2 each were introduced Process A. There 
was no opening and closing stock of work in progress. 
RÌPsh ö\´vPÎ¼¸¢x £i •øÓ PnUQøÚz u¯õ›UP. 

      £i•øÓ A        £i•øÓ B 
 ÷|μi¨ ö£õ¸mPÒ (¹.)               30,000             3,000 
 ÷|μi¨ T¼ (¹.)                          10,000           12,000 
 ÷©Øö\»ÄPÒ (¹.)                         7,000             8,600 
 \õuõμn |mh®                                   10%                4% 
 ÷\uõμ©õÚ ö£õ¸Ò ÂØ£øÚ   
 (A»S JßÖUS)                              ¹. 1               ¹. 2 
 EØ£zv ö\´¯¨£mhx (A»SPÒ)  17500            17000 

‰»¨ö£õ¸Ò 2000 A»SPÒ JßÖ ¹. 2 GßÓ Âø»°À 
•uÀ £i°À ~øÇUP¨£kQÓx. •ØÖ¨ö£Óõ ö£õ¸Ò 
öuõhUPzv÷»õ CÖv°÷»õ CÀø». 

20. Calculate direct labour rate from the following :  

 Total No. of Workers 100 :   Working days in a year 300 : 
No. of hours per day worked – 8:  Short and idle  
time – 5%: Factory overhead – Rs. 11,400: Gift to  
workers –  Rs. 1,000. 

 ÷|μi EøÇ¨¦ ÷|μ Ãu® PõsP. 

 öuõÈ»õÍº GsoUøP 100 : Bsk ÷Áø» |õmPÒ 300: 
|õÒ JßÖUS ÷Áø» ÷|μ® 8 ©o: SøÓ¢u ©ØÖ® 
ÃnõÚ ÷|μ® 5 \uÃu®: EØ£zv ÷©Øö\»ÄPÒ ¹. 11,400: 
öuõÈ»õÍºPÐUS öÁS©v AÎzux ¹. 1,000. 

______________ 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is right to freedom? 

 _u¢vμ® GßÓõÀ GßÚ? 

2. What is meant by right to freedom of religion? 

 ©ua _u¢vμ® £ØÔ } AÔÁÚ ¯õøÁ? 

3. Write a few lines about supreme court. 

 Ea\ }v©ßÓzvøÚ £ØÔ K›¸ Á›PÒ GÊxP.  

4. What do you know about parliament? 

 £õμõÐ©ßÓ® £ØÔ } AÔÁÚ ¯õøÁ? 

5. What is the hierarchy of judicial powers in India? 

 }vz xøÓ°ß AvPõμ £QºÂøÚ GßÓõÀ GßÚ? 

6. Write any two objectives of Right To Information Act. 

 uPÁÀ AÔ²® E›ø©a \mhzvß£i H÷uÝ® C¸ 
÷|õUP[PøÍ GÊxP.  
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7. State any two powers of public under Right To 
Information Act.  

 uPÁÀ AÔ²® E›ø©a \mhzvßRÌ ©UPÎß C¸ 

AvPõμ[PøÍ H÷uÝ® TÖP.  

8. What is consumer redressel forum? 

 SøÓwº •Pø© GßÓõÀ GßÚ? 

9. Write any two objectives of Consumer Protection Act. 

 ~Pº÷Áõº £õxPõ¨¦a \mhzvß H÷uÝ® C¸ ÷|õUP[PÒ 
GÊxP.  

10. Define Environmental Protection Act.  

 _ØÖa`ÇÀ £õxPõ¨¦ \mh® Áøμ¯Ö.  

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List down the various fundamental rights of 
constitution of India. 

  C¢v¯ Aμ]¯»ø©¨¦a \mhzvß£i Ai¨£øh 
E›ø©PÒ ÂÁ›.  

Or 

 (b) What do you know about constitutional remedies? 
Explain. 

  Aμ]¯»ø©¨¦ ÁÈ•øÓPÒ £ØÔ } AÔÁÚ ¯õøÁ? 

12. (a) Discus the structure of election commission of India. 

  C¢v¯ ÷uºuÀ Bøn¯zvß Aø©¨¤øÚ 

ÂÁõvUPÄ®.  

Or 
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 (b) Discuss the Role of Constitution in relationship 
between government and people. 

  Aμ]¯»ø©¨¤ß £[PõÚx Aμ_US® ©UPÐUS® 

Cøh÷¯ GÆÁõÖ EÒÍx GÚ ÂÁõvUPÄ®.  

13. (a) Detail the functions of RTI Act.  

  uPÁÀ AÔ²® E›ø©a \mhzvß £oPÒ ÂÁ›.  

Or 

 (b) Write a detailed note on third party information 
Under RTI Act. 

  uPÁÀ AÔ²® E›ø©a \mhzvß ‰»® ‰ßÓõ® |£º 
uPÁÀ GßÓõÀ GßÚ Gß£øu GÊx.  

14. (a) Explain any three rights of a consumer under 
Consumer Protection Act. 

~Pº÷Áõº £õxPõ¨¦ \mhzvß£i H÷uÝ® ‰ßÖ 
E›ø©PøÍ GÊxP.  

Or 

 (b) What are the powers of district consumer protection 
councils? Explain. 

  ©õÁmh ~Pº÷Áõº £õxPõ¨¦ Aø©¨¤ß AvPõμ® 
GßÚ? ÂÁ›.  

15. (a) Explain different forms of air pollution. 

  PõØÖ ©õ_£õmiß £À÷ÁÖ ÁøPPøÍ GÊxP.  

Or 

 (b) List various kinds of pollutions caused by industrial 
undertakings. 

  öuõÈØ\õø»PÎÚõÀ HØ£k® £À÷ÁÖ ©õ_£õkPøÍ 

GÊxP.  
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the historical perspective of Constitution of India. 

 C¢v¯ Aμ]¯»ø©¨¦ \mhzvß E¸ÁõUPzøu 
ÂÁõvUPÄ®.  

17. Detail the administrative and legislative and judicial 
structure of constitution of India, 

 C¢v¯ Aμ]¯»ø©¨¤ß {ºÁõP ©ØÖ® }vzxÁ 
Aø©¨¤øÚ ÂÁ›UPÄ®.  

18. Explain the fundamental rights and duties of citizens in 
India.  

 C¢v¯ Si©PÛß Ai¨£øh E›ø©PÒ ©ØÖ® Phø©PÒ 
ÂÁ›.  

19. Write an essay on objectives, scope and functions of 
consumer protection act.  

 ~Pº÷Áõº £õxPõ¨¦ \mhzvß ÷|õUP®, SÔU÷PõÒ ©ØÖ® 
£oPÒ ÂÁ›UPÄ®.  

20. What are the general powers of central government in 
protection and control of environmental protection? 
Discuss.  

 _ØÖa`ÇÀ £õxPõ¨¤À ©zv¯ Aμ]ß ö£õxÁõÚ 
AvPõμ[PÒ ¯õøÁ? ÂÁ›.  

———————— 



  

F–4860   

U.G. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Allied – HUMAN RIGHTS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the five basic human rights in historical 
perspective? 

Áμ»õØÖ •ß÷ÚõUQÀ I¢x Ai¨£øh ©Ûu E›ø©PÒ 
GøÁ? 

2. What are the basic human rights? 

 Ai¨£øh ©Ûu E›ø©PÒ GøÁ? 

3. What is core-instruments (International)? 

 ÷Põº&Áõ]zuÀ GßÓõÀ GßÚ? (\ºÁ÷u\) 

4. Explain the “UNFPA”. 

 “UNFPA” Gß£øu ÂÍUSP. 

5. What are the list of instruments conventions? 

 ©õØÖuÀ P¸ÂPÎß £mi¯À Gß£x GßÚ? 

6. What are the core human rights? 

 ©Ûu E›ø©PÒ GøÁ? 
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7. What is minor rights? 

 CÍÁ›ß E›ø©PÒ Gß£x GßÚ? 

8. What are the Human Rights Documents? 

 ©Ûu E›ø©PÒ BÁn[PÒ GøÁ? 

9. What is OHCHR? 

 OHCHR Gß£x GßÚ? 

10. What is inhuman for human rights? 

 ©Ûu E›ø©PÐUS ©Ûuõ¤©õÚ©ØÓx Gß£x GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the classification of human rights? 

   ©Ûu E›ø©PÎß ÁøP¨£õk GßÚ? 

Or 

 (b) Explain the rights pertaining to civilians in our 
country. 

   |©x |õmiÀ EÒÍ Si©UPÎß E›ø©PÒ £ØÔ 
ÂÍUPÄ®. 

12. (a) What is the origin of human rights? 

   ©Ûu E›ø©PÎß ÷uõØÓ® GßÚ? 

Or 

 (b) Why is the declaration of human rights important?  

   ©Ûu E›ø© ¤μPhÚ® Hß •UQ¯©õÚx? 
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13. (a) What are the limitations of ICCPR? 

   ICCPRß Áμ®¦PÒ GßÚ? 

Or 

 (b) What are the rights protected under ICCPR? 

   ICCPRß RÌ £õxPõUP¨£mkÒÍ E›ø©PÒ GøÁ? 

14. (a) How are collective rights different from individual 
rights? 

   Tmk E›ø©PÒ uÛ ©Ûu E›ø©PÎ¼¸¢x GÆÁõÖ 
÷ÁÖ£kQßÓÚ? 

Or 

 (b) “Will Kymlicka group differential rights” – Explain. 

   “Kymlicka” SÊ E›ø©PÒ ÷ÁÖ£kzv ÷Ásk® – 
ÂÍUSP. 

15. (a) How many countries have signed the UN 
convention against torture?  

   ]zvμÁøuUS GvμõÚ I.|õ. Ehß£iUøP°À GzuøÚ 
|õkPÒ øPö¯Êzx°mk EÒÍÚ? 

Or 

 (b) Is the convention against Torture binding? 

   ]zvμÁøuUS GvμõÚ \©Áõ¯® Pmkshuõ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the human rights evolution studied under in 
Ancient Indian period and medieval. 

£søh¯ C¢v¯U Põ»zv¾®, ©zv¯ Põ»zv¾® ©Ûu 
E›ø©PÎß £›nõ© ÁÍºa] £ØÔ ÂÍUSP. 
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17. What are the principles of human rights? 

 ©Ûu E›ø©PÒ ÷Põm£õkPÒ GøÁ? 

18. What rights to international covenant recognize? Explain. 

 \ºÁ÷u\ Ehß£iUøP GßÚ E›ø©PøÍ A[RP›UQÓx – 
ÂÍUSP. 

19. “The conventions on the elimination of all forms of 
discrimination against women” – Explain. 

‘‘ö£sPÐUS GvμõÚ AøÚzx Âu©õÚ £õS£õkPøÍ²® 

JÈ¨£x öuõhº£õÚ \©Áõ´¨¦PÒ’’ ÂÍUSP. 

20. Why was the convention against torture created?  

 ]zvμÁøuUS GvμõÚ ©õ|õk Hß E¸ÁõUP¨£mhx? 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define planning. 

 vmhªhÀ Áøμ¯Ö. 

2. What do you mean by forecasting? 

 öuõø» ÷|õUPÀ £ØÔ } AÔÁÚ ¯õøÁ? 

3. Write a few lines on span of control. 

 Pmk¨£SzuÀ •øÓ £ØÔ J›¸ Á›PÒ GÊxP. 

4. Write any two characteristics of X theory. 

 X – ÷Põm£õmiß H÷uÝ® C¸ C¯À¦PøÍ GÊxP. 

5. What do you know about motivation? 

 FUSÂzuÀ £ØÔ } AÔÁÚ ¯õøÁ? 
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6. What do you mean by proactive planning? 

 •ß÷ÚõUS vmhªhÀ £ØÔ } AÔÁÚ ¯õøÁ? 

7. Give a short note on departmentation. 

 xøÓ¨£kzxuÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

8. What do you mean by autocratic relationship? 

 G÷ua\vPõμ EÓÄ•øÓ £ØÔ } AÔÁÚ ¯õøÁ? 

9. Write a short note on performance appraisal. 

 ö\¯À£õk FUSÂzuÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

10. What do you know about job specification? 

 £o SÔ¨¤kuÀ £ØÔ } AÔÁÚ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Write a short note on scope of management. 

   ÷©»õsø©°ß ÷|õUP[PøÍ ]ÖSÔ¨¦ GÊxP, 

Or 

 (b) Discuss the nature and characteristics of planning. 

   vmhªh¼ß C¯À¦ ©ØÖ® Snõv]¯[PøÍ GÊxP. 

12. (a) Write down the characteristics of formal 
organization. 

   •øÓ\õº Aø©¨¤ß C¯À¦PÒ £ØÔ GÊxP. 

Or 

 (b) Write a short on importance of communication.  

   uPÁÀ öuõhº¤ß •UQ¯zxÁ® ]ÖSÔ¨¦ ÁøμP. 
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13. (a) Explain different types of communication. 

   £À÷ÁÖ ÁøP¯õÚ uPÁÀ öuõhº¤øÚ GÊxP. 

Or 

 (b) Write a short note on leadership style. 

   uø»ø©¨£s¦ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

14. (a) Briefly explain the various factors affecting 
individual performance. 

   uÛ|£›ß ö\¯À£õkPøÍ {ºn°US® PõμoPøÍ 

GÊxP. 

Or 

 (b) Write a short note on Herzberg’s motivation hygiene 
theory. 

   íºì£ºU FUSÂzuÀ ÷Põm£õk £ØÔ ]Ö SÔ¨¦ 

GÊxP. 

15. (a) Detail the concept of motivation and its behavior. 

   FUSÂzu £o ©ØÖ® _£õÁ® £ØÔ ÂÁ›UPÄ®. 

Or 

 (b) Write a short note on motivational dynamics. 

   FUSÂzu¼ß £s•PzvøÚ SÔ¨¤kP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain various functions of management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÁ›UPÄ®. 

17. Discuss various levels of management. 

 ÷©»õsø©°ß £À÷ÁÖ £o{ø»PøÍ ÂÁ›UPÄ®. 
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18. Describe various steps in planning. 

 vmhªh¼ß £À÷ÁÖ £iPøÍ GÊxP. 

19. Elaborately discuss the importance and techniques of 
communication in management. 

 ÷©»õsø©°À EÒÍ uPÁÀöuõhº¤ß •UQ¯zxÁ® ©ØÖ® 

~qUP[PøÍ ÂÁ›UPÄ®. 

20. Discuss various steps in controlling.  

 Pmk¨£kzxu¼ß £À÷ÁÖ £i{ø»PøÍ ÂÁ›UPÄ®. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define double entry system. 

 Cμmøh¨£vÄ •øÓ Áøμ¯Ö. 

2. State the any two importance of bank reconciliation 
statement. 

Á[Q \›Pmku¼ß •UQ¯zxÁ® CμsiøÚ TÖP. 

3. What do you know about error of commission? 

 ÷\ºzu¼ß £õÀ ¤øÇ £ØÔ } AÔÁÚ ¯õøÁ? 

4. Write different types of errors with suitable examples. 

 £À÷ÁÖ ÁøP¯õÚ PnUS£vÄ ¤øÇPøÍ E›¯ 

Euõμnzxhß GÊxP. 

5. What do you know about accommodation of bill? 

 J¨¦uÀ ©õØÖa^mk £ØÔ } AÔÁÚ ¯õøÁ? 

6. Give the meaning of discounting of a bill. 

 ©õØÖa^mk PÈzuÀ £ØÔ TÖP. 
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7. How will you treat the unsold goods in consignment? 

 ÂØ£øÚ¯õPõu \μUQøÚ AÝ¨¥mk PnUQÀ GÆÁõÖ 

PnUQkÁõ´? 

8. What is legacy? 

 E°À GßÓõÀ GßÚ? 

9. What is income and expenditure account? 

 Á¸©õÚ ©ØÖ® ö\»ÄU PnUS Gß£x ¯õøÁ? 

10. Write the adjustments related to subscription fee. 

 \¢uõuõμº öuõøP £ØÔ ]ÖSÔ¨¦ ÁøμP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss various accounting conventions. 

   £À÷ÁÖ ÁøP¯õÚ PnUS¨ £vÄU ÷Põm£õkPøÍ 

ÂÁ›UP. 

Or 

 (b) From the following information prepare profit and 
loss account : 

  Gross Profit   Rs. 60,000 

  Salary    Rs. 5,500 

  Carriage outwards  Rs. 3,000 

  Bad debts    Rs. 2,500 

  Interest on drawings  Rs. 200 and 

  Interest on capital  Rs. 150. 
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   RÌUPõq® Â£μ[PøÍU öPõsk C»õ£, |mhU 

PnUSPøÍz u¯õº ö\´P. 

   ö©õzu C»õ£®  ¹. 60,000 

   Fv¯®   ¹. 5,500 

   öÁÎyUSU T¼  ¹. 3,000 

   ÁõμõU Phß  ¹. 2,500 

   Gk¨¦ «uõÚ Ámi  ¹. 200 

   •uÀ «uõÚ Ámi  ¹. 150 

12. (a) State the type of error involved in the following 
transactions and say whether it will affect the 
agreement of the trial balance or not. 

(i) The sales book is overcast by Rs. 2,500. 

(ii) The purchases book is undercast by Rs. 1,500. 

(iii) The purchases return book is overcast by  
Rs. 5,000. 

(iv) The sales return book is undercast by  
Rs. 1,500.  

   RÌUPõq® ¤øÇPøÍ ÁøP¨£kzv AvÀ 

C¸¨£õ´ÂÀ uõUPzøu HØ£kzx©õ GÚU TÖP. 

   (i)  ÂØ£øÚ Hk ¹. 2,500/& AvP©õP 

©v¨¤h¨£mhx. 

   (ii) öPõÒ•uÀ Hk ¹. 1,500/& SøÓzx 

©v¨¤h¨£mhx. 

   (iii) ÂØ£øÚz v¸¨£ Hk ¹. 5,000/& AvP©õP 

©v¨¤h¨£mhx. 

   (iv) ÂØ£øÚz v¸¨£ Hk ¹. 1,500/& SøÓ¢x 

©v¨¤h¨£mhx. 

Or 
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 (b) Rectify the following errors : 

  (i) Purchases book is carried forward Rs. 850 less. 

  (ii) Sales book total is carried forward Rs. 3,500 
more. 

  (iii) A total of Rs. 7,550 in the purchases book has 
been carried forward as Rs. 8,570. 

  (iv) A credit sales to Mr. Sam worth of Rs. 3,000 
not recorded in sales book.  

   RÌUPõq® ¤øÇPøÍ \› ö\´P. 

   (i) öPõÒ•uÀ Hk ¹. 850/& SøÓUP¨£mk EÒÍx. 

   (ii) ÂØ£øÚ Hk ¹. 3,500/& Tku»õP GÊu¨£mk 

EÒÍx. 

   (iii) öPõÒ•uÀ HmiÀ ¹. 7,550/& uÁÖu»õP  

¹. 8,570/& BP GÊu¨£mkÒÍx. 

   (iv) v¸. \õ® AÁºPÐUS ÂØ£øÚ ö\´¯¨£mh 

Phß ÂØ£øÚ ¹. 3,000/& ÂØ£øÚ HmiÀ 

GÊu¨£hÂÀø». 

13. (a) Distinguish between bills of exchange and cheque. 

   ©õØÖa^miØS® Põ÷\õø»US©õÚ ÷ÁÖ£õk GÊxP. 

Or 

 (b) Mr. X, purchased goods from Mr. Y on credit on 
1.4.2012 and Mr. Y drew a bill for a period of two 
months for Rs. 25,000 on Mr. X for the same. Mr. X 
accepts the same on a same date. The bill was 
discounted at bank at 4% on 15th April 2012. You 
are required to prepare a necessary journal entries 
in the books of both the parties. 
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   v¸. X, Y °hª¸¢x PhÚõP \μUS Áõ[Q¯x 

01.04.2012 AßÖ ¹. 25,000 AuØPõÚ ©õØÖa^mk 

GÊu¨£mk X AÁºPÎh® J¨¦uÀ ö£Ó¨£mhx. A÷u 

©õØÖa^mk Á[Q°À 4 \uÃuzvÀ 15/04/2012 AßÖ 

PÈUP¨£mhx. uõ[PÒ C¸Á›ß HkPÎ¾® 

÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍ u¯õº ö\´¯Ä®. 

14. (a) Differentiate income and expenditure account from 
receipts and payments account. 

   Á¸©õÚ® ©ØÖ® ö\»ÄU PnUSUS® ©ØÖ® ö£ÖuÀ 

©ØÖ® ö\»ÄU PnUSUS® EÒÍ ÷ÁÖ£õmøh GÊxP. 

Or 

 (b) From the following details ascertain the amount of 
subscriptions to be credited to income and 
expenditure account for the year 2009. 

  Subscriptions received in 2009 — Rs. 58,000 which 
include Rs. 6,000 for 2008 and Rs. 8,000 for 2010. 
Subscriptions due but not received at the end of the 
year 2009 were Rs. 20,000. 

   RÌUPõq® Â£μ[PøÍU öPõsk 2009B® 

BsiØPõÚ \¢uõ öuõøPø¯U PnUQkP. 

   \¢uõ ö£ØÓx (2009) — ¹. 58,000/& AvÀ ¹. 6,000/&, 

2008ØS® ¹. 8,000/&, 2010ØS® BÚx. 

   2009 B® Bsiß ö£Ó ÷Ási¯ \¢uõ Áμõ©¼¸¨£x 

¹. 20,000/&. 

15. (a) How a joint venture is differing from partnership 
firm? 

   CønÂøÚ GÆÁõÖ Tmhõsø©°¼¸¢x 

÷ÁÖ£kQÓx? 

Or 
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 (b) R and M enter into joint venture to share the 
results as to 2 : 1 by introducing a capital of  
Rs. 2,50,000 and Rs. 1,50,000 respectively. The joint 
venture transactions are as under : 

 R in Rs. M in Rs.

Materials supplied 70,000 35,000

Sundry expenses paid 7,000 3,000

Sale proceeds received 90,000 45,000

  Show the journal entries and ledger accounts in the 
books of both the parties. 

   R ©ØÖ® M 2 : 1 GßÓ ÂquzvÀ CønÂøÚø¯ 

öuõh[QÚõº. öuõhUP® •u»õP ¹. 2,50,000/& ©ØÖ® 

¹. 1,50,000/& ö\¾zvÚº. AÁºPÎß |hÁiUøPPÒ 

¤ßÁ¸©õÖ. 

 R  M  

 ¹. ¹.

\μUS Áõ[Q¯x 70,000 35,000

£Ø£» ö\»ÄPÒ ö\´ux 7,000 3,000

ÂØ£øÚ 90,000 45,000

   C¸Á›ß HkPÎ¾® SÔ¨÷£mk¨ £vÄ ©ØÖ® 

÷£÷μmkU PnUSPøÍU Põs¤UPÄ®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain various accounting concepts and conventions. 

 £À÷ÁÖ ÁøP¯õÚ PnUS¨£vÂß öPõÒøPPÒ ©ØÖ® 

÷Põm£õkPøÍ ÂÁ›UPÄ®. 
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17. The following balances were extracted from the ledger of 
Ramakrishna Engineering Works on 31st March 2007. 
You are required to prepare a trial balance as on that 
date in proper form. 

Particulars Rs. Particulars Rs. 
Drawings 6,000 Salaries 9,500
Capital 24,000 Purchase returns 1,000
Sundry creditors 43,000 Traveling expenses 4,600
Bills payable 4,000 Commission paid 100
Sundry debtors 50,000 Trading expenses 2,500
Bills receivable 5,200 Discount earned 4,000
Loan from Karthick 10,000 Rent 2,000
Furniture 4,500 Bank overdraft  6,000
Opening stock 47,000 Purchases 70,800
Cash in hand 900 Cash at bank 12,500
Tax 3,500 Sales 1,28,000

 RÌUPõq® ÂÁμ[PøÍU öPõsk μõ©Q¸ènõ ö£õÔ°¯À 

{ÖÁÚzvØS 31/03/2007 AßøÓ¯ C¸¨£õ´ÂøÚ u¯õº 

ö\´P. 

 ¹.  ¹.
Gk¨¦ 6,000 Fv¯® 9,500
•uÀ 24,000 öPõÒ•uÀ 

v¸¨£® 
1,000

PhÜ¢÷uõº 43,000 £¯na ö\»Ä 4,600
ö\¾zxuØS›¯ 
©õØÖa^mk 

4,000 PÈÄ 
ö\¾zv¯x 

100

PhÚõÎPÒ 50,000 Â¯õ£õμa 
ö\»Ä 

2,500

ö£ÖuØS›¯ ©õØÖa^mk 5,200 uÒÐ£i 
ö£ØÓx 

4,000

PõºzvUQh® Phß ö£ØÓx 10,000 ÁõhøP 2,000
AøÓP»ß 4,500 Á[Q ÷©À 

Áøμ¨£ØÖ  
6,000

öuõhUPa \μUQ¸¨¦ 47,000 öPõÒ•uÀ 70,800
øP°¸¨¦ öμõUP® 900 Á[Q öμõUP® 12,500
Á› 3,500 ÂØ£øÚ 1,28,000
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18. Journalize the following transactions of Mrs. Ram. 

  Rs.

2004 Jan 1 Rama commenced business with cash 30,000

2 Paid into bank 21,000

3 Purchased goods by cheque 15,000

7 Drew cash from bank for office use 3,000

15 Purchased goods from Siva 15,000

20 Cash sales 30,000

25 Paid to Siva 14,750

 Discount received 250

31 Paid rent 500

 Paid salaries 2,000

 RÌUPõq® Â£μ[PøÍU öPõsk v¸©v μõ® AÁºPÐUS 

SÔ¨÷£k GÊxP. 

  Rs.

2004 áÚ 1 öuõÈÀ öuõh[Q¯x 30,000

2 Á[Q°À ö\¾zv¯x 21,000

3 Põ÷\õø» ‰»® öPõÒ•uÀ ö\´ux 15,000

7 Á[Q°¼¸¢x A¾Á»Pa ö\»ÄUPõP 

£n® Gkzux 

3,000

15 ]ÁõÂh® öPõÒ•uÀ ö\´ux 15,000

20 öμõUP ÂØ£øÚ 30,000

25 ]ÁõÂØS ö\¾zv¯x 14,750

 AvÀ uÒÐ£i ö£ØÓx 250

31 ÁõhøP ö\¾zv¯x 500

 \®£Í® Áõ[Q¯x 2,000
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19. P & B under took jointly to construct a building for Z Ltd. 
For a contract price of Rs. 1,80,000, the price was to be 
paid Rs. 90,000 in cash and the balance in shares of Z 
Ltd. A banking account was opened jointly, P 
contributing Rs. 40,000 and B Rs. 45,000. They agreed to 
share profit of loss in proportion of 3/5 : 2/5. The joint 
venture transactions were as under : 

Materials purchased Rs. 75,000; Wages paid Rs. 45,000; 
Establishment expenses paid Rs. 7,000. The contract was 
completed and price was received. The share were sold for 
Rs. 80,000. B took over the unused materials at Rs. 3,000.   
Prepare necessary entries in the books of Both Parties. 

 P ©ØÖ® B CønÂøÚ°ß ‰»® Z AÁºPÐUS Pmih® 

PmkÁuØPõÚ J¨£¢u® ö£ØÓÚº. J¨£¢u Âø»  

¹. 1,80,000/&. AvÀ ¹. 90,000/& EhÚi¯õP¨ ö£Ó¨£mhx 

«u® Z {ÖÁÚzvß £[SPÍõP¨ ö£Ó¨£mhx. ‘P’ AÁºPÒ 

¹. 40,000/& •® BPÄ® B AÁºPÒ ¹. 45,000•® ÁÇ[Q 

Á[QU PnUS öuõh[QÚº. 

 ÷©¾® C¸Á¸® C»õ£ |mhzøu 3/5 : 2/5 GßÓ ÂQuzvÀ 

¤›zxU öPõÒÍ JzxU öPõshÚº. CønÂøÚ°ß 

|hÁiUøPPÒ ¤ßÁ¸©õÖ : 

 \μUS Áõ[Q¯x ¹. 75,000/& 

 T¼ öPõkzux ¹. 45,000/& 

 Ai¨£øha ö\»ÄPÒ ¹. 7,000/& 

 £o•i¢u ¤ÓS AuØPõÚ öuõøP ö£Ó¨£mhx. ¤ßÚº Z 

{ÖÁÚ £[S ¹. 80,000US ÂØP¨£mhx. B AÁºPÒ 

£¯ß£kzxuØPõÚ \μUQøÚ ¹. 3,000/&US 

GkzxUöPõshõÀ CÁºPÎß ¦zuP[PÎÀ ÷uøÁ¯õÚ 

£vÄPøÍz u¯õº ö\´P.   
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20. A fire occurred in the premises of Mr. Vignesh on 15th 
August 2005. A large part of the stock was destroyed and 
Rs. 90,000 was realized for salvage. For the period from 
1st January 2005 to 15th August 2005, the following 
information is available : 

(a) Purchases amounted to Rs. 52,500. 

(b) Sales amounted to Rs. 70,000. 

(c) Stock on hand on 1st January 2005 was Rs. 25,000 
at cost price. 

(d) Goods costing Rs. 3,500 were taken by Vighesh for 
his personal use. 

 The previous accounts reveal that the rate of gross 
profits was 25% on sale. The insurance policy was 
for Rs. 40,000 and included and average clause. 

 Prepare the statement of claim to be made on the 
insurance company.  

 v¸. ÂU÷Úè AÁºPÎß A¾Á»PzvÀ 15/08/2015 AßÖ 

w Â£zx HØ£mhx. AvÀ ö£¸Áõ›¯õÚ \μUSPÒ 

÷\u©õ°Ú ¹. 90,000/& ©v¨¦ÒÍ \μUSPÒ Gg]¯x. 

01/01/2005 •uÀ 15/08/2005 Áøμ°»õÚ uPÁÀPÒ 

¤ßÁ¸©õÖ. 

 (A) öPõÒ•uÀ ö\´ux ¹. 52,500. 

 (B) ÂØ£øÚ ö\´ux ¹. 70,000. 

 (C) 01/01/2005 AßÖ \μUS C¸¨¤ß ©v¨¦ (AhUP 

Âø»°À ¹. 25,000) 

 (D) ¹. 3,500/& ©v¨¦ÒÍ \μUPõÚx ÂU÷Úè AÁºPÍõÀ 

ö\õ¢u ÷uøÁUS GkzxU öPõÒÍ¨£mhx. 

 (E) Ph¢u Bsiß AÔUøP°ß£i A¢u {ÖÁÚzvß 

ö©õzu C»õ£® ÂØ£øÚ°ß «x 25 \uÃu® Põ¨¥mkz 

vmh® \μõ\› •øÓ°À ¹. 40,000/& BP 

PnUQh¨£mkÒÍx. Cuß ‰»® Põ¨¥mk 

{ÖÁÚzvÀ ö£Ó ÷Ási¯ CÇ¨¥miøÚU PnUQkP. 

———————— 
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Second Semester 
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MANAGERIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is wealth? 

 ö\õzx GßÓõÀ GßÚ? 

2. State any three characteristics of human wants. 

 ©Ûu Â¸¨£zvß H÷uÝ® ‰ßÖ C¯À¦PøÍ GÊxP. 

3. Give the meaning demand. 

 ÷uøÁ Aºzu® TÖP. 

4. List any three characteristics of demand curve. 

 ÷uøÁ ÷Põmiß C¯À¦PÒ H÷uÝ® ‰ßÔøÚ GÊxP. 

5. What is meant by market? 

 \¢øu GßÓõÀ GßÚ? 

6. Mention any three advantages of monopoly. 

 •ØÖ›ø©°ß ‰ßÖ |ßø©PÒ SÔ¨¤kP. 

7. What is pricing policy? 

 Âø»°¯À GßÓõÀ GßÚ? 

Sub. Code 
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8. What do you know about price discrimination? 

 Âø» ÷ÁÖ£õk £ØÔ } AÔÁÚ ¯õøÁ? 

9. Brief business cycle. 

 Â¯õ£õμ _ÇØ] SÔ¨¤kP. 

10. Write a few lines on inflation. 

 £nÃUP® £ØÔ K›¸ Á›PÒ GÊxP. 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Describe the features of wealth. 

   ö\õzvß C¯À¦PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Discuss the relation between marginal cost and 
marginal revenue. 

   TkuÀ Âø» ©ØÖ® TkuÀ Á¸Áõ´ £ØÔ 

ÂÁõvUPÄ®. 

12. (a) Explain the determinants of demand. 

   ÷uøÁ°øÚ {ºn°US® PõμoPÒ ÂÁ›UPÄ®. 

Or 

 (b) What do you know about law of supply?  Explain.  

   AÎ¨¦ Âv  £ØÔ } AÔÁÚ ¯õøÁ? ÂÁ›. 

13. (a) What is imperfect competition?  Explain its 
significance. 

   •øÓ\õº AÀ»õu ÷£õmi GßÓõÀ GßÚ? Auß 

C¯À¦PÒ ÂÁõvUPÄ®. 

Or 

 (b) Detail the nature of duopoly. 

   Döμõ¸ø©°ß C¯À¦PÒ ÂÁ›. 
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14. (a) What are the factors influences in price setting? 

   Âø» {ºn°zu¼ß PõμoPÒ ¯õøÁ? 

Or 

 (b) Explain any two pricing policies with suitable 
examples. 

   H÷uÝ® C¸ Âø»U öPõÒøP°øÚ ÂÁ›. 

15. (a) Explain the nature of business cycle. 

   öuõÈØ_ÇØ]°ß C¯À¦PøÍ ÂÁ›. 

Or 

 (b) Explain the consequences of deflation. 

   £nÁõmhzvß ÂøÍÄPøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Write elaborately the nature and scope of managerial 
economics. 

 ÷©»õsø© ö£õ¸Î¯¼ß SÔU÷PõÒ ©ØÖ® C¯À¦øÚ 

GÊxP. 

17. Discuss law of demand with suitable table, graph and 
interpretation. 

 ÷uøÁ°ß AmhÁøn Áøμ£h® ©ØÖ® SÔ¨¤kuÀ ‰»® 

÷uøÁ Âvø¯ ÂÁõvUPÄ®. 

18. Explain the classification of market with necessary 
explanation. 

 \¢øuPÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

19. Elaborate various pricing strategies and policies. 

 £À÷ÁÖ Âø»U öPõÒøPPøÍ ÂÁ›. 

20. "Gradual growth of inflation is an indication of growth of 
a nation" — Comment.  

 "{uõn©õÚ £nÂQu® ÁÍºa] Gß£x ÷u\zvß ÁÍºa]" – 

P¸zx TÖP. 

––––––––––––– 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by incomplete record of accounting? 

 •Êø© ö£Óõ £vÄ GßÓõÀ GßÚ? 

2. What is meant by conversion of accounting? 

 ©õØÖuÀ •øÓ GßÓõÀ GßÚ? 

3. Brief the term ‘‘dependent branch’’. 

 \õº¢xÒÍ QøÍ GßÓõÀ GßÚ? 

4. State any two differences between department from 
branch. 

¤›ÂØS®, QøÍUS® Cøh÷¯¯õÚ Cμsk ÷ÁÖ£õk 

GÊxP. 

5. What do you know about deficiency account? 

 £ØÓõUSøÓ PnUS GßÓõÀ GßÚ? 

Sub. Code 
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6. What do you know about Presidential Towns Act? 

 Presidential Towns \mh® £ØÔ } AÔÁÚ ¯õøÁ? 

7. What is short working? 

 £ØÓõUSøÓ GßÓõÀ GßÚ? 

8. What do you know about recoupment? 

 v¸®£ö£ÓÀ GßÓõÀ GßÚ? 

9. Bring out meaning of hire purchase price. 

 ÁõhøP öPõÒ•uÀ Âø» GßÓõÀ GßÚ? 

10. Write a few line on instalment. 

 uÁøn SÔzx K›¸ Á›PÒ GÊxP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A Mr. Mano keeps his books of accounts under 
single entry system. His financial position on 
31.12.2000 and 31.12.2001 was as follows : 

Particulars 2000 2001

 Rs. Rs.

Cash 9,860 800

Stock in trade 38,520 57,020

Plant & Machinery 54,420 61,000

Bills receivable — 16,480

Sundry creditors 72,040 80,000

Sundry debtors 24,840 43,940

Furniture 4,960 5,220

Drawings — 5,000
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   During the year the introduced additional capital of 
Rs. 20,000, from the above particulars. 

   Prepare a statement of profit and loss of Mr. Mano 
for the year ended 31.12.2001. 

   v¸. ©÷Úõ AÁºPÒ uÚx PnUQøÚ JØøÓ £vÄ 

•øÓ°À u¯õ›zx Á¸QÓõº. 31.12.2000 ©ØÖ® 

31.12.2001 AßøÓ¯ {»Áμ® ¤ßÁ¸©õÖ. 

Â£μ® 2000 2001

 ¹. ¹.

öμõUP® 9,860 800

\μUQ¸¨¦ 38,520 57,020

ö£õÔ & C¯¢vμ® 54,420 61,000

ö£ÖuØS›¯ ©õØÖ^mk — 16,480

£Ø£» PhÜ¢÷uõº 72,040 80,000

£Ø£» PhÚõÎPÒ 24,840 43,940

AøÓP»ß 4,960 5,220

Gk¨¦ — 5,000

   A¢usk Cøh°À TkuÀ •uÀ ÁÇ[Q¯x ¹. 20,000. 

÷©ØTÔ¯ ÂÁμ[PøÍU öPõsk 31.12.2001 

AßøÓUPõÚ »õ£ |mh AÔUøP u¯õº ö\´P. 

Or 

 (b) From the following details find out the credit 
purchases and total purchases : 

Particulars Rs. 

Cash purchases 29,000

Bills payable (Opening) 7,500

Bills payable (Closing) 2,500

Creditors (Opening) 20,000
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Particulars Rs. 

Creditors (Closing) 18,000

Cash paid to creditors 25,000

Bills payable paid during the year 10,500

Purchase returns 1,500

Allowances from creditors 800

Bills payable dishonored 300

   RÌPõq® ÂÁμ[PøÍ öPõsk Phß ©ØÖ® ö©õzu 

öPõÒ•uø» PnUQkP. 

ÂÁμ® ¹. 

öμõUP öPõÒ•uÀ 29,000

ö\.©õ.^mk (öuõhUP®) 7,500

ö\.©õ.^mk (CÖv) 2,500

PhÜ¢÷uõº (öuõhUP®) 20,000

PhÜ¢÷uõº (CÖv) 18,000

PhÜ¢÷uõºUS ö\¾zv¯x 25,000

|h¨¦ BsiÀ ö\¾zu ÷Ási¯x 10,500

öPõÒ•uÀ v¸¨£® 1,500

uÒÐ£i ö£ØÓx 800

©õ.^mk {μõP›UP¨£mhx 300

12. (a) What are the different ways to account branch 
transactions? 

   QøÍ PnUSPÎß £À÷ÁÖ ÁøPPøÍ ¯õøÁ? 

Or 
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 (b) Tip top Co Ltd. Delhi has a branch at Calcutta. It 
invoices goods to the branch at selling which is cost 
plus 33.33%. From the following particulars prepare 
branch account. 

  Stock on 1st Jan 2008 (invoice price) — Rs. 15,000 

  Debtors on 1st Jan 2008 — Rs. 11,400 

  Goods invoiced to branch during the year at invoice 
price — Rs. 67,000 

  Sale at branch (Cash — Rs. 31,000 + Credit —  
Rs. 37,400) — Rs. 68,400. 

  Cash received from debtors — Rs. 40,000 

  Discount allowed to customers — Rs. 300 

  Bad debts written off — Rs. 250 

  Cheque sent to branch — (Salaries + Sundry 
expenses) — Rs. 6,700 

  Stock on 31st Dec 2008 (invoice price) — Rs. 13,400.   

   i¨hõ¨ öhÀ¼ {ÖÁÚ® PÀPzuõÂÀ QøÍ öPõsk 

EÒÍx. Cx uß QøÍUS AhUP Âø»²hß 

33.33%zvÀ \μUQøÚ AÝ¨¦QÓx. RÌÁ¸® 

ÂÁμ[PøÍ öPõsk QøÍ PnUS u¯õº ö\´P. 

   áÚÁ› 1, 2008 öuõhUP \μUQ¸¨¦ (Chõ¨¦ Âø») — 

¹. 15,000 

   áÚÁ› 1, 2008 öuõhUP PhÚõÎPÒ – ¹. 11,400 

   |h¨¦ BsiÀ \μUS AÝ¨¤¯x —¹. 67,000 

   QøÍ°ß ÂØ£øÚ (öμõUP® — ¹. 31,000 + Phß —¹. 

37,400) — ¹. 68,400. 

   PhÚõÎ°h® öμõUP® ö£ØÓx — ¹. 40,000 

   uÒÐ£i AÎzux — ¹. 300 

   ÁõμõPhß JxUS — ¹. 250 

   QøÍUS Põ÷\õø» AÝ¨¤¯x — (\®£Í® + Cuμ 

ö\»ÄPÒ) — ¹. 6,700  

   i\®£º 31, 2008 CÖv \μUQ¸¨¦ (Chõ¨¦ Âø») — 

¹. 13,400. 
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13. (a) Mr. Careless has been adjudged on Jan 1, 2005 his 
creditors as under : Trade Creditors Rs. 1,00,000; 
Income Tax — Rs. 1,000, Municipal due Rs. 800; 
Salary for 8 clerks for two months Rs. 3,000; Wages 
of four labourers for two months Rs. 360; Private 
creditors Rs. 8,000. Rent due to landlord for two 
months Rs. 2,400. Find out the amount due to 
unsecured creditors and preferential creditors 
according to Provincial Insolvency Act. 

   Mr. Careless AÁºPÎß áÚÁ› 1, 2005 UPõÚ Phß 

Â£μ[PÒ ¤ßÁ¸©õÖ : PhÜ¢÷uõº — ¹. 1,00,000; 

Á¸©õÚÁ› — ¹. 1,000; |Pμõm] {¾øÁ —  

¹. 800; 8 GÊu¸UPõÚ Cμsk ©õu \®£Í® —  

¹. 3,000; T¼ —¹. 360; PhÜ¢÷uõº — ¹. 8,000; 

Cμsk ©õu ÁõhøP £õUQ —¹. 2,400. ¤øn°À»õ 

PhÜ¢÷uõº ©ØÖ® •ßÝ›ø© PhÜ¢÷uõº £õUQø¯ 

©õPõn vÁõÀ ußø© \mhzvß £i Psk¤iUP. 

Or 

 (b) A Merchant become insolvent on 1.1.2002. On that 
date, his total assets were Rs. 7,500 and his 
liabilities Rs. 6,500 and the estimated deficiency of 
Rs. 2,000 before taking the following items to into 
consideration : 

  (i) Interest on capital of Rs. 150 for one year at 
5% p.a. 

  (ii) Liability on bills discounted Rs. 300 on bills 
discounted by him Rs. 800. 

  (iii) Outstanding expenses for wages etc. to be 
treated as preferential Rs. 240. 

  (iv) Loan from a friend Rs. 500 and a loan from his 
wife Rs. 200. 

   Prepare a statement of affairs and deficiency 
A/c on the basis of data given above. 



F–5163 

  

  7

   1.1.2002 AßÖ J¸ Â¯õ£õ› ö|õizuÁμõP 

AÔÂUP¨£kQÓõº. AÁμx ö\õzxPÒ — ¹. 7,500 

©ØÖ® ö£õÖ¨¦PÒ — ¹. 6,500 RÌPõq® ÂÁμ[PøÍ 

P¸zvÀ GkUS® •ß Gvº ÷|õUS® £ØÓõUSøÓ öuõøP 

¹.2,000 ©ØÖ® Gvº£õºUP¨£kQßÓ £ØÓõUSøÓ 

öuõøP°øÚ PnUQkP. 

   (i) •uÀ «x Ámi ¹. 150 J¸ Á¸hzvØS  

 @ 5% p.a.  

   (ii) ©õØÖa^mk Ámhªmh öuõøP ¹. 300 AÁØÔÀ 

©õØÖa^mk Ámhªmhzvß ö£õÖ¨¦ ¹. 800 

BS®. 

   (iii) öPõk£hõ T¼ •ßÝ›ø© ö£ØÓx ¹. 240.  

   (iv) |s£›ß Phß ¹. 500 ©ØÖ® ©øÚÂ°h® ö£ØÓ 

Phß ¹. 200. 

    {ø»SÔ¨¦ ©ØÖ® £ØÓõUSøÓ PnUQøÚ u¯õº 

ö\´P. 

14. (a) A company leased a colliery on 1.1.92 at a minimum 
rent of Rs. 20,000 merging into royalty of Rs. 1.50 
per tone with the recoup shortworkings over the 
first four years of the lease. The output of the 
colliery for the first four years was 9,000 tonnes, 
12,000 tonnes, 10,000 tonnes, 16,000 tonnes 
respectively. Give journal entries and ledger 
accounts for four years in the books of lessee. 

   1.1.92 AßÖ Kº {ÖÁÚ® _μ[P® JßøÓ ¹. 20,000 

SøÓ¢u£m\ ÁõhøPUS ö£ØÓx. Auß ‰»® hß 

JßÖUS ¹. 1.50 £Pi öPõk¨£uõP J¨£¢u® 

÷£õh¨£mhx. •uÀ |õßS BskPÐUS Gk¨¤ß 

AÍÄ 9,000 hß, 12,000 hß, 10,000 hß ©ØÖ® 16,000 

hß •øÓ÷¯. C¸Á¸US©õÚ SÔ¨÷£k ©ØÖ® ÷£÷μk 

u¯õº ö\´P. 

Or 
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 (b) What do you know about flexible recoupment? 

   {ø»¯ØÓ v¸®£ö£ÓÀ £ØÔ } AÔÁÚ ¯õøÁ? 

15. (a) On 1st April, 2008, Bihar Collieries obtained a 
machine on the hire purchase system, the total 
amount payable being Rs. 2,50,000. Payment was to 
be made Rs. 50,000 down and the balance in four 
annual instalments of Rs. 50,000 each. Interest 
charged was at the rate of 15 per cent. At what 
value should the machine be capitalized? 

   1 H¨μÀ, 2008 ¥Põº _μ[P® C¯¢vμ® JßøÓ ÁõhøP 

öPõÒ•uÀ •øÓ°À Áõ[Q¯x. ö©õzu ©v¨¦ — ¹. 

2,50,000. EhÚi öuõøP¯õP ¹. 50,000, «u® |õßS 

Á¸h uÁøn¯õP ¹. 50,000 ÁÇ[P¨£mhx. Ámi 15% 

PnUQh¨£mhx. C¯¢vμzvß AhUPÂø» GßÚ 

Gß£øu PõsP. 

Or 

 (b) On April 1, 1991 Reclamation Limited took delivery 
of a truck from Temple Truck Dealers on hire 
purchase. Payment to be made by three equal 
instalments of Rs. 3,000 each. On March 31, 1993 
and 1994. The cash value of the truck was Rs. 8,170, 
the Vendors charging interest at 5% per annum on 
yearly balance. Reclamation Limited provide 25% 
depreciation on diminishing balance method. 
Calculate yearly interest to be charged to Profit and 
Loss Account. 

   H¨μÀ 1, 1991, Reclamation {Ö©® \μUS ÁõPÚ® 

JßøÓ Temple ÁõPÚ {ÖÁÚzvh® ÁõhøP 

öPõÒ•uÀ •øÓ°À Áõ[Q¯ Â£μ® ¤ßÁ¸©õÖ : 

   ¹. 3,000 Bsk uÁøn BPõ ‰ßÖ BskPÐUS®, 

\μUS ÁõPÚzvß öμõUP Âø» ¹. 8,170, 5% Ámi 

PnUQh¨£kQÓx. Reclamation {Ö©® 25% 

÷u´©õÚ® SøÓ¢xö\À ©v¨¦ •øÓ°À 

PnUQkQÓx. ‰ßÖ BskPÐUPõÚ Ámi ©ØÖ® 

»õ£ |mhPnUQøÚ u¯õº ö\´P. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Ajay keeps his books by the single entry method. His 
position on 31.12.2015 and 31.12.2016 was as follows : 

Particulars 31.12.2015 31.12.2016
 Rs. Rs. 
Cash in hand 250 300
Cash at bank 2,750 2,200
Stock in hand 21,000 18,000
Sundry debtors 7,500 12,000
Fixtures and Fittings 1,750 1,575
Machinery 15,000 25,000
Sundry creditors 18,000 23,000

 During the year, Ajay introduced Rs. 5,000 as further 
capital in the business and withdrew Rs. 600 pm. From 
the above, prepare statement showing the profit or loss 
made by him for the year ended 31.12.2016.  

 Aá´ uÚx PnUSPøÍ JØøÓ¨£vÄ •øÓ°À 

øÁzxÒÍõº. 31.12.2015 ©ØÖ® 31.12.2016 AÁμx ÂÁμ® 

¤ßÁ¸©õÖ : 

ÂÁμ® 31.12.2015 31.12.2016
 ¹. ¹.

öμõUP® 250 300
Á[Q 2,750 2,200
\μUQ¸¨¦ 21,000 18,000
£Ø£» PhÚõÎPÒ 7,500 12,000
©øÚzxøn¨ ö£õ¸mPÒ 1,750 1,575
C¯¢vμ® 15,000 25,000
£Ø£» PhÜ¢÷uõº 18,000 23,000

 |h¨¦ BsiÀ Aá´ TkuÀ •uÀ ö\¾zv¯x ¹. 5,000. 

©õu® ¹. 600 Gk¨¦ GkUP¨£mhx. Bsk CÖv PnUøP 

31.12.2016 CuøÚ öPõsk Â¯õ£õμ »õ£|mh PnUQøÚ 

u¯õº ö\´P. 
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17. From the following information, prepare departmental 

trading and profit & loss a/c in a columnar form of the 

three departments of Sharma Dry Cleaners ltd. 

Particulars Dry Cleaning  Darning Dying

 Rs. Rs. Rs. 

Stock 1st Jan 2006 4,00,000 3,40,000 9,40,000

Stock 31st December 2006 3,30,000 4,38,000 8,17,000

Purchases 19,59,000 6,97,000 13,73,000

Sales 40,00,000 20,00,000 40,00,000

Wages 7,28,000 3,00,000 2,46,000

 Goods were transferred from one department to another 

at a cost price as follows : 

 (a) Darning to dry cleaning Rs. 2,400 and dyeing  

Rs. 40,200. 

 (b) Dyeing to dry cleaning Rs. 25,800 and darning  

Rs. 18,000. 

 (c) Dry cleaning to darning Rs. 3,000 and dyeing  

Rs. 24,000. 

  Apportion equally : 

  Stationery Rs. 5,418 

  Postage Rs. 4,050 

  General expenses Rs. 2,37,618 
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  Insurance Rs. 10,080 

  Depreciation Rs. 32,598 

  Rent & taxes Rs. 1,80,000 is to be split in proportion 

to space occupied i.e., dry cleaning 4, darning 2, and 

other space 2. 

 J¸ {ÖÁÚ® ‰ßÖ •UQ¯©õÚ xøÓPøÍU öPõsk 

ö\¯À£kQßÓx. RÌUPõq® ÂÁμ[PøÍ öPõsk åº©õ 

{ÖÁÚzvßxøÓ xøÓÁõ› Â¯õ£õμ PnUS ©ØÖ® 

C»õ£|mh PnUQøÚ u¯õº ö\´P. 

ÂÁμ® Dry Cleaning  Darning Dying

 ¹. ¹. ¹. 

\μUQ¸¨¦ 1 áÚÁ› 2006 4,00,000 3,40,000 9,40,000

\μUQ¸¨¦ 31 i\®£º 2006 3,30,000 4,38,000 8,17,000

öPõÒ•uÀ 19,59,000 6,97,000 13,73,000

ÂØ£øÚ 40,00,000 20,00,000 40,00,000

T¼ 7,28,000 3,00,000 2,46,000

 J¸ xøÓ°¼¸¢x ©ØÓ xøÓPÐUS \μUS AÝ¨¤¯x. 

 (A) Darning ¼¸¢x dry cleaning ¹. 2,400 ©ØÖ® dyeing 
¹. 40,200. 

 (B) Dyeing ¼¸¢x dry cleaning ¹. 25,800 ©ØÖ® 
darning ¹. 18,000. 

 (C) Dry cleaning ¼¸¢x darning ¹. 3,000 ©ØÖ® dyeing 
¹. 24,000. 

  \©©õP PnUQkP : 

  GÊxö£õ¸Ò ¹. 5,418 

  u£õÀ ¹. 4,050 
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  ö£õx ö\»ÄPÒ ¹. 2,37,618 

  Põ¨¥k ¹. 10,080 

  ÷u´©õÚ® ¹. 32,598 

  ÁõhøP ©ØÖ® Á›PÒ ¹. 1,80,000, dry cleaning, 

darning, Cuμ CøhöÁÎ 4 : 2 : 2 GßÓ ÂQuzvÀ 

PnUQhÄ®. 

18. A merchant became insolvent on 1.1.2002. On that date 
his total assets were Rs. 7,500 and his liabilities Rs. 7,000 
and estimated deficiency of Rs. 1,000 before taking the 
following items into consideration. 

(a) Interest on capital of Rs. 2,500 for one year at 10% 
p.a. 

(b) Liability on bills discounted Rs. 4,000 on bills 
discounted by him Rs. 6,000. 

(c) Outstanding expenses for wages etc. to be treated as 
preferential Rs. 1,500. 

(d) Loan from a friend Rs. 5,000 and loan from his wife 
Rs. 3,000. 

 Prepare a statement of affairs and deficiency a/c on 
the basis of data given above. 

 1.1.2002 AßÖ J¸ Â¯õ£õ› ö|õizuÁμõP 

AÔÂUP¨£kQÓõº. AÁμx ö\õzxPÒ — ¹. 7,500 ©ØÖ® 

ö£õÖ¨¦PÒ — ¹. 7,000 ©ØÖ® Gvº£õºUP¨£kQßÓ 

£ØÓõUSøÓ öuõøP°øÚ PnUQkP. 

 (A) •uÀ «x Ámi¹. 2,500 J¸ Á¸hzvØS @ 10% p.a.  

 (B) ©õØÖa^mk Ámhªmh öuõøP ¹. 4,000 AÁØÔÀ 

©õØÖa^mk Ámhªmhzvß ö£õÖ¨¦ ¹.6,000 BS®.  

 (C) öPõk£hõ T¼ •ßÝ›ø© ö£ØÓx ¹. 1,500. 
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 (D) |s£›ß Phß ¹. 5,000 ©ØÖ® ©øÚÂ°h® ö£ØÓ 

Phß ¹. 3,000  

  {ø»SÔ¨¦ ©ØÖ® £ØÓõUSøÓ PnUQøÚ u¯õº 

ö\´P. 

19. Ravi took a colliery on lease. He dead rent was Rs. 750 a 
year, merging into a royalty of 35 paise per ton of coal 
raised, with the right to recover shortworkings out of 
royalties of two subsequent years from the period in 
which the shortworkings arose. The outputs raised were : 

I year — 1,000 tonnes 

II year — 1,500 tonnes 

III year — 2,500 tonnes 

IV year — 1,500 tonnes 

V year — 1,000 tonnes 

Give the necessary ledger a/c for each of the five years in 
the books of Ravi.  

 μÂ AÁºPÎß SzuøP ÂÁμ® ¤ßÁ¸©õÖ : Bsk £Pi ¹. 

750, Põ¨¦›ø©  Pmhn® hß JßÖUS 35 ø£\õ, SøÓ «m¦ 

Põ»® SøÓz öuõøP HØ£mh Põ»® {¾øÁ öuõøP Cμsk 

BskUS J¨¦u¾hß ¤ßÁ¸©õÖ Gk¨¤ß AÍÄ : 

I Bsk — 1,000 hß 

II Bsk — 1,500 hß 

III Bsk — 2,500 hß 

IV Bsk — 1,500 hß 

V Bsk — 1,000 hß 

 μÂ AÁºPÎß I¢x BsiØPõÚ ÷£÷μkPøÍ u¸P. 
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20. Kareem Restaurant purchased from E.C. Ltd. A Colour 
T.V set on 1st October 2010 on the hire-purchase system. 
The cash price of the set was Rs. 15,000. Terms of 
payment were Rs. 1,500 down and Rs. 4,000 half yearly 
over two years, the first instalment was to be paid on 31st 
March, 2011. Rate of interest was 12% per annum. 

Kareem Restaurant wrote off 15% depreciation per 
annum on reducing instalments basis and closed its 
books every year on 31st March. It could not pay the 
second instalment due on 30th September 2011 and as a 
consequence, EC Ltd. repossessed the T.V. Set. 

Prepare TV Set Account and the hire vendor’s account in 
Kareem Restaurant’s ledger. Also calculate the loss 
suffered by Kareem Restaurant on repossession of T.V. 
Set by E.C. Ltd. Make all calculation to the nearest 
rupee.  

 PŸ® AÁºPÒ E.C. {ÖÁÚzvh® J¸ öuõø»Põm]°øÚ  

1 AU÷hõ£º 2010&À Áõ[QÚõº. öuõø»Põm]°ß öμõUP 

Âø» — ¹. 15,000. •ß£n©õP ¹. 1,500®, ¤ßÚº  

¹.4,000 Aøμ¯õsk uÁøn°¾® Cμsk BskPÐUS 

ö\¾zx©õÖ JÆöÁõ¸ Bsk® ©õºa 31 CÖv HmiÀ 

SøÓ¢u uÁøn J¨¦öPõshx. ÷©¾® •uÀ ©õu uÁøn 

©õºa 31 ö\¾zu¨£mhx. Ámi ÂQu® J¸ BsiØS 12%.  

öuõø»UPõm]¯õÚx 15% ÷u´©õÚ® PnUQh¨£mhx. 

BÚõÀ PŸ©õÀ CμshõÁx uÁøn ö\¨h®£º 30, 2011 

ö\¾zu C¯»õuuõÀ E.C. {ÖÁÚ® AuøÚ øP¨£ØÔ¯x. 

PŸ® öμìhõμsm HØ£mh |èhzøu E.C. {ÖÁÚzvh® 

C¸¢x T.V. øÁ v¸®£ ö£ÖuÀ. PŸ® AÁºPÎß HkPÎÀ 

öuõø»UPõm] ©ØÖ® ÂØ£øÚ¯õÍº AøÚzx 

PnUQøÚ²® ¹£õ´ v¸zuzvÀ u¯õº ö\´P.  

———————— 



  

F–5165   

B.Com. (CS) DEGREE EXAMINATION, APRIL 2021 &

Third Semester 

Corporate Secretaryship 

PARTNERSHIP ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is partnership deed? 

 Tmhõsø© £zvμ® GßÓõÀ GßÚ? 

2. What is Revaluation Account? 

 ©Ö©v¨¥k PnUS GßÓõÀ GßÚ? 

3. What is Memorandum Revaluation Account? 

 {øÚÄ ©Ö©v¨¥k PnUS GßÓõÀ GßÚ? 

4. What is meant by conversion of firm into a company? 

 Tmk {ÖÁÚ® P®ö£Û¯õP ©õØÓ¨£kuÀ GßÓõÀ GßÚ? 

5. What is realization account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

6. Define Goodwill? 

 |Øö£¯º ÁøμÂ»UPn® u¸P. 
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7. Write any four rights of a retiring partner. 

 Â»S® TmhõÎ°ß H÷uÝ® |õßS E›ø©PÒ ¯õøÁ? 

8. What is Gaining Ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

9. What is fluctuating capital? 

 ©õÖ£mh •uÀ GßÓõÀ GßÚ? 

10. Who is an Insolvent Partner? 

 ö|õi¨¦{ø» £[Suõμº ¯õº? 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain any five important contents of partnership 
deed. 

   Tmhõsø©°ß J¨£¢uzvß H÷uÝ® I¢x •UQ¯ 

SÔ¨¦PøÍ ÂÁ›UP. 

Or 

 (b) From the following information prepare the Capital 
a/c (i) if they are fluctuating (ii) if they are fixed. 
 A B 

 Rs. Rs. 

Capital on 1.1.2011 8,00,000 6,00,000

Interest on drawings 2,500 1,500

Drawing 1,00,000 60,000

Partners salary 72,000 —

Interest on capital 5% 5%

Commission 10,000 6,000

Profit for the year 1,20,000 1,00,000
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   RÌUPõq® ÂÁμ[PÒ ©õÖ£k® •uÀ ©ØÖ® {ø» 

•uÀ •øÓ°À GÆÁõÖ Põmh¨£k®? 

 A B 

 ¹. ¹. 

1.1.2011 AßÖ •uÀ  8,00,000 6,00,000

Gk¨¦ «uõÚ Ámi 2,500 1,500

Gk¨¦PÒ 1,00,000 60,000

TmhõÎPÎß Fv¯® 72,000 —

•uÀ «uõÚ Ámi 5% 5%

PÈÄ 10,000 6,000

C»õ£¨ £[S 1,20,000 1,00,000

12. (a) Distinguish between Sacrificing Ratio and Gaining 
Ratio.   

   v¯õP ÂQuzvØS®, Buõ¯ ÂQuzvØS® EÒÍ 

÷ÁÖ£õmiøÚ ÂÍUSP. 

Or 

 (b) Balu, Raju and Madhu are partners sharing profits 
and losses in the ratio of 3 : 2 : 1. Their balance 
sheet as at 31st March 2012 was as follows : 

Liabilities Rs. Assets Rs.

Sundry Creditors 4,50,000 Cash at bank 4,50,000

Bills payable 1,50,000 Sundry debtors 1,35,000

Capital accounts :  Stock 3,00,000

 Balu 4,50,000 Furniture 90,000

 Raju 1,50,000 Buildings 3,00,000

 Madhu 75,000 

 12,75,000 12,75,000
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  Madhu retired and the following terms were  
agreed : (i)  Furniture is to be depreciated by 10%; 
(ii)  Stock is to be valued at Rs. 2,70,000;  
(iii) Buildings are to be appreciated by Rs. 75,000; 
(iv)  Provision for doubtful debts is to be created on 
sundry debtors at 10% (v)  Goodwill of Rs. 4,50,000 
is to be raised. Pass journal entries. Also prepare 
the balance sheet of the new Firm.  

   £õ¾, μõáü ©ØÖ® ©x BQ¯ TmhõÎPÒ C»õ£ 

|mh[PøÍ 3 : 2 : 1 GßÓ ÂQuzvÀ £Qº¢x 

öPõÒQßÓÚº. ©õºa 31, 2012 AßÖÒÍ AÁºPÍx 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

£Ø£» PhÜ¢÷uõºPÒ 4,50,000 Á[Q öμõUP® 4,50,000

ö\¾zxuØS›¯ 

©õØÖa^mk 

1,50,000 £Ø£» 

PhÚõÎPÒ 

1,35,000

•uÀ PnUS  \μUQ¸¨¦ 3,00,000

 £õ¾ 4,50,000 AøÓP»ß 90,000

 μõáü 1,50,000 Pmih[PÒ 3,00,000

 ©x 75,000 

 12,75,000 12,75,000

   ©x Tmhõsø©°À C¸¢x Â»QÂmhõº. ¤ßÁ¸® 

{£¢uøÚPÒ J¨¦U öPõÒÍ¨£mhÚ. (i) AøÓP»ß 

©v¨¦ 10% SøÓUP¨£h ÷Ásk®, (ii) \μUQ¸¨¦  

¹. 2,70,000 GÚ ©v¨¤h¨£h ÷Ásk®, (iii) Pmih 

©v¨¤À ¹. 75,000I AvP›UP ÷Ásk®. (iv) £Ø£» 

PhÚõÎPÒ 10% I¯UPhÝUPõP JxURk ö\´P.  

(v) |Øö£¯º ©v¨¤øÚ ¹. 4,50,000US E¯ºzu 

÷Ásk®. •uØSÔ¨÷£mk £vÄPÒ u¸P. ©ØÖ® ¦v¯ 

Tmhõsø©°ß C¸¨¦{ø»U SÔ¨¦{ø»U SÔ¨¦ 

u¯õº ö\´P. 
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13. (a) Explain the steps to be taken at the time of 
amalgamation of firms. 

   {ÖÁÚ JßÔøn¨¤ß ö£õÊx GkzxU 

öPõÒÍ¨£k® £i{ø»PÒ £ØÔ ÂÍUSP. 

Or 

 (b) A and B were partners sharing profit and losses in 
the ratio 3 : 2. On 1st July 2009, their Balance Sheet 
as follows : 

Liabilities Rs. Assets Rs.

Sundry Creditors 20,000 Cash at bank 400

A’s Capital 5,000 Stock 12,000

B’s Capital 3,000 Debtors 15,000

 Furniture 600

 28,000 28,000

  The firm was dissolved on above date. The assets 
realized only Rs. 16,000. Expenses came Rs. 500. A’s 
private estate could pay Rs. 1,000. B has no surplus. 
Close the books of the firm by showing the relevant 
ledger accounts. 

   A ©ØÖ® B Gß£ÁºPÒ 3 : 2 GßÓ ÂQuzvÀ •øÓ÷¯ 

»õ£ |mh[PøÍ ¤›zx öPõÒÐ® TmhõÎPÒ. 

1.7.2009À AÁºPÎß C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 20,000 Á[Q°À öμõUP® 400

‰»uÚ® :  A 5,000 £Ø£» PhÚõÎPÒ 12,000

  B 3,000 \μUS 15,000

  ©øÚzxøn ö£õ¸mPÒ 600

 28,000 28,000
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   ÷©÷» SÔ¨¤h¨£mkÒÍ ÷uv°À Tmhõsø© 

{ÖÁÚ® Pø»UP¨£mhx. ö\õzxUPÒ ¹. 16,000 

DmiÚ ¹. 500 ö\»Âh¨£mhx. A&ß ö\õ¢u 

ö\õzv¼¸¢x ¹. 1,000 ©mk® ö£Ó¨£mhx. 

B&°hª¸¢x G¢u öuõøP²® ö£Ó¨£hÂÀø». 

{ÖÁÚzvß PnUSPøÍ •iÂØS öPõsk Áμz 

÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍU PõmhÄ®. 

14. (a) Distinguish between Revaluation account and 

Realisation account. 

   ©Ö©v¨¥mk PnUQØS® wºÄU PnUQØS•ÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) A, B and C were partners sharing profit and losses 

in the ratio 3 : 2 : 1. On 31.12.99, their Balance 

Sheet as follows : 

Liabilities Rs. Assets Rs.

Sundry Creditors 15,400 Cash at bank 3,500

Bills payable 3,600 Stock 19,800

A’s Loan A/c 10,000 Debtors  15,000 

Capital A/c’s :  Less : Prov. 1,000 14,000

A 20,000 Joint Life Policy 4,000

B 16,000 Plant & Machinery 43,700

C 8,000  

Reserve Fund 12,000  

 85,000 85,000
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  The firm was dissolved on 1.1.2000. Joint Life Policy 

was taken over by A at Rs. 5,000. Stock realized  

Rs. 18,000. Debtors realized Rs. 14,500. Plant and 

Machinery was sold for Rs. 36,000, Liabilities were 

paid in full. In addition, one bill, for Rs. 700 under 

discount was dishonoured and had to be paid by the 

firm. Give the necessary ledger a/c to close the 

books of the firm. 

   A, B ©ØÖ® C Gß£ÁºPÒ 3 : 2 : 1 GßÓ ÂQuzvÀ 

•øÓ÷¯ »õ£ |mh[PøÍ ¤›zx öPõÒÐ® 

TmhõÎPÒ. 31.12.99À AÁºPÎß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

£Ø£» PhÜ¢÷uõº 15,400 Á[Q°¸¨¦ 3,500

ö\¾zuØS›¯ ©õ.^. 3,600 \μUQ¸¨¦ 19,800

A °ß Phß P/S 10,000 PhÚõÎPÒ 15,000 

•uÀ P/S :  PÈ : JxUS  1,000 14,000

A 20,000 Cøn B²Ò £õ¼] 4,000

B 16,000 ö£õÔ ©ØÖ® C¯¢vμ® 43,700

C 8,000  

Põ¨¦ {v 12,000  

 85,000 85,000

   1.1.2000À {ÖÁÚ® Pø»UP¨£mhx. Cøn B²Ò 

£õ¼] ¹. 5,000US ‘A’ GkzxU öPõshõº. \μUS  

¹. 18,000US ÂØP¨£mhx. PhÚõÎPÎhª¸¢x  

¹. 14,500 ö£Ó¨£mhx. ö£õÔ ©ØÖ® C¯¢vμ®  

¹. 36,000US ÂØP¨£mhx. ö£õÖ¨¦PÒ •ÊÁx©õP 
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ö\¾zu¨£mhÚ. ÷©¾®, Ámh® ö\´¯¨£mh 

©õØÖa^mk ¹. 700 ©ÖUP¨£mhuõÀ, {ÖÁÚ® Aøu 

ö\¾zv¯x. {ÖÁÚ HkPøÍ •iUPz ÷uøÁ¯õÚ 

÷£÷μmkU PnUSPøÍU PõmhÄ®. 

15. (a) Explain Garner Vs Murray Rule. 

   PõºÚº Gv› •÷μ°ß Âvø¯ ÂÁ›. 

Or 

 (b) Sayee, Sekar and Sarathy share profit in proportion 

of ½, ¼ respectively. On the date of dissolution of 

the firm, their balance sheet is as follows : 

Liabilities Rs. Assets Rs.

Creditors 35,000 Sundry assets 1,00,000

Sayee’s Capital 25,000  

Sekar’s Capital 25,000  

Sarathy’s Capital 15,000  

 1,00,000 1,00,000

  The assets realized Rs. 85,000. The proceeds were 

receivable in instalments of Rs. 35,000, Rs. 25,000 

and Rs. 25,000. Show how the proceeds should be 

distributed as and when received. 

   \õ°, ÷\Pº ©ØÖ® \õμv u[PÍx C»õ£[PøÍ 1 : 2 

©ØÖ® 1 : 4 GÚ ÂQuõa\õμ •øÓ°À £Qº¢uÚº. 

{ÖÁÚ Pø»¨¦ |õÍßÖ AÁºPÍx C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõºPÒ 35,000 £Ø£» ö\õzxPÒ 1,00,000

\õ° •uÀ 25,000  

÷\Pº •uÀ 25,000  

\õμv •uÀ 15,000  

 1,00,000 1,00,000

   ö\õzxUPÒ wºÁõÚx ¹. 85,000. wºÄzöuõøP 

uÁønPÍõP ¹. 35,000, ¹. 25,000, ©ØÖ® ¹. 25,000 

GÚ ö£ÓzuUPx. wºÄz öuõøP G¨ö£õÊx GÀ»õ® 

ö£Ó¨£kQÓ÷uõ Ax GÆÁõÖ £Qº¢uÎUP¨£kQÓx 

Gß£øu PõmkP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. The following was the Balance Sheet of A and B who were 

sharing profits 2 : 1 on 31.12.2003. 

Liabilities Rs. Assets Rs.

Creditors 65,900 Cash at bank 1,200

Capital : A 30,000 Debtors 9,700

B 20,000 Stock 20,000

  Plant 35,000

  Building 50,000

 1,15,900 1,15,900
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 They agreed to admit C into partnership on the following 
terms : 

 (a) C was to be given 1/3 share in profits and was to bring 
Rs. 15,000 as capital; (b) That the value of stock and 
plant were reduced by 10%; (c) That a provision of 5% 
was to be created for Doubtful debts; (d) That the value of 
Building was to be appreciated by Rs. 9,500;  
(e) Investment worth Rs. 400 (not mentioned in the 
Balance Sheet) were taken into a/c. (f)  That the value of 
liabilities and assets other than cash are not to be 
altered.  

 Prepare Memorandum Revaluation account and opening 
balance sheet.  

 RÌPsh C¸¨¦{ø»U SÔ¨¦ 31.12.2013À A ©ØÖ® B 

£[SuõμºPÐøh¯x. AÁºPÒ ÂQu® 2 : 1. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 65,900 Á[Q C¸¨¦ 1,200

•uÀ PnUS :  A 30,000 £Ø£» PhÚõÎPÒ 9,700

   B 20,000 \μUS C¸¨¦ 20,000

  C¯¢vμ® 35,000

  Pmih® 50,000

 1,15,900 1,15,900

 C Gß£Áøμ RÌPsh {£¢uøÚPÐhß ÷\ºUP •iÄ 

ö\´uÚº : 

 (A) C Gß£Á¸US 1/3 Ãu® »õ£ £[S AÁº öPõsk Á¢u 

•uÀ ¹. 15,000. 

 (B) \μUS, C¯¢vμzvß ©v¨¦ 10% SøÓ¢xÒÍx. 

 (C) PhÚõÎPÎÀ 5% ÁμõUPhß Põ¨¦ JxUP ÷Ásk®. 
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 (D) Pmihzvß ©v¨¦ ¹. 9,500 E¯º¢xÒÍx. 

 (E) ¹. 400 ©v¨¦ÒÍ •u½k (C¸¨¦ {ø» SÔ¨¤À 

CÀ»õux) PnUQØS öPõsk Á¸Áx. 

 (F) öμõUP Á[Qø¯z uÂμ ©ØÓ ö\õzxUPÒ ö£õÖ¨¦PÒ 

©õØÓUThõx. 

  ÷©ØPsh ÂÁμ[PÎÀ C¸¢x Memorandum 

©Ö©v¨¥k PnUS, •uÀ PnUS ©ØÖ® ¦v¯uõP 

Bμ®¤UP¨£mh {ÖÁÚzvß C¸¨¦ {ø»U SÔ¨¦ 

u¯õ›UP.  

17. The two firms P & Q and R & S agreed to amalgamate 
their business. Their position as on 31.12.2001 : 

Liabilities P & Q  R & S Assets P & Q R & S 

 Rs.  Rs.  Rs. Rs.

Creditors 1,04,000  52,000 Bank 1,56,000 65,000

Capital A/c P 1,82,000  — Debtors 1,30,000 1,04,000

Q 1,30,000  — Stock 42,000 26,000

R —  91,000 Building 78,000 —

S —  65,000 Furniture 10,000 13,000

 4,16,000  2,08,000 4,16,000 2,08,000

 Creditors and debtors were not taken over by the new 
firm PQRS. Building was retained by P and Q but new 
firm agreed to pay a monthly rent of Rs. 400. The cash 
required for working of the new firm was estimated at  
Rs. 1,30,000 to be provided by the partners in their new 
profit sharing proportions as under. P — 3/10; Q — 3/10; 
R — 2/10; S — 2/10. Close the books of P & Q and R & S. 
Give the opening balance sheet of PQRS. 
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 P ©ØÖ® Q {ÖÁÚ® ©ØÖ® R ©ØÖ® S {ÖÁÚ® GßÝ® 

Cμsk Tmhõsø© JßÔøn¯ •iöÁkzuÚ. 

RÌUPshøÁ 31.12.2001À C¸ Tmhõsø©PÎß 

CÖv{ø»U SÔ¨¦PÒ : 

ö£õÖ¨¦PÒ P & Q  R & S ö\õzxUPÒ P & Q R & S 

 ¹.  ¹.  ¹. ¹.

PhÜ¢÷uõº 1,04,000  52,000 Á[Q 1,56,000 65,000

‰»uÚ® &P 1,82,000  — \μUS 42,000 26,000

Q 1,30,000  — PhÚõÎPÒ 1,30,000 1,04,000

R —  91,000 AøÓP»ß 10,000 13,000

S —  65,000 Pmih® 78,000 —

 4,16,000  2,08,000 4,16,000 2,08,000

 ¦v¯ {ÖÁÚ® PQRS PhÜ¢÷uõøμ²®, PhÚõÎPøÍ²® 

GkzxU öPõÒÍÂÀø». Pmih® P & Q-°h÷© C¸US®. 

BÚõÀ ¦v¯ {Ö©® AuØPõP ©õu ÁõhøP ¹. 400 ö\¾zu 

J¨¦U öPõshx. ¦v¯ Tmhõsø©°ß ö©õzu ‰»uÚ®  

¹. 1,30,000. TmhõÎPÎøh÷¯ ¦v¯ C»õ£ £QºÄ Ãu®  

P — 3/10; Q — 3/10; R — 2/10; S — 2/10. Tmhõsø©US 

ÁÇ[P ÷Ásk®. P, Q ©ØÖ® R, S &ß PnUSPøÍ 

•iÄUSU öPõsk ÁμÄ®. ¦v¯ Tmhõsø©°ß CÖv 

{ø»USÔ¨¦ u¯õº ö\´P. 

18. I, J, K share profits in the ratio 3 : 2: 1. They have 
decided to sell their firm to I, J, K Ltd as from 31.12.2009 
on which date their balance sheet was : 

Liabilities Rs. Assets Rs.

Creditors 12,000 Properties 18,000

Capital : I 20,000 Machinery 12,000

J 15,000 Debtors 15,000

K 13,000 Stock 13,000

  Cash 2,000

 60,000 60,000
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 Company takes over the assets at the following  

valuation :  

 Properties Rs. 22,000; Machinery Rs. 11,000; Debtors  

Rs. 14,000; Stock Rs. 12,000; Goodwill Rs. 4,000. 

Company’s settlement is as follows : Rs. 33,000 in shares 

of each Rs. 10 face value and the balance is paid in cash. 

Give the necessary ledger accounts in the books of the 

firm. 

 I, J, K ‰Á¸® u[PÐUSÒ 3 : 2 : 1 ÂQuzvÀ »õ£® 

£[QmkU öPõÒQßÓÚº. I, J, K ¼m {Ö©zvØS ÂØ£uØS 

J¨¦U öPõsh 31.12.2009 AÁºPÒ C¸¨¦ {ø»U SÔ¨¦ 

Á¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

PhÜ¢÷uõº 12,000 ö\õzxUPÒ 18,000

‰»uÚ® :  I 20,000 ö£õÔ 12,000

  J 15,000 PhÚõÎPÒ 15,000

  K 13,000 \μUQ¸¨¦ 13,000

  öμõUP® 2,000

 60,000 60,000

 {Ö©® RÌUPsh ©v¨¥miÀ ö\õzxUPøÍ GkzxU 

öPõshx. ö\õzxUPÒ ¹. 22,000; ö£õÔ ¹. 11,000; 

PhÚõÎPÒ ¹. 14,000; \μUQ¸¨¦ ¹. 12,000; öuõÈÀ 

|ß©v¨¦ ¹. 4,000; {Ö©® uμ÷Ási¯ öuõøPø¯ ¹. 33,000 

uÚx ¹. 10 •P ©v¨¦ÒÍ £[SPÍõPÄ® «vø¯ 

öμõUP©õPÄ® öPõkzx Tmhõsø© HkPÎÀ ÷uøÁ¯õÚ 

÷£÷μmkU PnUSPÒ u¯õº ö\´P. 
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19. The following is the Balance Sheet of A, B and C on 
31.12.2010. They shared profit and losses in the ratio of  
4 : 3 : 2. 

Liabilities Rs. Assets Rs.

Capital :  A 60,000 Fixed assets 80,000

  B 40,000 Current assets 24,000

  C 6,000 Goodwill 22,000

Sundry Creditors 20,000  

 1,26,000 1,26,000

 The partners decided to dissolve the business : 

 (a) Fixed assets realized Rs. 60,000 and current assets 
realized Rs. 20,000. 

 (b) The Goodwill is valueless. 

 (c) Realisation expenses amount to Rs. 6,000. 

 (d) ‘‘C’’ can contribute only Rs. 1,000 from his separate 
resources. 

  Prepare necessary accounts according to Garner. 
Vs. Murray rule assuming that ‘‘C’’ become 
insolvent. 

 A, B ©ØÖ® C GßÓ TmhõÎPÒ •øÓ÷¯ 4 : 3 : 2 GßÓ 

ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº. 31.12.2010 

AßÖ C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

•uÀ :  A 60,000 {ø»ö\õzxPÒ 80,000

  B 40,000 |h¨¦ ö\õzxPÒ 24,000

  C 6,000 |Øö£¯º 22,000

PhÜ¢÷uõº 20,000  

 1,26,000 1,26,000
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 TmhõÎPÒ TmhõP {ÖÁÚzøu Pø»UP •iÄ ö\´uÚº. 

 (A) {ø»¯õÚ ö\õzxUPÒ ¹. 60,000 ©ØÖ® |h¨¦ 

ö\õzxUPÒ ¹. 20,000 ÂØ£øÚ ö\´uÚº. 

 (B) |ß©v¨¦ ©v¨£ØÓuõQ ÂkQÓx. 

 (C) wºÄa ö\»ÄPÒ ¹. 6,000. 

 (D) ‘‘C’’ °hª¸¢x ¹. 1,000 ©mk® ö£Ó¨£mhx. 

 (E) ‘‘C’’ ÁUPØÓÁºPÍõÁº. 

  PõºÚº Gv› •º÷μ Âv°ß£i PnUøP u¯õº ö\´P. 

20. Ramu, Raju and Raghu are partners sharing profits in 
the ratio of 3 : 5 : 2. The partnership was dissolved on 
30.06.2007 on which date their position was as follows : 

Liabilities Rs. Assets Rs.

Capital :  Ramu 38,000 Cash in hand 4,000

  Raju 26,000 Other assets 70,000

  Raghu 3,000 Profit and loss account 10,000

Creditors 17,000  

 84,000 84,000

 The firm was dissolved and the assets were realized as 
follows in 2007 : 

 Book value Amount realized

31.01.2008 30,000 25,000

28.02.2008 25,000 15,000

31.03.2008 15,000 10,000

 Raghu is insolvent and a sum of Rs. 1,400 is recovered 
from his estate in full settlement. Prepare a statement 
showing the piecemeal distribution of cash. 
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 μõ•, μõáü ©ØÖ® μS GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 5 : 2 

GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº. 

30.6.2007 Tmhõsø© Pø»UP¨£mh ÷£õx C¸¢u 

Tmhõsø© {ø»ø© ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

•uÀ :  μõ• 38,000 øP°¸¨¦ öμõUP® 4,000

  μõáü 26,000 HøÚ¯ ö\õzxUPÒ  70,000

  μS 3,000 C»õ£ |mh PnUS 10,000

PhÜ¢÷uõº 17,000  

 84,000 84,000

 {ÖÁÚ® Pø»UP¨£mk öμõUP® ¤ßÁ¸©õÖ ö£Ó¨£mhx. 

|õÒ ö\õzxUPÎß ¦zuP 

©v¨¦ 

ÂØÖ¨ ö£Ó¨£mh 

öμõUP® 

31.01.2008 30,000 25,000

28.02.2008 25,000 15,000

31.03.2008 15,000 10,000

 μS ö|õi¢x¨ ÷£õÚõº AÁμx uÛ¨£mh ö\õzv¼¸¢x  

¹. 1,400 CÖvz wºÁõP¨ ö£Ó¨£mhx. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define- Marketing. 

 ªß \¢øu¨£kzuÀ Áøμ¯ÖP. 

2. What is Neuromarketing? 

 {³÷μõ©õºUöPmi[ GßÓõÀ GßÚ? 

3. What  are known as buying motives? 

 Áõ[S® ÷|õUP[PÒ GÚ¨£kÁx ¯õx? 

4. State the meaning of trading up. 

 ÁºzuP® ö\´Áuß ö£õ¸øÍU TÖP. 

5. What are self-actualisation needs? 

 _¯©õUPÀ ÷uøÁPÒ ¯õøÁ? 

6. What is brand loyalty? 

 ¤μõsm Â_Áõ\® GßÓõÀ GßÚ? 
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7. What is psychological pricing? 

 EÍÂ¯À Âø» {ºn¯® GßÓõÀ GßÚ? 

8. What is advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

9. What do you understand by sales promotion? 

 ÂØ£øÚ E¯ºÄ £ØÔ }[PÒ GßÚ ¦›¢x öPõsjºPÒ? 

10. Write a short note on augmented product. 

 ö£›uõUP¨£mh u¯õ›¨¦ SÔzx J¸ SÔ¨ø£ GÊxP. 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the benefits of market segmentation. 

   \¢øu¨ ¤›Âß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Bring out the difference between marketing and 
selling. 

   \¢øu¨£kzuÀ ©ØÖ® ÂØ£øÚUS Cøh°»õÚ 

Âzv¯õ\zøu öÁÎ÷¯ öPõnºP. 

12. (a) What are the kinds of packaging? 

   ÷£U÷Pâ[ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Explain the features of product.  

   u¯õ›¨¤ß A®\[PøÍ ÂÍUSP. 
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13. (a) What are the objectives of pricing? 

   Âø» {ºn¯zvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What is cost based pricing? Explain different 
methods based on cost. 

   ö\»Ä Ai¨£øh°»õÚ Âø» {ºn¯® GßÓõÀ 

GßÚ? ö\»Âß Ai¨£øh°À öÁÆ÷ÁÖ •øÓPøÍ 

ÂÍUSP. 

14. (a) What according to you are the qualities of a 
successful salesman? 

   öÁØÔPμ©õÚ ÂØ£øÚ¯õÍ›ß Sn[PÒ GßÚ? 

Or 

 (b) Discuss the objectives of sales promotion.   

15. (a) What are the methods of consumer promotion? 

   ~Pº÷Áõº FUSÂ¨¦ •øÓPÒ GßÚ? 

Or 

 (b) Explain briefly the evolution of marketing? 

   \¢øu¨£kzxu¼ß £›nõ©zøu _¸UP©õP ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the criteria for segmenting the market. 

 \¢øuø¯ ¤›¨£uØPõÚ AÍÄ÷PõÒPøÍ ÂÍUSP. 

17. What is PLC? Explain the stages in product life cycle. 

 ¤.GÀ.]. GßÓõÀ GßÚ? u¯õ›¨¦ ÁõÌUøP _ÇØ]°À 

{ø»PøÍ ÂÍUSP. 
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18. Write on various factors which affect pricing decision. 

 Âø» •iøÁ £õvUS® £À÷ÁÖ PõμoPøÍ GÊxP. 

19. Why an advertisement fails? Discuss 

 ÂÍ®£μ® Hß ÷uõÀÂ¯øhQÓx? P»¢xøμ¯õkP. 

20. What are the advantages of branding? Does branding 
help consumer in buying products?  

¤μõsi[Qß |ßø©PÒ GßÚ? u¯õ›¨¦PøÍ Áõ[SÁvÀ 

¤μõsi[ ~Pº÷Áõ¸US EuÄQÓuõ? 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a director? 

 C¯US|º GßÓõÀ GßÚ? 

2. Write a note on Resignation. 

 Cμõâ|õ©õ GßÓõÀ GßÚ? 

3. Who is a manager? 

 ÷©»õÍº GßÓõÀ ¯õº? 

4. Write a short note on remuneration. 

 Fv¯® ]ÖSÔ¨¦ u¸P. 

5. What is company meeting? 

 {ÖÁÚU Tmh® GßÓõÀ GßÚ? 

6. What is board meeting? 

 {¸ÁõPa \ø£ Tmh® GßÓõÀ GßÚ? 
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7. Who is a Auditor? 

 uoUøP¯õÍº GßÓõÀ ¯õº? 

8. Short note on Inspection. 

 B´Ä– ]Ö SÔ¨¦ u¸P. 

9. What is winding up? 

 Pø»¨¦ GßÓõÀ GßÚ? 

10. Write a short note on compulsory winding up. 

 Pmhõ¯ Pø»¨¦ ]Ö SÔ¨¦ u¸P. 

 Part B (5  5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) State the qualities of a Director? 

   C¯US|›ß Sn[PøÍ ÂÁ›. 

Or 

 (b) State the rights of the director? 

   C¯US|›ß E›ø©PøÍ ÂÁ›. 

12. (a) Briefly explain the independent Director. 

   _u¢vμ C¯US|øμ £ØÔ ÂÁ›. 

Or 

 (b) Explain the (i) inspection and (ii) Enquiry  

   SÔ¨¦ ÁøμP. 

   (i)  B´Ä ©ØÖ®  

   (ii)  Â\õμøn 
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13. (a) Write a note on Agenda. 

   {PÌa] {μÀ £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) What is notice of meeting? 

   TmhÔUøP GßÓõÀ GßÚ? 

14. (a) State the qualification of the Auditor? 

   uoUøP¯õÍ›ß uSvPÒ ¯õøÁ? 

Or 

 (b) Explain the internal Audit. 

   SÔ¨¦ ÁøμP :AP uoUøP¯õÍº. 

15. (a) State the powers of tribunal. 

   {¯õ¯\ø£°ß AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) List down the duties of company liquidator. 

   {ÖÁÚ Pø»¨£õÍ›ß Phø©PøÍ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the duties and liabilities of a director. 

 C¯US|›ß Phø©PÐ® ©ØÖ® ö£õÖ¨¦PÐ® £ØÔ ÂÍUP® 

u¸P. 

17. Explain the secretarial duties of a manager. 

 ÷©»õÍ›ß ö\¯»õØÖ® Phø©PøÍ ÂÁ›. 

18. Explain the various types of company meeting. 

 {Ö© Tmh[PÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 
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19. Explain the provision for the prevention of  
mismanagement. 

uÁÓõÚ {¸ÁõPzøu ukUS® •øÓPøÍ ÂÁ›. 

20. Explain the procedure of company winding up. 

 {ÖÁÚU Pø»¨¤ß |øh•øÓPøÍ ÂÁ›. 

 

 

 
———————— 
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FINANCIAL MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Financial Management? 
 {v ÷©»õsø© GßÓõÀ GßÚ? 

2. Write a note Capital Investment. 
 ‰»uÚ •u½mk SÔ¨¦ ÁøμP. 

3. Write a note on leverage. 
 ö|®¦÷PõÀ GßÓõÀ GßÚ? 

4. What is optimum capital structure? 
 Ezu© ‰»uÚ GßÓõÀ GßÚ? 

5. Write a note on lease. 
 SzuøP SÔ¨¦ ÁøμP. 

6. What is Working Capital? 
 |øh•øÓ ‰»uÚ® GßÓõÀ GßÚ? 

7. What is current assets? 
 |h¨¦ ö\õzx GßÓõÀ GßÚ? 
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8. Write a note on capitalization. 

 •u»õUP® GßÓõÀ GßÚ? 

9. What is Inventory? 

 \μUS GßÓõÀ GßÚ? 

10. Give an example of Cash Motives. 

 £n ÷|õUP[PÎß J¸ GkzxUPõmk u¸P. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the goals of Financial Management. 

   {v ÷©»õsø©°ß C»USPÒ ÂÁ›. 

Or 

 (b) State the need of Financial Management. 

   {v ÷©»õsø©°ß ÷uøÁ ¯õøÁ? 

12. (a) Discuss the factors affecting capital investment 
decision. 

   ‰»uÚ •u½mk •iÄPøÍ {ºn°US® PõμoPÒ 

¯õøÁ? 

Or 

 (b) Difference between operating and financial 
leverage.   

   C¯UP ©ØÖ® {v ö|®¦÷Põ¾US® EÒÍ ÷ÁÖ£õkPÒ 

¯õøÁ? 

13. (a) Explain various types of working capital. 

   |øh•øÓ ‰»uÚzvß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 
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 (b) Explain the factors determining the working 
capital. 

   |øh•øÓ ‰»uÚ® {ºn°US® PõμoPøÍ ÂÁ›. 

14. (a) Explain the characteristics of optimum capital 
structure. 

   Ezu© ‰»uÚ Aø©¨¤ß ußø©PøÍ ÂÁ›. 

Or 

 (b) Explain need of capitalization. 

   ‰»uÚ©õUPzvß ÷uøÁPÒ ¯õøÁ? 

15. (a) Elucidate the factors determining cash needs. 

   öμõUPz ÷uøÁø¯ {ºn°US® PõμoPøÍ ÂÍUS. 

Or 

 (b) Explain Inventory Management Control. 

   \μUS ÷©»õsø© ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the functions of Financial Management. 

 {v ÷©»õsø©°ß £oPøÍ ÂÍUS. 

17. Explain factors influencing the capital structure of a 
company. 

J¸ {Ö©zvß ‰»uÚ Aø©¨¤øÚ {ºn°US® 

PõμoPøÍ ÂÍUS. 
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18. The following figure relate to two companies : 
Particulars P Q 

Sales 500 1000

Variable cost 200 300

Fixed cost 150 400

Interest 50 100

Profit before tax 100 200

 Calculate all types of leverage. 

 RÌPshøÁ Cμsk {ÖÁÚ[PÎß \õº¢u uPÁÀPÍõS®. 

 P Q 

ö£õ¸Ò ÂØ£øÚ 500 1000

©õÖ® ö\»ÄPÒ 200 300

{ø» ö\»ÄPÒ 150 400

Ámi 50 100

Á›US •¢øu¯ »õ£® 100 200

  Cμsk {ÖÁÚ[PÎß ö\¯À£õmk, {v ©ØÖ® ö©õzu 

Âø\°øÚ PnUQkP. 

19. Explain the Tandon Committee approach in working 
capital determination. 

|øh•øÓ •uÀ PnUQk® •øÓ°À hõshß SÊÂß 

AqS•øÓ°øÚ ÂÁ›. 

20. Explain the techniques of Inventory Control.  

 \μUQ¸¨¦ Pmk¨£õmk EzvPøÍ ÂÍUSP. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Write a note on Human Resource Management. 

 ©ÛuÁÍ ÷©»õsø© SÔ¨¦ ÁøμP. 

2. What is induction Training? 

 FUP¨ £°Ø] GßÓõÀ GßÚ? 

3. Write a note on Transfer. 

 Ch©õØÓ® SÔ¨¦ ÁøμP. 

4. What is Psychological Appraisal? 

 EÍÂ¯À ©v¨¥k GßÓõÀ GßÚ? 

5. What is Job Enrichment? 

 £o ]Ó¨¤kuÀ GßÓõÀ GßÚ? 

6. Write a note on Incentives. 

 ö£õ¸Ò ÃuU T¼•øÓ SÔ¨¦ ÁøμP. 
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7. What is Morale? 

 JÊ[SnºÄ ÷|º©Ú AÊzu® GßÓõÀ GßÚ? 

8. Write a note on case study. 

 {PÌa] B´Ä SÔ¨¦ ÁøμP.  

9. What is Fringe Benefit? 

 Cuμ \¾øP GßÓõÀ GßÚ? 

10. Write a note on Compensation. 

 Dk ö\´uÀ SÔ¨¦ ÁøμP. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the need of HRM. 

   ©ÛuÁÍ ÷©»õsø©°ß ÷uøÁPøÍ ÂÁ›. 

Or 

 (b) Discuss the role of HR Managers. 

   J¸ ©ÛuÁÍ ÷©»õÍ›ß £[QøÚ ÂÁ›. 

12. (a) Explain Job Analysis. 

   £o£S¨£õ´Ä ÂÁ›. 

Or 

 (b) Explain Job Evaluation.  

   £o ©v¨¥k ÂÁ›. 

13. (a) Explain the sources of Selection. 

   BÒ ÷\ºzu¼ß £À÷ÁÖ ‰»[PøÍ ÂÍUSP. 

Or 

 (b) Explain the various types of Interview. 

   ÷|ºPõn¼ß £À÷ÁÖ •øÓPøÍ ÂÁ›. 
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14. (a) What are the causes of indiscipline? 

   JÊ[RÚzvØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Explain factors influence morale. 

   JÊ[SnºøÁ {ºn°US® PõμoPøÍ ÂÁ›. 

15. (a) Describe the essentials of good incentive plan. 

   J¸ |À» FUP Fv¯ •øÚÄz vmhzvß ÷uøÁPøÍ 

ÂÁ›. 

Or 

 (b) Explain piece rate system. 

   ÷Áø»ÃuU T¼•øÓ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the qualities required for Human Resource 
Manager. 

©ÛuÁÍ ÷©»õÍ¸UPõÚ Ai¨£øh uSvPøÍ 

ÂÁõvUPÄ®. 

17. Explain performance appraisal. 

 £o ö\¯À vÓß B´Ä ÂÁ›. 

18. Discuss the evaluation of training programs in India. 

 C¢v¯õÂÀ £°Ø] vmh[PøÍ B´Ä ö\´uÀ SÔzx 

ÂÁõv. 
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19. Explain the transfer policy and its objectives. 

 £o Ch©õÖu¼ß öPõÒøPPÒ ©ØÖ® Auß ÷|õUP[PøÍ 

ÂÍUSP. 

20. Explain the various incentive schemes.  

 £À÷ÁÖ ÁøP¯õÚ FUPz vmh[PøÍ ÂÍUSP. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the important of tour? 

 _ØÖ»õÂß •UQ¯zxÁ[PÒ ¯õøÁ? 

2. What is hospitality management? 

 Â¸¢÷uõ®£À ÷©»õsø© GßÓõÀ GßÚ? 

3. What is meant by tour package? 

 _ØÖ»õ öuõSv GßÓõÀ GßÚ? 

4. Write any two influencing factor of pricing decision. 

 Âø» {ºn°zu¼ß H÷uÝ® C¸ PõμoPøÍ GÊxP. 

5. What is promotion mix? 

 E¢xu¼ß £[S GßÓõÀ GßÚ? 

6. Write any two objectives of pricing? 

 Âø»°¯¼ß C¸ SÔU÷PõÒPøÍ GÊxP. 
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7. What is meant by tourism distribution? 

 _ØÖ»õÂ¯¼ß ÁÇ[SuÀ GßÓõÀ GßÚ? 

8. What is market segmentation in tour? 

 _ØÖ»õ \¢øu ¤›zuÀ GßÓõÀ GßÚ? 

9. What do you mean by media selection in advertising? 

 ÂÍ®£μzvØPõÚ FhP ÷uºÄ GßÓõÀ GßÚ? 

10. What is personal selling in tourism? 

 _ØÖ»õÂß uÛ|£º ÂØ£øÚ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the role of tourism marketing in Indian 
economy. 

   _ØÖ»õ \¢øu°h¼ß C¢v¯ ö£õ¸ÍõuõμzvØPõÚ 

£[QøÚ ÂÁõvUPÄ®. 

Or 

 (b) What are the functions of tourism marketing? 
Explain. 

   _ØÖ»õ \¢øu°h¼ß £oPÒ ¯õøÁ? ÂÁ›. 

12. (a) What do you mean by formulation of tourism 
product? Explain. 

   _ØÖ»õ Aø©zu¼ß •øÓPÒ ¯õøÁ? ÂÁ›. 

Or 

 (b) Describe the role of travel agents. 

   _ØÖ»õ •PÁ›ß £oPøÍ ÂÁ›UPÄ®. 
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13. (a) How will you segment your tourism market? 
Explain 

   _ØÖ»õa \¢øu°ß ¤›zuõ´uÀ £ØÔ } AÔÁÚ 

¯õøÁ? ÂÁ›. 

Or 

 (b) What do you mean by service quality in tourism? 
Explain 

   _ØÖ»õÂ¯¼ß ÷\øÁz uμ® £ØÔ } AÔÁÚ ¯õøÁ? 

ÂÁ›. 

14. (a) Discuss the role of travel guides. 

   _ØÖ»õ •PÁ›ß £[QøÚ ÂÁ›UPÄ®. 

Or 

 (b) How do you choose the media advertising tourism 
product? Explain with suitable example. 

   ÂÍ®£μzvØPõÚ FhPz÷uh¼ß •øÓ £ØÔ } AÔÁx 

¯õx? E›¯ Põμnzxhß ÂÁ›. 

15. (a) Discuss the basic skills needed to market tourism 
product. 

   _ØÖ»õa \¢øu°ß Ai¨£øhz ÷uøÁPÒ ÂÁ›UPÄ®. 

Or 

 (b) Describe the role middlemen in tourism industry. 

   _ØÖ»õÂÀ Cøhz uμPºPÎß £[QøÚ ÂÍUPÄ®. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the opportunities of tourism industry in India. 

 C¢v¯õÂÀ _ØÖ»õÂ¯¼ß Áõ´¨¤øÚ ÂÍUPÄ®. 

17. Detail the product life cycle of tourism. 

 _ØÖ»õÂß ÁõÌUøP _ÇØ]¨ £ØÔ ÂÁ›UPÄ®. 
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18. State the importance of pricing strategy and influencing 
factors of tourism marketing. 

Âø»°¯¼ß •UQ¯zxÁzøu²®, _ØÖ»õ \¢øu°h¼øÚ 

{ºÚ°US® PõμoPøÍ ÂÁ›UPÄ®. 

19. Discuss the importance of distribution system in tourism. 

 _ØÖ»õÂß ÁÇ[PÀ •øÓPøÍ Auß •UQ¯zxÁzxhß 

ÂÁ›. 

20. Explain the different promotion strategies available to 
tourism market in India.  

C¢v¯ _ØÖ»õÂ¯¼ß E¢x \Uv°ß £À÷ÁÖ ²UvPøÍ 

ÂÁ›. 

 

 

 
———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Accounting. 

 PnUQ¯À Áøμ¯Ö. 

2. What is Financial Accounting? 

 {v{ø»U PnUQ¯À GßÓõÀ GßÚ? 

3. What is Cash Transaction? 

 öμõUP |hÁiUøP GßÓõÀ GßÚ? 

4. Write a note on Double Entry System. 

 Cμmøh¨ £vÄ •øÓ GßÓõÀ GßÚ? 

5. What is Invoice? 

 Chõ¨¦ GßÓõÀ GßÚ? 

6. What is Petty Cash? 

 ]À»øÓ öμõUP® GßÓõÀ GßÚ? 

7. What is Bank Overdraft? 

 Á[Q ÷©ÀÁøμ¨£ØÖ GßÓõÀ GßÚ? 
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8. Write a note on BRS. 

 Á[Qa \›Pmk® £mi¯À GßÓõÀ GßÚ? 

9. Write a note on Trading Account. 

 Â¯õ£õμU PnUS SÔ¨¦ ÁøμP. 

10. Give an example for closing entry. 

 CÖv¨ £vÂØS GkzxUPõmk u¸P. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain branches of Accounting. 

   PnUQ¯¼ß QøÍPøÍ ÂÁ›. 

Or 

 (b) State the scope of book keeping. 

   PnU÷PkPÒ £μõ©›¨¤ß ÷|õUP[PÒ ¯õøÁ? 

12. (a) What is Compound Journal Entry? Give an 
example. 

   TmkU SÔ¨÷£mk¨ £vÄ GßÓõÀ GßÚ? 

GkzxUPõmk u¸P. 

Or 

 (b) Show the Accounting Equation for the following 
transactions : 

  (i) Ramya started business with cash —  
 Rs. 25,000 

  (ii) Purchased from Sobana — Rs. 20,000  

  (iii) Sold goods to Amala (Cost — 18,000) —  
 Rs. 25,000 

  (iv) Drawings — Rs. 5,000. 
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   RÌUPõq® |hÁiUøPPÎß Ai¨£øh°À PnUQ¯À 

\©ß£õmiøÚU PõmikP. 

   (i) μ®¯õ öuõÈÀ öuõh[P öμõUP® ÷£õmhx —  

¹. 25,000 

   (ii) ÷\õ£ÚõÂhª¸¢x \μUS öPõÒ•uÀ ö\´ux — 

¹. 20,000 

   (iii) A©»õ ¹. 18,000 AhUP Âø» öPõsh \μUS 

ÂØÓx — ¹. 25,000 

   (iv) Gk¨¦ ¹. 5,000. 

13. (a) Difference between Trade discount and cash 
discount. 

   Â¯õ£õμz uÒÐ£iUS®, öμõUPz uÒÐ£iUS® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Prepare Subsidiary books for Ram & Co. 
2003 April 1 Sold goods for Ramesh Rs. 1,000

5 Sold goods for Kumar Rs. 2,200

8 Sold goods to Sankar Rs. 300

10 Kumar returned goods Rs. 600

15 Sankar returned goods Rs. 200

   ¤ßÁ¸® |hÁiUøPPøÍ μõ® & ÷Põ E›¯ xøn 

HkPÎÀ £vÄ ö\´P. 

2003 H¨μÀ 1 μ÷©åýUS \μUS ÂØÓx ¹. 1,000

5 S©õ¸USa \μUS ÂØÓx ¹. 2,200 

8 \[P¸USa \μUS ÂØÓx ¹. 300 

10 S©õº v¸¨¤¯ \μUS ¹. 600 

15 \[Pº v¸¨¤¯ \μUS ¹. 200 



F–5173 

  

  4

14. (a) State and causes of difference between Cash Book 

and Pass Book. 

   öμõUP Hk ©ØÖ® ö\À÷»miß C¸¨¦PÒ ÷ÁÖ£mk 

C¸¨£uØPõÚ Põμn[PøÍU TÖP. 

Or 

 (b) Prepare Bank Reconciliation Statement. 

  (i) Cash balance as per cash book Rs. 1,500 

  (ii) Cash deposited but not credited Rs. 100 

  (iii) Unpresented cheque Rs. 150 

  (iv) Interest credited by the bank Rs. 20 

  (v) Bank charges Rs. 100. 

   Á[Qa \›Pmk® £mi¯ø»z u¯õº ö\´P. 

   (i) öμõUP Hmiß£i C¸¨¦ ¹. 1,500. 

   (ii) Á[Q°À ö\¾zv²® Á`»õPõux ¹. 100 

   (iii) AÎzu Põ÷\õø»PÒ ö\¾zxøPUS 

•ßÛø»¨£kzu¨£hÂÀø» ¹. 150. 

   (iv) Á[Q AÎzu Ámi ¹. 20 

   (v) Á[Q Pmhn® ¹. 100. 

15. (a) Bring out the difference between Trial Balance and 

Balance Sheet. 

   C¸¨£õ´ÂØS® C¸¨¦{ø»U SÔ¨¦US® EÒÍ 

÷ÁÖ£õkPÒ TÖP. 

Or 
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 (b) Prepare Balance Sheet. 
 Rs.  Rs. 

Goodwill 10,000 Bills receivable 6,500

Capital 90,000 Bills payable 5,350

Cash 10,000 Closing stock 40,000

Investment 500 Creditors 31,500

Net profit 46,900 Drawings 15,000

Land 30,000 Machinery 26,750

Bank 10,000 Debtors 31,500

   C¸¨¦{ø»U SÔ¨¤øÚ u¯õ›UPÄ®. 

 ¹.  ¹. 

|Øö£¯º 10,000 ö£ÖuØS›¯ ©õØÖa^mk 6,500

•uÀ 90,000 ö\¾zxuØS›¯ ©õØÖa^mk 5,350

öμõUP® 10,000 CÖv \μUQ¸¨¦ 40,000

•u½k 500 PhÚõÎPÒ 31,500

{Pμ »õ£® 46,900 Gk¨¦ 15,000

{»® 30,000 C¯¢vμ® 26,750

Á[Q 10,000 PhÜ¢÷uõº 31,500

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain Accounting Cycle. 

 PnUQ¯À `ÇÀ ÂÁ›. 

17. Prepare triple column cash book for the following 
transactions. 

2003 Aug 1 Cash in hand Rs. 75,000 

 Cash at bank Rs. 40,000 

4 Cash deposited into bank Rs. 20,000 

5 Purchased machinery by cheque Rs. 10,000 
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2003 Aug 8 Cash received from Mohan Rs. 2,560 and 
discount allowed Rs. 40 

10 Paid Somu Rs. 3,970 in full settlement of his 
account Rs. 4,000 by cheque 

11 Cash withdrawn for personal use from bank  
Rs. 5,000 

15 Received a cheque from Balan Rs. 4,900 and 
allowed discount Rs. 100 

19 Balan cheque deposited into bank 

24 Anand, a customer directly deposited Rs. 10,000 
in the bank 

27 Paid rent by cheque Rs. 3,000 

 •¨£zv öμõUP HmiÀ RÌUPõq® |hÁiUøPPøÍ¨ £vÄ 

ö\´x C¸¨¦ PmkP. 

2003 BPìm 1 øP°¸¨¦ öμõUP® ¹. 75,000 

 Á[Q öμõUP® ¹. 40,000 

4 Á[Q°À ö\¾zv¯x ¹. 20,000 

5 Põ÷\õø» Âkzx C¯¢vμ® Áõ[Q¯x  
¹. 10,000 

8 ÷©õPÛhª¸¢x öμõUP® ö£ØÓx ¹. 2,560, 
AÎzu uÒÐ£i ¹. 40 

10 ÷\õ•ÄUS ¹. 3,970 Põ÷\õø» Âkzx PnUøP 
wºzxU öPõshx ¹. 4,000  

11 ö\õ¢u ÷uøÁUPõP Á[Q°¼¸¢x £n® 
Gkzux ¹. 5,000 

15 £õ»Ûhª¸¢x Põ÷\õø» ö£ØÓx ¹. 4,900 
uÒÐ£i AÝ©vzux ¹.100 

19 £õ»Ûß Põ÷\õø» Á[Q°À ö\¾zu¨£mhx. 

24 ÁõiUøP¯õÍº BÚ¢uß ÷|›øh¯õP |©x 
Á[QU PnUQÀ £n® ö\¾zv¯x ¹. 10,000.  

27 ÁõhøP Põ÷\õø» ‰»® ö\¾zv¯x ¹. 3,000 
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18. Pass Journal and prepare Ledger and Trial Balance. 

2004 Dec 1 Started business with following assets and 
liabilities 

 Plant and Machinery Rs. 2,50,000 

 Stock Rs. 90,000 

 Furniture Rs. 7,000 

 Cash Rs. 50,000 

 Creditors Rs. 1,50,000 

2 Sold goods to Sundar Rs. 1,50,000 

3 Purchased goods from Nataraj Rs. 65,000 

4 Paid Sundar Rs. 1,25,000 

5 Returned goods to Nataraj Rs. 2,000 

10 Paid to Nataraj Rs. 28,000 

20 Drawings Rs. 18,000 

30 Paid Rent Rs. 5,000 

31 Paid salary Rs. 9,000 

 SÔ¨÷£miÀ |hÁiUøPPøÍ¨ £vÄ ö\´x, ÷£÷μmkU 

PnUSPÎÀ GkzöuÊv, C¸¨£õ´Ä Psk¤iUP. 

2004 i\®£º 1 ö\õzxUPÒ, ö£õÖ¨¦PÐhß öuõÈÀ 

öuõh[Q¯x. 

 ö£õÔ²®, ö£õÔz öuõSv²® ¹. 2,50,000 

 \μUQ¸¨¦ ¹. 90,000 

 AøÓP»ß ¹. 7,000 

 öμõUP® ¹. 50,000 

 PhÜ¢÷uõºPÒ ¹. 1,50,000 

2 _¢u¸US \μUS ÂØÓx ¹. 1,50,000 

3 |hμõáÛhª¸¢x \μUS Áõ[Q¯x ¹. 65,000 

4 _¢uº ö\¾zv¯x ¹. 1,25,000 
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2004 i\®£º 5 |hμõáÝUS \μUSz v¸¨¤¯x ¹. 2,000 

10 |hμõáÝUS ö\¾zv¯x ¹. 28,000 

20 ö\õ¢u¨ £¯ÝUS Gkzux ¹. 18,000 

30 ÁõhøP ö\¾zv¯x ¹. 5,000 

31 Fv¯® ÁÇ[Q¯x ¹. 9,000 

19. Prepare Bank Reconciliation Statement. 

 (a) Cheque deposited into bank but not credited  
Rs. 1,500. 

 (b) Cheque issued to Rajiv but not presented so far  
Rs. 2,500. 

 (c) Bank charges as per Pass Book Rs. 200.  

 (d) Interest credited Rs. 100. 

 (e) Insurance premium directly paid by the bank  
Rs. 500. 

 (f) Balance as per cash book Rs. 200. 

 Á[Q \›Pmk® £mi¯À u¯õº ö\´P. 

 (A) Á[Q°À ö\¾zv¯ Põ÷\õø»PÎÀ Á`¼zx 

ÁμÁøÇUP¨£hõuøÁ ¹. 1,500. 

 (B) v¸. μõãÂØS AÎzu Põ÷\õø» CxÁøμ 

ö\¾zxøPUS •ßÛø»¨£kzu¨£hÂÀø» ¹. 2,500. 

 (C) Á[QU Pmhn® ö\À HmiÀ £ØÖ ö\´¯¨£mkÒÍx 

¹. 200. 

 (D) Á[Q AÝ©vzu Ámi ¹. 100. 

 (E) {ø» Bøn°ß£i Á[Q¯õÀ ÷|μi¯õP 

ö\¾zu¨£mh Põ¨¥mkU Pmhn® ¹. 500. 

 (F)  öμõUP Hmiß£i C¸¨¦ ¹. 200. 

20. Explain Final Account in detail.  

 CÖvU PnUS ÂÁ›. 

———————— 




